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q4LNOMNv UNU2PhY

§ 1 Uhonijuwjh6 nbwljghwmbbph guuwljupgnuip

Gpp Gpynt mwppuywl dwulGhyGbp yuwd dwuGhy L wnndh dh-
onil Juu tpynt dhomYyGtip innblnmd GG dhijwlg dhonjuwjhG htinw-
UnpmpymGatph Ypw (107 w), Gpulg Shel wiknh k niGkGmd EGkpgh-
wjh U hdwniuh thnfuwGwymdy, hGyp hwlqtglnd £ Gpwlg GapphG Yh-
dwlltph thnthnfunipjw, hGyybu Gl Gnp dwuGhylGbph wowowg-
dwl: Uyn wypngtiulGtpp Yngymd GG dhonitjuwjhl nhwlghwbtn: Uhont-
JuwjhG ntwyghwbbpp gpynid GG hnmbyw) mtupny.

ata,— b1+b2+b3+. v

Qnwlp unynpuwpwn Jupnn G0 pGpwlw; mwppbp dwlGwwwnph-
Gtpny.
A+a—atA
—atA’
—b+B
—c+C
—d+D

Obwyghwyh dwu dwup Ynygynd b dnnpwjhlG Yubwiy, phuy we
dwun GpuwyhG ulwy: Gpb ntwlghwb tpydwulGhywjhl b, wyw wyl
Jupkih t gpbp Guwb himbjwy mtupny® A(a,b)B:

Uwnpl pipdwo GG nbwyghwGtph dh pwGh ophGuyGhp.

P Nop+N (1)
pt N-p+ N (2)
p+t'"N-"0+y (3)
p+14N—>14O+n 4)
p+'"N—"N+p+n (5)
p+'"N—>8p+7n (6)



(1) ntwyghwl wnwaqulul gnmuG b, tpp thnfuwqnbgnipjnilhg
htimn dwuGhyltph wmhyp b Gpwlg pywlumwihG yhdwlyGhpp sbG
thnfuyniy:

(2) ntwlghw ny wnwaquliulG gpmuG k, tpp nbwlyghwjhg htin
vhoniyn qpgnywd ypdwynid k thGnud:

(3)~(6) ntiwyghwGtiph pGpugpmy wnwewlnd Ll YwuGhyGbp,
nnnlp sYwyhG dninpwjhG Julwnu:

(3) ntiwyghw G Yngynid & nwnhwghnl gpuydwl ntwyghw:

(5) ntiwyghwjh dwdwlwly wnwowlnid kb 3 YwulhyGbn:

(6) niwyghwjh pGpwgpmu wtnh k nGtGmy shgmYyh 1phy wmpn-
hnd:

twyghwGtppn mupptp mtuwyGtph 66 pwdwlynmyd Gub pun
untnpwjhl YuGwih dwulhyGbph: pwlp Yupnn GG pGpwlwy thgpw-
ynpjwo dwulhyltph wgnbgnipjul wnwl.

p+160_>160*+p
ot N—"F+y

v pywlwmGbph b EiyunpnGGaph wantgnipjul wmwl plpwgnn nbi-
wlghwltpp Ynygymd GG pnnndhonmuyhlG Jud Liayupuwihonitjuht
ntwyghwGtp:

v TRENENENTN
e+ "N 5 CHpte

Npubu nipwynonn dwulhyltp upnn GG hwinbu qup Gwl w-
pwqugywo hnGGtpp.

160+14N—>13C+17F:

Ujuyhuh ntwlghwltp oqumugnpomd GG qtipndwlnp thoniyGtph
hwjnGwpbpiwl thnpdbpmu:

Gpt npuytiu nipwlyndonn dwulhyGtp hwintu GG quihu thgpwynp-
Jwo dwulhyGbpp, wyw Gpulp wyhwnp L hwnpwhwptl wnwowguo
ymnGjul wynnbGghwjwihG wpgbipp: Z,e U Z,e (hgptpny btpym

dwulhyGtph dholt gnponn Ynynbjul qulnnuliwl ynnblghwp hw-



Z.Z,e’
1£,€ , npubin R:R1+R2:r0(A11/3+A;/3)fl)li

Juwuwp £ By =

(1$6=10" wi): Nipwynonn (hgpwynpdwd YwuGhyh YhGhwmhy tGbp-

ghw( wbtwnp L 6o 1hGh Bk -hg, npyytiugh ntwyghwl wmtinh niGtGw:
Uwulhyp dh9nijh htn Ywnpnn b thnfuwgnty GouGwgnigwjhG

wnwpplip htinwynpnipyniGGtph Ypw [1]: Gph P hiwyniuny a swulhyp
thnfuugnnmud £ A dhomyph htim b GrulwgmguwjhlG htnwynpmipjwd
Jpw, wyw Gpu pwpdiwlG pwlwyh dndkGnh pwugwpdwl wpdbpp

nuuuwul dtfuwlGhyuynd npnpymu L |1_[; |, huy pywlwmwjhl dhuw-
Ghywynms’ 7i4/I(/ +1) pwlwdltpny, npnbn /-p a JwulGhlyh mnb-

onwjhl dnikGwnG t:
: /\ I b

<wpyh wnGhm] Ytpp Gpgwop Junkih £ qpbyp ‘T)‘b =hJl(l+1):

UWyu ntiypnid swuGhyh hdwyniup (P) Gpuw YhGhnhy EGapghwgh (77)
vhongny wpuwhwjmymd £ hbnlyw; Yepy ‘?‘ =2uT , npntn

m. m

M= —<44__G a+A hwdwlwupgh ppqud qubquoG t: Ujumnbinhg
m,+m,
unwgymd b’
L2uThb=n1(+1),
2
pPU+D,
2ub



G1ltny wjG thwuwnhg, np dwuGhyh' dhonityh dke dwnbtynt b th-
ontjuwyhlG thnfuwgntigmpymG Juwumwpbm wwjiwlp hbnbjuwG b
b < R, qwupkh t npnpty YaGupnGwiunju wpgbiph pwpdpnipymGp.

B R +1)

2uR?

(i -p MuGyh pbpYwd hwunwnnG6 t. 7 =1,054-10"tpg/Alpy):

Uwulhyh yhGtnhy LGipghw6 wtwnp L dko (hGh YaGunpnGwuniyju
wngbiph pwpépmpynilhg: Lyulmwjhl dwubhyp fupng b puthw-
gty dhoniy’ hwnpwhwnpbny YytlGupnGwhunyu wpqbpp Gwl, bLph
T<Bc¢, umjuyl wyn ntiypnmd pwthwlgtihnipjul hwjwlwlwlnipynt-
(p 2wuwu thnpp YhGh:

Ujuyhuny’ 7 yhGtwnhy tGipghw niltgnn dwulGhlyGbphg thnfuwg-
ntignipjulp wpyniGuybnnptl dwuluwygmd G0 wyl dwuGhyGhpp,
nnn(g mntopwjhl inditlnh hwdwp wmbnh £ nGalmyd hbnbyjwp wuwy-
dwlpn

B

C

I(I+1)< 2uR°T

hz

§ 2 UhoniljuyhG nkwlghwibph Yjinpwopbtpp

UhoniywjhlG ntwlyghwGtph Yyupgwopp vh dtompjnl L, npp
plnipwgpnid k tpynt thnfuwgnnn dwuGhyGtph hwiwywpgh wignuip
npnpwyh Yipg Guyuwl yhdwyh [1]:

UhonijwjhG thnfuwgntignipyniGGiph hwywGwlywlnipniln npn)-
ymd £ dhoniyh wyl wpyniGuybn jupjwopny (o), npp qubGymu k
thGoh dwlwwwnphhG: Gpt phpwjuh thwynp dwybtptuh ypw plylng
dwubhyGtph phup Gouwlwlytlp Ny-ny, hul wyn dwlbtptuhlG pwdhl
pGYGnn dhomyGhph phdp’ #-ny, www thnfuwgnbtignipyniGGph phyp
YithGh' N=Nyon, npntin o -0 thnfuwqnbgnipjul Yupguoph t: Uheniy-
Gtph phdp dhwynp dwytiptuh ypw ynpnpyh hinbywg puy
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p=m/V, V=8-d,
p=m/(S-d)y=(mn-M)/(S-d-N)),
n=(N,-p-d)/M,

npnbn p-G phpwiuh Gpph funmpymGa t, d-G° phpwjuh hwuwnnt-
pynilip, Na-G° Uynqunpnjh phyp, M-p’ phpwifuh Gyniph dnjujhG quiq-
Jwon: Syjw; mwpph inuwjhl qubquoh pywjhG wpdtpp wpunw-
hwjnywd qp/ing dhwynpny, hwjwuwp b Gpu quiguowjhG pyhG
wnpunwhwjnyjwo qubiquoh wnniwlwl dhwynpltpny:

Gpt thontuwjhG ntwyghwl npnpwyh tGipghwjh ntwypnmd niGh
uh pwlh tpwjhG YuwGwyltp, wwyw ntwyghwih phy Yupjuwopp
YhGh

0=20b,

npnbn o,-0 ntwyghwjh npnpwiyh GpwyhlG Ywlwih dwuluyh
yupqwopl L (bwyghwih Yupjwoph dJhwynpp Pwpl L
(12wnG =10 uliz): Unynpupwp wnwGdGugynd b6 thnfjuwqgntigni-
pjwl wnwdquul b ny wnwdqulul dwubipp: Un nhwypmd phy
Yupjwopl wpmwhwymymd E gnudwph wbupny’ o, =0, +0;, np-
wntn o.-6" wnwdqulub thnjuwgntignipjwi t, huy c;-0 ny wnwaqu-
Y thnfuwgntignipjwG iphy Yupjuopp:

Yuuwjwo thnpdnid npjwid fulinhpltphg b wwjdwGitnhg oquw-
qnpoymu Gl hGwntqpuy, nhdtiptiGghwy, YpyGwlh nhptiptiGghuy b wyy
Yupjuwopltin:

Gpt nGtlp a+tA—>b+B wypngtiup, wyw hGntqpui Jupduopp
npnpymd £ htnbjw) Yhpy' o.,=dNy/(nNp), npntin n-p phpwiuh dhw-
Unp dwytintiuh ypw dhenlyGtph phyG t, No-G° phpwiuh ypw plGylnn a
dwulhyGtph phyp, dNb-6" niwyghwjh htmbwlpny unwgywo b dwu-
GhyGtph php:

a+tA—b+B wpngtuh nhbtiptiGghw; YupJwopp npnpynid t hb-
wlywy Ytpy [17



do,, 1 dN,

ds, nN, ds,’

dN
b g ntiwlghwyh htnbwlpny unwgywo b dwulhyltnh
&y

phyG t, npnGg LGtpghwjh wpdtpp quGmd b g,-hg &, +de, -G pl-
Jwd mhpnyypnd:

npunbin

do,, 1 dN,

‘Llwlwwtiu unbih £ uwhiwlb Gul =
dQ nN, dQ

nhpti-

dN,
ntiGghw) yunpwopn, npntin d_Qb -G nttwlghwjh htmlwlpny unwg-

Jwd b twulhyGtnh phyG b, npnlp nnipu Gl pnty 6 putinwjhG b @ wqh-
uninw] wayymGGpmy npnpynn niqnnipjudp’ dQ dwpdlughl w-
Ywl nwly:

atA—b+B wpngtiuh YpyGwyh nhpbipklghwy Yupdwopp npny-
d’c, 1 dN, b

= , hpntin

dQde, nN, dQde, dQde,
wlghwjh htimbwlpny vnwgywo b dwulhyGtph phyG t, npnlp nmpu
Ll pnt) 6 putinwjhG U @ wqhimwnwy wilynmbGGipny npnyynn nunne-
pjuip’ dQ JwumiGujihl wGyjwl wwly, U npnlg EGhpghwjh wpdtpp
quiymi t &,-hg &, + deb -G nGywo wmhpnypnd: hGntqpwy U nhb-

ymd £ htinbjwy Yupy -G nbi-

nptighw) yuupqwopltinp thijwlg yuuywo 6 htnbjw wnlGympyniG-
Gtpny’

do, :_[ d’c,, de
dQ  JYdQds, "
do,, d’ do, 40,
dsb deab
w=] j Ta_4Qde,
dQde,

10



Gplypuwgwhwlwb jupjuwdp: Otwyghwjh iphy Yupguwoph yuphG
uwhdwlp qGwhwnbint hwiwp GEpdnioymyd £ nbwyghwjh Gphpw;sw-
thwywl YupJwoph qunuithwpp: b GwlwgnmgujhG htnwynpni-
pjuip U P hiwyniuny dwulhyh pdwniyup dnitkGnp wpdtipp quuw-

Jwl dhfuwGhyuwynd Ynpnpyh ‘ﬁ‘-b, huy pywlumwjhl dhjuwlGhyw-

gy’ fi/l(l +1) pwGwdlbipny, npntn /-p dwuGhyh nintiopwyhG dn-
utilinG t: Uyjuntinhg Junwgyp’

|P|-b=nJI(+1),
b:é%JKHJL

L pw(h np L = A (A -G 9 Ppnjh wihph GpupnipmGa ), wyw
| P
b=2JI(I+1):
Gpt nput dhomyh Yypw pGylGnd £ dwuGhyltph hnup, wyw tpy-
pwswhwlwd uopfuwopp Juptih E Gipjujuglt pgwh onuyGtiph
SwuGwlh (wupghwy) yupjuwopltph S, qnuiwph wtupny (GY.1) [2]:

11



A’

ﬂ(bm —bly) = 5+ DU+2) =1 =1) =

71/12
(4l +2)= A’ (21+1)
S, = 71/12 (21+1)
Lwlh np dhonywjhG nidtpl niGhG fuwpd gnponnnipjwl Jwnw-
yhn, nunp gnuiwph vwhdw6p' 7 -p, npnpymd £ htnbjwy wwydw-

Ghg' b, < R, npntin R -p Shomyh pwnwyhnG t: b = A/[(/+1) hw-
Jwuwpnishg htmbmd £/~ % :

Gnypwswihwywb Juupgwopn npn2ynud L htnbywy Yepwy
RIA RIA

S= ZS Z(21+1)m12_n(1e+2,)

S=r(R+1):

QhnwpuyhG hojwewpulpnmpymG ujqpnilipp: S3mpupwlsjnip

dhonwjhl ntwyghw niGh hp hwjwnuwpé wypngtup, npp wtinp L ni-
(tlnwt GnyyG tGGpgbtunhy U pdwniuwyhl WuwypdwGGbpnwd, hly ninhn
wnpngtiup: “bhgnip mtinh GG mGaimy a+tA—b+B U b+B—a+A hujuw-

nund ntwlghwlbtpp: Wyu ypngtulbph hGuntgpuy yupjwopltpn th-
Yjwlg juuyywo bl nhnwuwhG hwjwuwpwlnnpjul uyqpnilpny

[2]:

NMinhn pGpwgnn ntwlghwjh dninpwjhG Yubwip GpubGuytlp 1-
hG yhSwly, huy tpwjhl YuGwip' 2-py Jhdwy: {wdwlwpgh’ 1-hG gh-
dwlhg 2-pn JhdwyhG wlglhm hwjuwbGwlwbnmpmin YihGh w,,, huly
2-pn yhdwlihg 1-hG Jhdwlhl wiglhm hwjuwlwlwulnpnilp’ w,, :
Luwlh np hwiwywpgh yhdwyh hwjwuwpmilG hGjuphwbn b dwdw-
Gwyh thnthnfunipjul Guwndwdp’ t— -t, nlunh Wiy = Woq: Gph gn-

12



Jmpymil niGtG g, JhdwyGtip, npnlp LGtpgmhynptl dmn GG 2-pn h-

Swyh, wwyw 1-hG Yypdwlyhg wyn yhdwllinhg npbt dtyhlG wlgltin
P, hwjwGwywlmpymGp Ynpnpgh  htnlbyjw)  wnlsmpjudp’
P, = g,w,, b hwiwywwmwuwiwpwp P, = gw, : Gjunbnhg
htnunud t, np P,g, =P,,g,: Uju hwjwuwpmip Yngymd b ntinw-
1wyhG hwjwuwpwynmpjwl uyqpnilp:

Jwyjwuwpiwl vty dnlnn winuwdlbpp qGuwhwumbint hwdwn GG-
punptlp, np a+tA—b+B hwiwlupgp quiymd § V swjwmud: Ujn
niwpmd  1-hG yhdwylkph  phyp  Ynpnpdh wjugbu
g =2, +1)(2j,, +1)-4nVp’dp, /(27h)’, nputn j,-G a SwuGhyh
uwhGG k, ja-G° A dhoniyh uyhlp, P,-G" a dwulGhyh hwpuwptpuwi pd-
wniup: 4Tpradpa/(2Tfh)2 wlinuuip npnpmd £ hwiwluwpgh wyl yhdwy-

Gtph phyp, npnGg hdwnijup gnGynd t P,-hg P,+dP,-G pnGYwd wmhpny-
pnud:

UGgiwb P, hwjuwlwywlmpnilp Yyph6ph P, =o,v,/V, np-
wtn v, -G a dwulhyh hwpwpbpwwl wpuwqmpymGa t, o, v, /V -G
O Qupjuopny U v, tpljupmpjuip quubh dwjwih hwpwpbpni-
pjn GG £ wipnng dwywihG (wjuhlpG dhwynp dwdwGwynd a dwulh-
yh qpruntgpnwd owyjwih hwpwpbpnipymG6 L wipnne swywhb):

‘Unyylp Junbh £ gptp Gub b+B—a+A hwiwlupgh hwdwn:

g, =2j, +1)2j, +1)4xVp}dp, / 2nh)’
P, =0,v,/V

<wpyh wn(byny, np v, dp, =dT, u

v,dp, =dT, =d(T, + Q) = dT, junmwlwip
Gy _ B2, +1)(2jy +D)
PI(2j,+D(2)j,+1)

Oy

a

13



Mtnp L G2t, np nhvnwjwihlG hwjwuwpwlpnnipjul ulqpnilpp
Yhpwntih £ mwppuwl dwuGhybGtph dhol mbnh mGhgnn ntwlghw-
Gtph Guuiwdp b Wuywu wpyniGwytun £ dhoniyGtph dhol wmtinh
niltignn thnjuwgnbgnipyniGGtph nhypnd: Ghunwpyblp htnbywg
ophGuyp [3]

y+ $5Cu - p+ SiNi,p + SiNi — y+ $3Cu:

Lwlh np wowohl hwjwgphg qpyuwod ntwyghwlbpp vhujwig
hwywnwpd GG, nunp, numdGuuppting wowohlG ntwlghwynid
wnwowgwd wpnnnlh whlynGuwjhG U taipgtunhly pwyfunudGtpp, fu-
nbh b mbntynipyniG vnwGw) tpypnpn ntwyghwih Yupgwoph dw-
uht: UwluyG $3NE U $3Cu ShomyGhpG mGhG pudwiwlhG ywwn h-
Ujwlg inn qunlynn qpgnjuwod dwijuwpnulyGbp, b hGwpwynp st nmwp-
ptpwyty dhomyh hhiGwlwl dwywpnpuyh b gpgnduo dwlwpnuyh
wnwowgnuin: hpwlwlnmd wmtinh G0 nuGtlnd htnbyw) ptwlyghwib-
¥+ $3Cu — p + $2Ni°, p + $3Ni - y+ $3Cu', npnGp dhijwig
(yuuniwdp hwuwnunpd 66 Fpw Yuundwnny nhnwwihG hwjw-
uwpwlnmpjul uyqpnilpnp Yhpwnetih £ dhwyl pipl thonuyGtinh nbw-
pnid, npnlg qpgnywo dwwpnuyGtpl wyGpw k| fuhwn sGG:

{uipy t Gptg, np phnmwwjhl hwywuwpwlppnnpyul uyqpnilpp
duwdwlwyh nupdtjhnpjul Guudiwdp pGjuppwlunpjul hb-
nlwGp t:

§ 3 UhoniljwyhG nimYghwGbpnid qnponn
yuhyuwidwb opklpGkpp

UhonijwjhG ntwyghwGtph dwdwGwl gnponud &6 yuwhwywGdw b
uh pwpp optilipGtp’
1. Liyupuwywi thgph ywhwwldwb onklpn,

2. (mlymnGGtph pyh (pwphnGuyhG thgph) wwhuywGiwG opkibpn,
3. tGbpghwjh wuwhwywGiwa optilpn,
4. hdiwniuh ywhwywGdwb optlpn,

14



5. 2wpdiwl pwliwyh ywhwywldwb ontbpn,

6. mwpwowyuwl qniygmpjul yuwhwywliwb optlpn,

7. hqnuuiny uwyhGh U Gpw wpnytyghwjh Wuwhww liwb optlpn:

Unw9ohb hhlq ywhwywldwl optilipGtpn qnpomd GG theoniywyhG,
Eityunpuwiwqihuwui, pnyp b gpuyhmwghnG thnfuwgntignipyniGGt-
nh niypmy pGpwgnn ntwlyghwbtpnud:

Midtin U EEjupudwglihuwub thnfuwgntigmpniGGtnh dwdiw-
Gwy pGpwugnn ntwyghwGtpnid gnponid £ 6-nn optilipp, huy nidtn thn-
fuwgnbgnipymGGtph dwdwlwl plpwgnn nhwlghwlbpmy  7-pn
onklpp:

a+tA—b+B tpydwulGhywjhl nbwyghwjh nhiypnmd ywhywivwb
optiliptipp pnyyy GG wwihu spGGwpytny myjwy nbwlghwjh dtluwbhg-
up npnp b’ nbwlyghwG pnyjunpth® t, pb® ng: MuwhwwGiwb optGp G-
nn ntwlyghwjh pGpwgph Ypw npnwih vwhiwGwihwymiGhp GG
nGnud:

Etywpulub jhgph b GmlynGGph pyh yyuhywldwb opklplb-
pp: ElEupuywl hgph U GniynGGaph pyh wuwhwywlGiwb ontlplb-
nhg pflumd k, np ntwlyghwjh dt9 dwnlnn dwulGhyltph Laiupuywi

qnuiwnuwjhG hgpp b GniynGGph phyp nbwyghwjh ppugpnid wjwh-
wwlynd GG:

VAV
YAFYAr
Oqutiny wju opklipGtiphg” upkih E npnzty ntwlghwjh ppwug-
pnid wnwowgwd whhwyn wpnniGp dwulhyp: OphGuy
p+'Li—~>"He+ X

ntwyghuymd wpwowgwd X wlhwym vdhoniyp qulhmnt hwdwp
whwp t qpy Eyumpuub thgph b GniynGGaph yuwhwywGdwb opklp-
Gtpp.
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Zi=Z,+Z,=1+3=4=7, =7, +7Z,=2+Z,,
Z, =2,
A=A,+4,=1+7=8=4,=A4,,+A4, =4+ 4
A, =4:

Ujuntinhg htimbmy k£, np wlhwjyn dhoniyp 2j‘He dhomyG t:

X

EGipghwyh b hdwyniup wuwhwywldwG opkGplhpp: Gpydwubh-
YuyhlG ntwyghwltpmd (a+ 4 — b+ B) tGtpghwjh U hdwniuh
wwhwwldiwl optlpGtpni wpumwhwjmynmd Gl htnljw; wnelyni-

pjuup’
sz‘ = sz’
in = ZEf»
Jud
P, +P,=P,+P,,
E,+E,=FE +E,,
nputn £ -G, E -G, E, -G, E,-6 wquu dwulGhyGtph \phy LGkpghw-
GtinG &G, npnGp npn2ymd GG htnbyw) pwGwdlbpny [17
Ea2 :PQZCZ +ma2c4,
E}=P’+m ",
E/;Z :thcz +mhzc4,
E} =P’ +m,’ct:
Uquun dwuGhyh YhGanhy LGapghwb npnpynd £ hinbyw) wnpG-
snipjudp’
T=E—-mc:
Yuiptih t phy LGipghw G wpnwhwjnt) jhGanhy Laepghwny.
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T +mc+T,+mc’ =T, +m,c’ +T, +myc’,
I+T,~1,-T;=
npntn O -G Yngynd t nbwlyghwjh tGepghw b hwywuwp £ SwuGhy-
Gtph hwlquup EGtpghwGtph wwpptpmpjulp ntwyghwjh dnin-

pwjhG b pwjhG uGwGbpmd. Q = mgc2 + mA62 - mbc2 - m362 :

U6 ntwyghw, nph dwdwGuwy Q > 0, Yngymd t tygnptindhlyjw-
JuwG ntwyghw, huy wjl ntwyghwd, nph dudwlwy @ < 0, Yngymu
ELannptipdhjuywl ntwlghw: Unwdquliwl gpiwl ntwlghwlbph
dudwlwy Q = 0: EGnnptpdhjuiui ntwlghwih dudwlwy nipw-
ynonn dwulhyh EGpghwl whwmp k 6o 1hGh nbwlghwjh 2tdwyhG k-
(tpghwjhg:

Chdwyhb EGipghw: {wpywonn dwulhyh wyG GJuquagni)G Yhib-
wmhy LGepghwG, npp nhypmd wyjuw) nbwlghw G wmtnh £ nGhlGnd, Yny-
ynud tptdwghG tGepghw: a+ A — b+ B tpydwulhywjhG nhwlygh-

wjh GipwyhG YuwbGwih dwulGhyGbph phy LGipghwGbpp YipGea (17
E,,2 = P,,Zc2 + m,fc“,
2 2.2 2 4
EyS =P c +m,c
Ao wnlympyntGGhpp dhpn GG juiwjwlwl hGipghw) hw)-
Jupyiwl hwiwyuwpgh hwdwp: {wpgupyiwl jwpnpunmnp hwdw-
Jupgnd, tipp 4 dhoniyp YuGqGuo b, huly hwpywonn dwuGhyp a-G t,
Juunwgyh'
E,+mc’=E, +E,=¢,
P, =P, +P,=P:
hGtpghwjh yalGunpnGh hwdwwpgnd umulgt{nui E
E + E E E =

P,+P,=P,+P, }3
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UwuGhyh ppy E tGbpghw6 npnpymd & E =T +me”® wnGsmi-
pjuip:

Jwpqunpydwl jwpnpuwmnp hwdwwnpgnid hwpgwonn dwuGhyh
YpGtwnpy tGpghw 7'-G, hwjwuwp b pdwghG EGapghwjhG, w)l
ntiypnid, tpp hGipghwjh YaGunpnGh hwiwwpgmd nbwyghwjh wp-
nynilpGph YhGtwnhy EGipghwbtpp hwjwuwpynid GG qpnyh’ T=0:

E, =mc?, E,=my, P, =P, =0:

gz(mb +my)c’, P=0:

&> — P*¢* ntijwnhyhunwluwl hGjwphwbnb hGhpghwh YhGun-
nnGh hwiwuwpgmy niGh htnbyw) wpdtpp
(e)* —c*(P)* = (m, +m,)*c*:

Lwlh np qwpnpuwnnp hwdwywpgmd £, =7, + mac2 , npuntin

thre

T, -G ntwlyghwjh ptdwjhG LGipghw b, niunp Jupbh b qptg

thre
g€ -c’'P=(mc*+m,c’+T, ) —c’P.:
Juuihnfutiny qpwoé wpunwhwjnnipynip b pdyniul wpnw-
hwjntiny dwulhyh YhbGtwnhy Laipghwmny
Pl =B -mlct =T, +mc’) —mc* =T,
Juunwlwip
g —c’P=(m,+m,)c" +2T,,
+Tt:re - Tthfe - 2Tthre

Lwlh np

42T

2
thremac ’

hre
(m,c* +m ),

2 2 4 2.
myec”=(m,+m,) c +2T, m;":

(5)2 —(P)*c? =& —P*¢* =inv,
htimbwpwnp
(m, +m,)'c* =(m,+m,)c* +2T, m,*:

Ujuntinhg unwgynid £
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_(m, +mB)zc4 —(m, +ma)2c4 B

2
2m ¢

T

thre

_ (m, +my—m, —m,)(m,+my+m,+m,)c’
2m,

, htmbwpwnp

Lwlh np Qz‘(mb +my—m,—m,)c’

(my,+my+m, +m,)

7—;hre :|Q| 2m H
A
Jud
T, =|Q| (my+m, +m, +m/12-;n212—ma +m,—m,)c’ _
3 2m ¢’ +2m ¢’ |Q|
_|Q|[ 2m ¢’ ’ 2mAczj’
_ioff 1419 ).
7-t'hre - |Q|[l+ MA + 2mA02 j .

0y nhywwhdhunwlul snnwpiw nhwpmd, tpp O << 2m A6‘2 ,
unwgymy b’

ma .
m, '

Unwgwd wpumwhwjynnipjnilp dhpwm £ nbwyghwjh Gpnd
wnwowgwd judwyuwb pyny dwubGhybGtph hwdwnp [1]:

Uunwgywd wnlympjnilhg htnlmd b, np nhwyghwjh ptdwjhG
LGtpghw( sh hwdwwywwnmwuuwlnd ntwlghwjh LGipghwyhG: Gw
pGwlwi t, pwlh np, pun hdwuwnp, ntwlghwjh LGipghw@ ptiwjhG
ELGtpghw( E hGaipghwyh YalGunpnGh hwiwywupgnud: Wyn yuwdwnny
ntwyghwyh tdwjhG LGipghw6 jwpnpuwmnp hwdwljwpgnid dhown

7-t'hre = |Q| [1 +
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uto L ntiwyghwjh tGipghwjhg wyG EGtpghwjh swthny, npl wlhpw-
dtipwn £ jupnpuwunnp hwdwlwpgmud hGipghwjh YaGumpnGh pwpdiwl
hwdwnp:

CupdiwmG pwlwlph dniklnh  wuwhywliwG opkbpp:
a+A— b+ B thynijuhl ntwyghwltph dwiwlwl wwhwywi-

Unud GG pwpdiw@ pwlwyh phy dndtGunGepp”  J, =J,,
J,=J, +J,+L_, J,=J,+J,+L,:

J -G, J,-G, J, -G, J,-6 hwiwywumwuuwGwpwp a, 4, b, B
twulhyGph (ShoniyGiph) uwhGGbpG G6: L, -G ¢ SwuGhyh mntiopw-
jhG dnitiGunG t 4 Shemyh Gyuwwdwdp: L, -G b SwuGhyh ninbopwhG
unitilnG & B dhoniyh GHumiwp:

hGsytu hwynGh &, J pywlGunuwitfuwihyuywi ytyumnph hw-
dwp dhwdwdwlGwly Yuwpbh L onpnptp Gpuw dngnih pwnwynmuhG
RIS j(j+l), U 7, wpnjtyghwG yuiwjwlywl Zwnwlgph Yypw: C-
(n npnud® j, -G plnniGnud & wpdtplbn -j-hg ShGslb /-G pGywo nhpny-
phg’ dhwynp puyny’ -, -+ 1, j+2,...., j:

Gnpynt pyuGuwyhl JayumnpGhph qmdwpp’ J, +J,, jupny t pG-
by | jy =7, L = F 1 =gy + 2] ees Jy+ Jo =L i+, wip-
dtipGtip:

SwpwowmlmbG qnyqmpjumbi wwhywlvwl opklpp: (idtn UL
Lityunpuiwqihuwui  thnjuwgnpbgnipymGibtph nhypmd  wmbnh k
niGblnd Gub mwpuwowub gniygnipjuwl wuwhwwlned.

la by,
P -P, -(—1) =P P, (—1) :
P -G, P,-G, B -G, P;-6 hwiwwwwwufuwlwpwp a, b, 4 U B
dwulhyGtph GepphG qnyygqnipyniGGtpG GG:
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[-GUu [,-G a L b SwulhyGtph hwpwpbpuywl wpddwb ni-
ntopwjhl dnikGunGtpG ta:

Swpwowlwhb qniygnipjniln pniyp hnfuwqnbignipyniGGiph dwdw-
Gwy sh wwhywlynyd:

hqnuny uyhGh wuwhywldwl opklpp: Gpt dhoniwyhl nbwl-
ghw( pGpwlnud E nudtin thnjuwgntignipjul htinbwGpny, wuyw wntinh
E mGblnd dGY wyuwhywliwG onptlp Lu hqnuuhGh wwhwywidwb
onklpp.

Tw=Tua:

dnunnih9nijuyhl nbwlghwlbph dwdwlwly yuwhwwbynid k dh-
wjG hgnuwhGh Gpponpng wpngtiyghw: ©niy thnfuwgnbgnipjul duwdw-
(wl nuw Ep sh wuwhyw Gynid:

a+ A — b+ B homwjhG ntwyghwjh hwdwp Juptih E qpbyg

T+T,=T +T,:

Yuhujwo thomyh LGipghwlwb yhdwlyGtphg T -G Yupnn b pi-

iG] hnbjw wpdbtpGhpp

Z—-N
Tmin—%,hull Tmax: %

_(z-N)

T,
2

§ 4 Spdw G piwyniuwjhG phugpudp

dhahyuwywl ypngbultipp Giuwpwagptint hwiwnp oquynid GG tp-
ynt YnnpphGuwumwyhl hwiwywpgbtiphg' (wpnpuwwnp b hGapghwgh
YtGupnGh: Uyn Gpynt hwiwwnpgbph weuwynpnilp ywjiwiwynp-
Jwo L wyl thwuwnmny, np bhghuywl thnpdtph wpyniGpGhpp hwp-
dwp £ vnwlwy jupnpuwnnp hwiwjupgmy, hul wmbuwjwl hw)-
Junpyltpp Juwwwnply hGipghwjh YaGwopnGh hwdwlwpgnd: Uju
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wnnuiny Juplnp £ hdwlwy wyG wnGympyniGGtpp, npnlp vty hwdw-
Jwngh dhghjuywl dtompymGGtpp Ghpluywuglnd GG Wynw hwiw-
Jupgmu: ‘Ldwl thnfuwbpyniGph hwdwnp upbp b oquyti gpdwG
hdwniuwhG nhwgpuidhg [4]:

Gnynt dwulhyGtph thnjuwgnbgnipyniip hGwpwynp £ Gupw-
qntip hdwniuwhG nhwgpuidh dhengny: Glpwnptlp, np M; qubqyu-
ony U v wpuwgmpjudp jwpdynn dwulhyl wowdqujulnpbl pwfu-
ynd £ M, qubguony wGywpd dwuGhyhl: Gpym dwulhyGtph hw-
dwywpgh hGipghwjh YalGupnGh wpddwl wpwgnipyniGp YihGh'

M
Vc=—1V : hGtpghwyh YaGunpnGh hwiwywpgmd M, qubqu-
M,+M,

~ M
ony dwulGhyh wpwgmpjmln YhGh V2=-—lv=-vc, hulj hu-
M,+M,

~ M
wnipup YhGh P,=-—2—P,: M; qubqqwony dwuGhyh hdwniup
M,+M,
utonpjudp hwyjwuwp £ wju hdwynyuhl, vwlw)G monjuo £ hwjw-
M,
M,+M,
Glpwnptilp AB hwwunywon npul dwuwpwmwpny Ghipjujuglmy k
M, qulqguony dwulGhyh hdwniyup jwpnpunnp hwdwwpgnid vhiy
pwjunuip’ |P1 | =AB: O Ytwmny Yupbih & wju hwngwop pwdw ity pun

nwl mnnnipjudp’ I~’1=-I~’2= |

qulquoltph  hwpwpbpnipjul AO:OB=M;:M,;: Uju nbLuypnid
M - - -
OB=—2—|P,|=|P,| huy [P,|=-|P,|=OC: Cun hswyniuh wwh-
M1+M2| ‘| ‘ “ ‘ 2‘ ‘ 1‘
wwldwb optliph™ hGtpghwyh YulwnpnGh hwdwlwpgnid pwfunudhg
htiinn hiwyniyubtpp hwjwuwnp YihGeG deompyjuip b ninnyuo hwljw-
nwl nmnnmpjmGGpny: bGipghwyh YtGwnpnGh hwdwlwpgnid pw-
funtiG wnwowglnd £ tpyme dwubhybGtnh wpwqmipyniGltph thnthn-
funipyniG’ npulg wwhtyny hwinunywo b dkonipjuwip wlthnthnfu:
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Uju phypmd dwulhylbph hdwynyuGbpp Jupbih £ Gipyujwg bty
‘PII‘ZOD u ‘PZZ‘ZOE hwunwdGtpny:

UnnpnhGuwwnGtph  jupnpuwumnp hwdwupghG  JtpununGuwnt
hwiwp wGhpwdb)m £ hwyyh wnlh hGhipghwih yaGunpnGh hwdw-

M
Jwngh 2wpdiwl wpwagnipjuip’ Vc=—1V—n1{ wwiwlwynp-
1 2

Jwo hdwniun:
M; M
M,v.= : = 1 1
M,+M, M,+M,
MM M
2Vc= = V= 2 1

M,+M, M,+M,

. 2

Lliwp 2-nd Myv b M,v, hdwnijuGbphG hwiwywmwutuw-
(nd GG AO L OB hwwnjwoGtpp: YnnpnhGuwwGtph jwpnpuwmnnp hw-
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twlwpgnud gpnuihg htin M; quqyuony dwuGhyh hdwnuyup' Py -p,
npnpynud £t M v, U 1311 hdwynuGtnph ytumnpuwjul gqnudwpny
AD=0D+AO: Q-muiwpbny 1322@ u M,v, =OB JtywmnpGhipp’

L httmhwpqwoh dhenmyh P,, hdwniup gpmdhg htwn: bGswbu U

swuuymd bp, tpym JeyunpGpp’ AD -G U DB-G, M, dwuGhyp
P, =AB uqpwywl hdwyniyuh htn Juqimd GG Jayunpulwb
tnwllyymGh P=P,+P,,:

Ujuyhuny’ gpywo dwubGhyh b hitmhwpwoh dhoniyh hiwyntiult-

nn unwGwnt hwiwnp wihpwdtpwn £ wibk hbnbyjw junnignudGepn.

I. Gunmgt; AB hwunjwop, npp hwjuwuwp £ M; dwulhyh
ulqplwlwt hiwniquhG AB=P, :

2. Uyn hwngwop O Yunny pwdw Gl pun quiquobtph hwpw-
pipwygnmpjui AO/OB=M,/M,, qoty O ytlGupnlng ppowlwghd,
npp JulgGh B Yhwnny:

3. A Jtwnhg gpiwl wiyjul muy (npp hwynGh & thnpdhg) wnw-
(tp ninhn ghd dhGsk ppowlwqoh Yypw D Yuwnh htin hwnmybtip b wyn
ytwp dhwglty B YhwnpG:

4. GQunmgb] mpuwdwqho, nplG wiglnud £ D Ytwnny:

Uju ntiypmd, pun Ytpp pipjwo Gipyujugdwl, AD hwnjwon
(qupugpmy t gpjuwo JwulGhyh hdwniqup deompymGp, £BAD =0 -G
M; dwuGhyh gpiwb whyyniGp, DB hwnywop htmhwpywoh dhoniyh
hdwnuyuph dkompyniG6 t, £LDBA =y -G M, htimhwpjwoh vheniyh

gniwl walymbp: hGtpghwjh YaGunpnGh hwiwlupgms ZDOB =0’
M, dwuGhyh gpiwG wayyniGa &, OB U OD hwwnywoltpp M; dwulGhyh
hiwnuubtph dtompyniGGtpl GG dhGsuk gpnudp b ngpulhg htnn, huy
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OC U OE hwwnywoltpp” M, dwuGhyh hdwynijubtph dhonpjmGGtpn
uhGsb gpnuip b npwlGhg httnn:

Gplb gpdwl wilym GG wihwjnm &, U phwqpuip junmgymu £ wjl
npntijnt Gyuwunwyny, wyw nphwqpuih junmgdwl duiwiwy 3-pn b
4-pn Yhnmbpp mbtntpny thnfuynid GG6: Uju nhypmd D Yhnp unnwgynid
t hGpghwjh YaGupnGh hwiwyupgnd M; dwuGhyp gpdwl 6" wa-
wl nwly mwpguwo mpuiwgoh b 2powliwqoh hwnnuihg:

‘Utippumd pipJwd 6 vh wpp yhGdwmhyulwl dtompniGGtn,
nnnlp Juptih £ unwlw) ytipp wujwohg:

1. bGipghwyh YtlGuwpnGh hwdwjupgmi tpyne JwulhyGhph
gnuiwnpwjhG yhGhnhy LGepghw6 (hwpwpbpwlwb yhGanhy EGapgh-

MM, v M, _ w’

G i T= =" k -G
WO beh TN, 2 M, 2 0 e K

=—1"2 | M, UM, swulhyGtph pipgud qubqiuod t
u wu wo quiqiu :
Ml M2 : 2

2. Gpym dwubhyGtpph hGipghwjh YtGwpnGh pwpddwl YhGk-
why tGpghwG  YhGp  T,=(M,+M,)v2/2, Ywd pwGh np

v.=M,v/(M,+M,), junwgyp’ T,=————=——"T: Uju-

wbinhg unwgymu &’ T-I-Tc =T, nptin 7 -G M; dwuGhyh uyqpGuljub

YhGtwpy LGpghwG b jwpnpunnp hwiwwpgmu:

3. Pwjunuihg htimn M; quiquony b M; qubquony dwuGhy-
Gtph YyhGtwnmhy EGpghwGbpp jwpnpumnp hwdwjupgnd hwiwyw-
nwufuwGwpwn YhGEG
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2
M?+M2-2M M, cos2 M,-M
n- 1 : 1 ;COS WT: (T min= ——= T
(M, +M,) M,+M,
(Tll)masz’
2MM AM. M
= +’22 (I+cos2y)T, (T,,),..= (%j T,
(M, #M,) (M)
(Tzz)maxzo:

L0y npmy” wnwdquiub gndwl nhypnd LGtpghwih yuwhwywG-
tw( optliphg htmtmu t° T, +T,,=T:

4. M; b M, qulquoltpny dwulhyGtph gpiw6 wymGGatpp
(wpnpuunnp hwdwjupgnid dhijuwlg juuyywo GG htnlyw; welynt-
pjudp’ tg@=—sm2\v : Lwpnpuwunnp hwdwlwpgnud M; dwu-

M,/M,-cos2y
Ghyph @ gpiwG wGyyniGp Yuwwo t phGipghwyh YaGwpnGh huwdw-
Jupgmdi  Gpw 0 wlljwl htn hbnlyjw;  wolynpjudp’
_ sind '
- M,/M,+cos®
5. 6pti M,>M, (Gy. 3), M; dwuGhyh hwiwp gnympjmG niGh

tgh

gniwl wnwybjugnyyl wGymb jwpnpuwwnp hwdiwuwpgnui: Uy6
npnynud L htinbjw) wnGsmpyniGhg' sin®  =M,/M, :

.3 vl 4
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buwniuwjhG nhwgpuip pniyp £ mwihu wpwaq b dpqphun oty
wnwdquiul gniwl pwqiwphy fulnhpltp: ‘Lpw dhongny hwjnGh
qulquoltph ghiypnid Jupbih L npnpty wyn qubquobtph EGhp-
ghw(tpn U hdwniultipp gpnuihg htinn gpiw G judwywlw b wiyndG-
Gtiph ntiypmy: Gpynt dwuGhybbiph gpdwl hwynbh 6, v wilynGib-

nh b dky dwuGhyh hwymbh quiquoh nhwypnid Juptih E npnp by Gpy-
nnpr dwuGhyh qubqyuon:

buwniuwjhG nhwgpuinp Juwnm wwnpq wbtup niGh Gplynt dwubhy-
Gtpp hwjwuwp qubquoltph nhypmd (GY. 4): Uju nhypmd hd-
wniubbph, EGGpghwltph b wlyymGGiph dhot wnGympyniGGtpp ni-
(60 httmmlyw) mbupp.

P=AB; P,=0; P =P /2=0B; P,=0A;
u=M, /2=M, /2;
T,=(P,)’/2M,=T/4;
T,=(P,)*/2M,=T/4; T ~+T,=T/2;
0'=20; O0+y=n/2; ctgbctgy=1;
PlIZEZECOSOZPICOSOZPISin\V;
P, ZD—BZHBCOS\VZPICOS\V:PISinO;
T,,=T,cos’0; T,,=T,cos y=T,sin’0;
(T max =T (T11) i =05
(T2 e =T

(T,,),.;, =0:
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luGinhp(itp

1. Oppw®G Gyuqugniyl EGipghw wtwp L mGbGw GaynpnGp qw-
pnpuunnp hwdwwpgmyd, npytiugh mtinh nuGtlw htnbyw ntwy-
ghw@ "°O(n,a)"C:

2. nppty "Li(p,a)*He, "Li(p,y)*Be ntwlghwGbph ptiwjhG
LGtpghwGbpn:

3. Opnpty, ph hGspwl Gyuquaniyl LGipghw £ wGhpwdtyn wypn-
wmnGhG, npytiugh wmtinh nGkGw htinbywy;  ntwlghw
p+d—>p+p+n: Spywo bl qubquoGtph wwlwunpyltpp'
A(IH) =7.289 Utd, A(zH) =13.136 Utd, A(n)=28.071 Utd:

4, T =10 Utd ypGtwnpy LGipghwyny o dwulGhyGtph wqnbgni-
pjwl nwy hGuwpwyn®p GG wprynp htnlyw nbwyghwlbpp.

l.a+"Li—>"B+n:

2.0+ "C—>"N+d:

5. unyyGwywluwglity X dwulGhyp b hwpyty ntwyghwjh tGapgh-
w( htnmlyw) nhyptipnid.

1.7°Cl+ X—*S + « 4. ”Na + p—*Ne + X:
2."B+X—"Li+ 5.%Na+d— Mg+ X:
3.’Li+ X —»'Be +n: 6. *Na + d— **Na + X:

6. Qwpyty htunljw| ntwlyghwGhph tGtpghwitpp U ptdwyhG t-
GtpqhwGtpn.

1. d( p,y)’He: 5.7S(y.,p)'P:
2.d(d,’He )n: 6.7 (yn)’'s:

3.7Li( p,n )'Be: 7. S(y,0)°*Si:
4, 3He(0(,y)7Be: 8. 4He(O(,p)7Li:
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7. hGswhuh® dhoniyGhip Jupnn GG wnwow Gy,

1) 10 Uty-wlng wypnunnGlitph wqnbgnmpjul mnuy "Li phpw-

funud.

2) 10 Utd-wlng 'Li ShomyGhph wqnbgmpjul wwl 9puwdth

phpwiunid:

8. Rwlwl pnphg phpwiup dwnwqujpymd L wypnunnGGhph
thGony: Bwnwqujpniihg htiin B dwulhyGtph nhnbyunpp gpud-
gmd E 100 ptybtpty wyunhympmG: 40 pnyb wlg wliwmhynipjmGn
Gugmd t dhGsk 25 phytipt;: 0°p6 E wyn wynhympjul wnpyjnipp:
hGswhup® dhomywjhG nbwyghw b pGpwlnud:

9. T =10Utd ypGtwnpy taipghwyny o twulhyp wnwdqujub
dwywwnwjhl pwhudw t GGpwpyynmd e dhoniyjh htin: Opn)ty e
shomyh 7. YhGtwnhy tGpghwl pwjuniihg htnn jupnpuwmnp hwiw-
Jupgniu:

10. Oquuwgnpotiny hduniuuwghG nhwgpudp qu Gl jwpnpuwmnp
U qulqywoh YtalwnpnGh hwdwlwpgtipmyd dwulhyh gpdw6 whlyyniG-
Gtph vhou tnuwo Juwp:
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Q.LNkMv Grurar/r
§ 1 Uhonijuwjhl nbwlghwbbph dnnkjlbkp

UwulhyGtph thnfuwgnbgnpjnilp dhomyGtiph htin pujwluGhG
pwnn wypngtu k, npp Ghpwnmd 6o pyny pwfundlbp ny pt wnwG-
GhG GmymnGGtph, wy GmymnGuyhG fudptiph htinm: ‘LnyGhuy bph nh-
nwnpyymd b Gpyne GoiynGGtph dhou thnfuwqntignipyniln, dhulngyG E,
gnynipynG niGbG jpwgwhwynywo hwpgtin’ Juwywo vhonijuyhl
nidtiph plnyph htin: Uyn wuwmdwnny dwdwlwluyhg dhonwjhG
bhaqhjuynd Wto wbn GO gpuynd dnnbyuwyhG mwpptn ywwnytpw-
gnuiGtp, npnlGg thongny thnpéd t wpymd npnp dnnwynpnipjudp Gw-
pwgptint dhomYyGhph Juwd Gpwlg thnfuwgntigmpyniGGhiph wyu jud
wjG hwnynmpmniGGtpp:

UnntiGtph YhpwonipynilGp dh thnpd £ wybh fjunpnipjudp ywwm-
ytptnt pwywlwbhb pwnpn Gpunyph dh nplk Ynnd’ npn) pghypbpnmd
wlwmbtubtiny ny Wulwu fwnpunp vty wyp Ynni: Guptih £ wuby, np dn-
b uifju bpnygph wpnjblyghw b nput hwppnipyjul ypw, huy pninp
unnbGtpp YhwuhG pwjwlywbhlG wipnnpoujul wywwunlybpugmd GG
wnwihu wyn tpunyph dwuhG:

Unwohl unnbiGtphg L wnwbtlGghwjwjhlG hnph dnnbp [3], npG
wjdud niGh ywuniwyuwb GQubuwynipynil: Uy dwuGhyh thnfuwqnbgni-
pjntlp dhoniyh httn nhinnd Ep npuytiu dwuGhyh pwpdnid ynnblghw-
(wyhG hnph dbke: Wju dnnbijh npny npnypltn jhpunymd GG Gaplyuw-
Jnidu gnponn npn) UnnbGtpnud:

Pwpén LGipghwlbpny dwubhyGtph thnfuwgbgnipjul dwiw-
Gwy nhunymd GG pwqiwphy GipwjhlG uGwGbp, pln npnud” puqiw-
dwulhyuwyhl: Liwl hpwyhdwymd thnpdGwlwlnptl ndwn £ wwp-
ptipwyt; wyn Yuwlwiltpp, b ny dhpwn £ hGwpwynp yupg nbuwywb
puwgwwunpnipjntG mwy Gdw b ypngbultphG: Uyn hull yqwwdwnny pwug-
dwphy GpwjhG JulwiGtph ghiypnd thnpdGuwywlnptl hwpdwp k
swthbiy, wjuwbiu Ynggwo, hGyynighy ntwlghwjh yupquopltpp: hGy-
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pmqhy GG Yngynid htinljw) whuyh nbwyghwGtpp a + A = b + X,
npntn X-p Ghpyuyuglnd b pbwyghwyh wyG pnnp wpngniGpGhpp,
npnlp wnwowimy LG pun ywhywliwb optilipGtph: ‘Ldwl nwygh-
wjmy qpulgymy £ dhwjG npnpuyh dwulhly: 26y npmd” hGYyniqhy
yupywopp hwywuwpynd E wjyG pnnp JubwiGtph yupjwopltiph
gniiwphl, npnlgnmy wnwowlnd £ JwulGhyp:

UhontwjhG nhwlghwGhnnd Juplnp nbip £ fuunmd punuinpyug
Uhoniyh dkjuwGhqup, npp 1936 pyuuGhG wnwowplby t 'Ghiu Pnpp:
Cuwn wyn dGuwGhqih’ nbwlghw6 ppwlnd E Gpyne thnyny b punu-
1wy dhomyh wnwowgiwip [3].

a+A->C->b+8B:

Fwnunpyuy dheniyh qunuihwpp Yhpwnebih © dhwyl w6 nbw-
pnd, tipp wyn dhoniyh Yywlph wmbnnmpinilp Juwm wyth d6o t plm-
pwgnuywl shentywjhl dwiwGwlhg (T,gp, = 10721 ynl):

Pununpyuw) dhonitjh dhongny plipwgnn ntwlghwbtpp puwdwi-
Ymd GG Gpym fudph’ nhqnGulGuwjhG U ny ntignGuluwjhG: {wjnGh t,
np dhomyh qpgniwl EGtpghwG Ywnnn bt plngniGt; ghuyptivn wpdtp-
Gtp, npnGp hwiwwywumwufuwlnd GG Yhoniyh tGtpgtwmpy dwywp-
nwlGbphG: Uwlywyl wyth hunwly nphunwpynuiGiph  dudwlwly
wwnqymu k£, np 62qphwn LGtpgtnhy dwjwpnuybtpp hwnndy 66 yu-
JniG dhomyGtph hhiGwywl yhdwlyGbphG: UGwgwo pnnp dwlwnp-
nulGtpG odnywd GG, wyuybiu Ynsynod, «ujunuod» Laitipghwyny, b np-
wbtugh wwpqyph dwywpquyh  bGhpghnhly  wisumpmGp (1),
oquymu Ll wlnpnympynilGGbph wyqpmbphg AE =T'/2 = h/21:
Ujuntinhg httmund £, np nppwl Jupd L dwiwpnuwyh YyuGph mun-
nnipjnln, wyGpwl vko L EGhpgtinhy dwywpnuyh jwyGnpjnln: Uh-
oniyp Junnn £ unwlw) wjlGuwhuh qpgniwl EGapghw, npp hwiwww-
nwufuwlnd t Gpw EGGpgtnhy dwjuwpnuyhl: Uyn gqundwnny pw-
nunpju dheniyp juwpnn b wnwowlwy wy nhiwpnid, tpp thnfuwqnnn
dwulGhyh EGtpghwl hwdwwwwmwuhiwimy E dhomyh EGhpghnhy
dwywpnuyh wlnpnympjwln:
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Gpti pununpjuy dheniyh dwlywpnuyGph jwybGnpymbp thnpp b
dwywpnuyltph dhot Gnwo htnwynpnipynilhg, wyw thnfuwqnnn
dwulhyh hunwy ($hpujwd) Latpghwjh nhiypmd nbwyghwd Yunpnn
Lt plpw Gy dhw)l npnpwyh dwhwpnuyh dhongny: Wynuhuh nbwlgh-
wjh yupywoph Juwhujwonipynilp LGipghwjhg niGh ntgnGwGuwjhG
plnp: Liwl ntwlghwbtinp Ynyymu GG ntqnGw GuughG:

Gpt pwnunnyw) thomyh dwywpqulyibnG wjpwb juhn Gl nu-
uwynpywd, np Gpwlg dhot tnuod htnwynpmpjniGp thnpp £ dwljwp-
nwlGtph jwyGmpyniGhg, wyw dwywppuyltpp owoynmd LG dhyp
ujniuhl, U nbwyghwl Yupnn £ mbtnh mGGGw; judwjulub tGtp-
ghwjh ntypmy: Unwhuh nbwlghwbtpp Yynyymd GG ny ntiqnGui-
uwghlG b Gupwgpymy GG yhdwjugpuwl mbtunipjul vwhiwG6b-
nnud:

Gpt dhoniywjhG thnjuwgptignipjul dwdwlwlp sh qipuqui-
gnud plnpwgpuul dhonitjuyhl dwdwlwlyp, wyw ntwyghwjh db-
fuwlhqip qquihnptl thnfuymu t: Stnh &6 nulGtlnd nminhn wpngtu-
Gtp, npnGg dwiwlwl hwpjwonn YwuGhyp thnfuwgnmd t dky jud
tipynt GnuynGh htn: OppGuy (p,n) ntwlghw@ Yupnn £ mbtnh nGb-
Guwy, Gpp ypnunGp thnfuwgnnud £ dhoniyh dhwjG dty Ghynpnbh htwn:
NMinhn wypngtuGtph 2wpphG G0 puuymyd wynldwa (d,p), (d,n) b qpuy-
dwl (p,d), (n,d) ntwyghwlbtpp, hGswbtu Gub ppwqitinwughwjh nk-
wlyghwGbtpp, npnGg dwdiwlwy pwpdp LGipghwyny odwmywo Gniynln
dhonijhg wynynid £ vh pwGh GniynGGiphg punugwo ppwqitlnm:

Owln thgpuynpywo dwubhybGtph thnfuwgntignipjwl dwdwlwly
hGwpwynnp £ dhonyh YniynGywb gpgnnid, tipp dwuGhyp 2wwnm sh dnnb-
Gnd dhoniyhG b wgnmd k Gpw Yypw hp YnynGyub ngupnny: Uynuwhup
thnfuugntignipniGGtpl oqumuwgnpond LG dwlp dhomyGtph LGkpgh-
wmhyuywl gwop wunwywl dwlywpquyltph nuntiGuuhpnipjul
hwdwnp:

UhontjujhG ntwyghwlbtpmd wnwldGuwhwwmnly ntn GG qpuw-
ynud  pnnndhonijujhlG ntwlghwltpp, npnlp plpwlnmd GG Ynpwn
quuidw pywlwmbtnh wanbgnipjul muy:
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Pwdwiiwl ntwyghwltpp yuwywo Gl dhoniymy wnbtnh niGb-
gnn funp wypngtultiph httn b pwguunpymd GG jnipwhwnndy Whfuw-
Ghquiny:

Swppbp Wkfuwlhquiltph ntpp wwppbp B jwuuwo hwpjuwonn
dwulhyGtph wmbuwlyhg b EGipghwjhg: Pugh npuGhg wwppbp db-
fuwlhquiltp gnponmd Gl gniquhtin, wjuhGplG dpguygmd GG dhyp
Ujniuh htn: Ujn yuwwdwnny ntwlghwjh d2qphwn dtfuwbGhqip npn-
2t1hu hwdwh ndjupnipyniG £ wnwowlinud:

§ 2 Pununpyuy dhontl

Gpp ghuwpyymd G0 pwnunpyuy dhenmyny plpugnn nbwyghw-
Gtpp, hwpg £ owgmd, pt hGy Shghyuwywl ypngtultph htimbwlpny
wnwowlmd tpuwpwljug (GhenuwjhG dwiwlwlyGtph htn hwib-
Jwwnwd) pwnunnyu thony:

UnwohG htipphG nuw wtinh £ mGhlnd dhonijwjhl nidtipnh Jupd
gnponnmpjwl pwnwynh 2Gnphhy, nph htimbwGpny Gniynbh pwnpdne-
un dhoniymd Jupnn L pwjwluGhb fuwnp (hGt: Uyn yuwnmdwnny vh-
ont] dnwo GmymnGh LGtpghwl wpuwq pwtugnd E dhoniyh pnnp
dwulhyGtph dhol, b ny vh dwulGhy sh mGtind pwjwpwp EGipghw
uhoniyhg nnipu qunt hwdwn: Uhoniyh Jywlph mbnnmpyniGp dhow-
Gnd £ UhGsb wnwohl dinjuniwmghw(, tpp npuk YwuGhy dtnp L pb-
nnid shonmhg nnipu quipnt hwdiwp pwjwpun LGipghw:

Gnypnpn ywwdwnp ypnunlGtph dhou gqnponn YnynGyub Ju-
Gnnnipjwl EPuywnl E, npp YnynGyub wpqbtiph thnpp pwthwlgbijhnt-
pjwl httmmbwlpny vh pwlh wlqud Guqbglnd £ ypnunGGtph Gipp
uhohl U dwlp dhoniyGtiphg: UGhpwdtyw k Gp6 wyl thwuwnnp, np Ju-
(nnuywl mdbpp Jupnn GG dtowglt] ypnunnGGeph® dhonynid vGw-
[ dwiwGwyn:

Lwonpn wuwwdwnp oniiwl nmwppbp JulnGGtpG GG, npnGp Yu-

nnn GG ndywpwg Gt dwulGhybbph tipp pununpjuy Sheniyhg [3]:
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UhohG L dwlp dhomYylGphg quuidw pywlwnbtnh wnwpiwip p-
puignn nbwyghwlbpnd (n,y) dhoniyp hwdwfu fuhuwn thnfumd £ hp
Junnigqwopp quidw pywlnh wpnwpiwl dudwlwly, b wyn Ytpw-
Junnigiwl hwdwp wlhpuwdtywm t (hGnd 1010 yny dwdiwGuy,
nnp qquihnpbG Wko £ pnipwgqpujub shonijwjhl dwiwblwlyhg:

Qunplunp £ wwupgt] pununpyu; dhonmyny plpwugnn nbwlghwlt-
nh pnipwgpuyul wnwldGwhwnympniGGtpp: Guplnp wnwlwé-
Gwhwwunynpynmb t wyG, np pwnunpjuy dhoniyh mpnhiwl wpngtub
wljwfu £ Gpw wnwowgiwl wpngtiuhg: Pwununpyuy dhonyl wyG-
pw( tpup £ gnyunbmy, np thwumnpbl «dnnpwlnid E», pb hGswbu
wnwowghy: Ujn dhoniyh qpgniw Latpginhy dwlwpnuybtnt niGta
(wyGnipmG I' = 2AE = 0,1 ty: Cunm wlnpnynipymGGtph uyqpmbpp’

h -
I'- At ~ i, httmlwpwp At~F~ 107" ypy: Uy dwdwGwyp Jwn

wybgh d6d £ ShonywjhG wpngbuGhph ppwluwm dwiwuyhg 107
Uny: Uyn wuwwmdwnny a+tA—C—b+B ntwlghwjh Yupwopp Jupth
L Gupyuwjywglly pununpjuy shenyh wowewgiwl Yupjuwdph' Gac-h
L b Juwlwny pwnunpjui dhomyh wnmpnhiwlG hwjwlGwlywlnipjwb
/T-h wpunwnpyuny.

Oab= Oac ['v/T,
npnbn =T A+ ..., (b-G U b-G ntiwlghwjh mwpptipn YubwGtpG
tiG), huy I'y/T-6G hwjwuwn E pwnunpyuy dhonyh' Gipwjhl Jubwinyg
npnhdwl hwjwlwywlmpjup: Can npnd’ Te-G, Ty-G, T'y-G, hGywytu
Guwl T-6 ywhudwd ;a6 dmnpwjhl Yuwlwihg: {Gmbwpwp dhulngl
pununpw] thonyny, uwlwjG wj; dninpwjhl julwny ntwlyghwjh
(b'+B'->C—b+B) yuinwopl niGh htimbywy mtupn [3]°

Opb=Opc [p/T:

Ujuntinhg httmund E, np 04:0.6=0pb:0uw, N Jupkih L oguu-

qnpoty pwnuwnpyuy dhontjh dtfuwGhqih 6QunnmpniGG vnnigbynt hw-
dwn:
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Iy b I'y dbompymGGtnG niGbG LGipghwyh swihnnuyulmpmniG b
Unsynid GG wupghwy qwjGmpniGGtn, huy Gpwlg gqnuiwpn' I'-G, Yng-
ynud k phy (wyGmpyniG:

Pwnunpyui dhonthh dkfuwlhqih dyniu jupbnp wowGdGwhwwm-
YnipyniGG wyG t, np ntwlyghwyh wpnyniGpGtnh walyniGuwyhl pwpfu-
JwonipymGp hGtpghwjh YhGunpnGh hwdwuwpgmd  uhdbtwmphy E
©=90" wijwl Gquuiwdp (bwn-wnwe uhibunphw): Gun-wnwye uh-
utnphwl wwwgnigynid L dhonmwjhG ntwyghwlbtph wnbunpjul
uti9: UjG Yupbih & pwgwwupt) htmbywy Ytpw: UnnpwjhG hwdw-
Jwpgp hwpjwonn  JdwulGhy-vhonty, Gw-wnwe uhdtnphwiny
odnywod sk hGtpghwjh YtlGupnGh hwdwlwpgmyd  uhdtnphw
fuwhunymd £ hwpjwonn dwuGhyh hdwniuh 2Gnphhy: Dwyuwyl wyn
hdwyniup Wwuwwmdwnny, tpp dwubGhyp JubGymd £t dhomyh Ynnihg:
Pununpyuwy dhoniyp pnipwgpymu E dhwjyl dky Joyumnpuywb k-
ontpjwip’ 1nhy indtlunny: Uyn dnitlnl wnwowlnmd £ dnunpwjhG
dwulhyGtph uvyhGGbph U hwpwptpuwlwl ywpdiwb nintopwjhl Un-
utiinh gnuiwphg: UmnpwjhG dwuGhyGtiph uyhGGpp pwnuwjhG GG
puwfujwo, wyuhlpl uhitnphy GG pnnp ninnnupyniGGtpny, huly hw-
puwpbpwywl nintopwihG dndtlGnG mnynuwhwjwg L hwpjwonn dwu-
Ghyh hdwnyupG U pwnuwjhG L mnnyuwod hdiwniuhG nmnnuhwjwug
hwppnipjul dke: Ujuyhuny pwnunpywi dhemyp pnipwgpnn yuy-
nnpulwl tkompniGGtpl odnywod Ll tin-wnw9 uhitnphwny: fw-
nunpyu] thomyh wpnhdwl dwiwlwly wyn vhdtnphwl ywhuywi-
ynud k, hGsn hwlqbiglnd £ wyniGwjhl pwpfudwl uhitnphwjh:

Pwnunpyui dhonmymd GmlynGh Yuwwh tGtpghwjhg dto LGtp-
ghwGtph nhypnmud gnynipjnilG niGhG Ghn (0.01 tyY) gpgniwl dwlwnp-
nwGbp, wyuhlpl’ dwywpnuyitpp nhuyptn GG:

blywtu hwjnGh b, nhuypbmnipinilp GQuGwymu £ A>>, npuntin
A-G dwluwpnuwlyGtph dhob tinud htinwynpmpyniG6 t, huy I'-6G" Swlwp-
nwyh phy w)Gmpymtp [1]:
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Lwlh np dhonybtiph gpgniwb nhwnwpyynn EGtpgqnhy wmhpniy-
pnid Fy < A, huy wpnuinGh U o SwuGhyh nhiypmd ynynGyul wp-

qtiiph wwwndweny I') <) U I') < T, munh puwupup & A>>T

wwydw il wuyuwgnmgt] dhwjl IT'-h hwdwp: EGapginhy dwywpnuy-
Gtph vhou Gnwuo A vhohlG htnwynpmipjuip plnipwgpynn hpuwywb
pununpjwy shemyp Jupkih b Ghuwpugpty «tydhnhunwin> dwijwp-
nuyGtph hwiwyuwpgny, wjuhlpl o = A/A hwSwwywlnggjudp
GtpnwpGuly wwwnwlwyny, nph tGhpghwG' W, =nA. n-p wipnng

phy E: Uynuhup  wwwnwluwyh wwppbpmpjniGp  hwdwuwp b
2n  2mh

TZ—ZT: UWnwhuh wyupptpmpjudp & odujwd (wb punu-
(0]

npjui  dhomyp  Gywpwgpnn - wihpwghG o pmbyghwl -0
v(t+T)=w(t): Yw Guluwymd t, np T dwdwlwyhg htwn dhoni-
ynid YpylGymy t dwuGhyltiph uygqpGwywb ynGbhgmpughw: Cin
npmy’ vhoniyh vty GtyupnGh ypw Yynunwygh W LGipghw, npp Yqb-
puquigh GniynGh Yuwh EGapghwl dhomynid, b pynud & GhjunpnGp
nnipu Yqu vhonitjhg T wwppbipnpjniGhg htnn: Puyg wyn nhypmd
I' =i/T=A/2r ~A, wuhlpl GhpnpnGuhG puw)GnipyniGp hwib-
dwunwyuw k Laipghnhy dwywpnquybtnh vhol inwd htinuwynpnipjw-
Gp, U pwnuwnpyu) thenyh EGtpgbnhy uyblunpp wiplnhwn t:

bpwlywlnd T wwppbpnipyniGhg hbwnn  dheniyhg GhjunpnGh
nnipu qunt GhpwnpmipyniGp dhown sk, pwlh np tph wlquwu LGkpgb-
nhy ywjiwlp pwjwpupmd k, Ghjupnlp sh wnwpymd dhontljhg
pyuwlnwitiiwlihyuiuwi wlngpunupdiwli EdEjump  yuwmdwnny
(wlnpunwnlnd L vwhdwGh Yypw). Gpu hwdiwp gnymipyniG niGh dh-
ontjwjhl wynnbklGghwjwjhl wpqbp:
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Vi

Upgbiph pwthwlgbihnmpjul gnpowlhgp p-G npnptint hwdwp
gnynud E GyupnGh YnnpphGuunwjhG wihpwjhG $nlGlghwb dhonynud
U GpuGhg nnipu’

v exp(ikyx) + a exp(—ikyx) by =y (ikx),
npwutin o-G b y-6 wligwd b wlnpununpdwo wihplGtph gnpowyhgGtnG
LG, huly k-G U ko-G Jupkih L qGwhwwnby oqunybtiny htnljuwy pwlw-

T
aupg' k=1/A= $ , (k-G swpynud £ ud'-ny, T,-p Utd-ny):

. 4k T 5
Uwnwgynid k p=k— =4 T =10"". T-G GhjwpnGh EGapghwG t dh-
0

0

ontihg nnipu b Unnwynpuytiv hwjwuwn t 1 £y, huy To-G GhjmpnGh

LGtpghw k dhoniymd b dnnuwynpuwytiu hwjwuwp k25 UtyY: Ujuyh-

un] I = E = pzi, pz10‘3<<1, htimbwpwp T',-p GJugnid k 10° w-
T T

quu, wjuhlpl I',<<A, b wnwowlnd E dwiwpnwlyGtph nhuypbunne-

pjm(:

(hgnGwluwghG nbwyghwGbpp, npnlp pGpwlnd GG pununnyuy
uhoniyjh dhongny, odwnnjwo Gl wpnyniGuwytinn upjwopny, nph mtiupp
Gyuwpugpynud £ Ppbjn-dhqlbph pwlwalny (wwywuwgnigqud b pyul-
wnwjhl vtfuwGhyuwymy) [3]:

Pptjn-dhqltiph pwlwdalp Gupugpmd b GhjwmpnGGaph ntign-
Gwluwjhl Juubiwb yupjuopn b yepuwptpnd t (7,y) b (r,n) ntiwlgh-
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wlbtphG: Uyn yupjwopp tpynt wmwpptpn thnytiph hwjwlGuwywine-
.

pymGGEph wpnwnpyuy & o =7, & n, =—: 1, dhompjmlp pw-
(0]

nunpuwi vhontyh' wndjwy i Yuwlwmny wpnhybim hwjwliwlwlne-

pyniGG E: & -G / mntopwyhG dnibGunny GhjnpnGGtph hwpuwpbpuywé

pwlwympjub (S,) b wyn dndbGnny GhpnpnGh' dhently dnlbkne U

wjlunbn dGwm hwjuwlwlwlinpjwul ( 5,) wnpunwnpywiitph gnudwnG

I’ pun pnpnp /-tph' §=z{;‘, 2251-5,: dhpgGuljuG wntupny
] ]

Pntijn-dhqGtiph pwGwalp gnymd £ wjuybu [17

2J+1 rr, 09)
(2s+1)Q2I+1) (T, -T,)* +(T/2)’

o(n,y)=nk’

2 2J +1 . r,r, (100)
2s+D2I+1) (T,- TO)2 +(/ 2)2
Pwlwdltiph tpypnpn wpuwnpyup Gupugpnd t o-h Jufuuw-
ompnilp yphdwlwgpuywl Yyhnltphg. s-p GhjunpnGh uypGl b, I-6
(4,Z) shoniyh, huy J-n (4+1,2) shonyh iphy dindkGunGhpG tG6: Gppnpn
wpununpjuip Gupugpnd kL ntignGuwiuwjhG winwin: A-G GhyunpnGh

o(n,n)=nk

2 Ppnjth wihph bpupnipmGG B A = E , T,n° GiynpnGh YhGhwnhly
p

tGtpghw(, Ty -G (4+1,Z2) dhonlyh qpgniwl dwwpnuyh LGtipghwa:
I')n (4,2) dhonyh Ynnihg GhynpnGh Yuubiwb qwybnpma t, I, -6
(4+1,2) dhoniyh ¥y pywlnmp wnwpiwl dwulwlwb jw)inpjmbp, -6
by qwympymbp I'=T",+T:

Gpt GhynnpnGh 7, EGipghw6 hwipGylind £ qpgniwb dwljwpnw-
Yh 7o LGpghwjhlG, www thnfuwgnbgnipjul Yupjwopp ntqnGui-
uwjhG duny dhowlmu k: o-h’ GhjuipnGh YhGhwnhy EGipghwjhg Yutu-
Jwonipjwl Ynph (GY. 5) ypw hwlntiu GG quihu dh pwlh dwpupinid-
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Gtip, pwGh np thowGljw) dhomyn 8 Utd-hg pwnpdp jupnn E m GG
uh pwGh nhuyptim dwwpnuyGep (7o, 7o'....):
o(T)-6 YwuJwonipjwl vt dwpuhinuiGhph whpniyphg nnipu,

thnfuymu L l-h optiipny [1,5]: o(n,y)-h ywd o (n,7)-h qujujwoni-
\V,

1
1 Pyt by dimd £ A ~ = i,
uwluw)l tph
4k 1
1—‘n ~D x—~—~v ,
ky
1
I')= const, wyw o ~—:
Vv

Ujuyhuny £npbjn-Jdhqlbph
pwlwdlp nbgnGwGuuwghG b, L

. 5

o -6 thnfuynd L l -h onptilipny:
\Y

Utio qpgoniwl LGtpghwjh nbwypnid pwnunpjuy dsheniyh EGp-
qtinh dwlwpnuyltpp dhyjwlg owolymu GG, U  ntgnGwluwjhG
Juwliwl dwuhG wpntl funup (hGhp sh Jupnn: Uyu nhypnd punw-
nnywi vhonityh dtfuwbhqip jpugynd £ yhdwjugpujul dnntignid-
Gtpny, U unwgymu L dhonijwjhG ntwlghwlbph yhdwywgpuywb
wnbunipynilp: <wdwdw)l wyn mbunipjuG dhony dJnwd dwuGhyl
wnwq YnpgGmu £ hp LGapghw6 hwnnpnbny wyG dhemyh pninp Gniy-
nGGtnphG: pw hbnbwGpny wnwowlnd t oipdwnhGuihjuywul hw-
Juwuwpulpnmpjul dte qubynn dhentyy, wjuhlpl’ thomyp dtnp L pb-
nmd gipdwumpdw@ (sqpgnyuo vheonityh gipdwuwmhdwlp qpn k): Uj-
(inthtink npnpwih duiwliwjuwhwnywonid, npp hwiwwwnmwuhiw-
(nmd L pwnwnpjuy dhoniyh Yjwlph wnbnnnipjulp, jnipwupwlsynip
(nymnb odnywd L 1hGnd LGapghwyny, npp pwjwpuwp st dheniyhg
nnipu qunt hwdwnp: dbpowwbiu, ndtin pniyumniwghwjh 7Gnphhy
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GniynGGtphg dtYp dtnp L ptipmd pwjuwpun EGipghw dhoniljhg nnipu
quint hwdwn b gninppwlmd t Gpuhg: <wdwdw)l Jjhdwjugpuywb
wmbtiunipjul’ gninppwgnn dwulGhyGtph walyyniGuihl pwpujwonipynt-
Gp hgnupny E, pwGh np 9ipdwjhG hwjwuwpwypnipjul hwumwwnm-
dwl plpwgpnmd pwnuwnpjuy dhonp «innwlnd E», pb hlywbu L
wnwowgtby: Lhgpwynpywd dwulhylbiph gninppugnuip pununpjuy
vhonijhg qquihnptl aGpqwd t, pwGh np nubnwn dwuGhyltph gn-
nppwugnuip dymu E yniynGyul wpgbiph wwwndwnny, hull wpwg
dwulhyGtphlp’ YybipeGwlywG dhomyh tGtpgbwnhy dwiuwpnulyGhtph
funmpjub GJuquuwdp’ gpgniwl EGipghwjh Guqiwln qnigplpwg:
Lliwlwi E, np wyu nhypmd bu pwnunpjuy dshenyh' npuk JuGuwiny
nnnhdw( hwjwlwlwbnipjmGp yufujwo st Gpuw wonwewgiwl duhg:

§ 3 Uhonilitph pudwlind, ynpujmljub nbuljghmGhp

1934 p., dtpdhh thnpdbpnid nundGuuhpbing wphbunmwywb
nwnhnwlunhynipjnilp, hwjmbGwpbptighG dhijulg thnfuwphlnng nw-
nhnwynpy wwpptiph dh pwbh npw: Ulhgpmud bhpwnptighl, np
npwlp nwphnwympy dhomYyGhpG GG, npnlp wnwowlmd GG
n+ U nbwlghwjhg U Shjwlg b6 Yhpwoynud wipnhiwl htnlw G-
pny: <tnwqu nuunidGwuhpnipyniGGhpp gnyg wnybtghG, np wtnh k£
nGtimy owlp thonyh pwdwlny, nph httmbwlpny wnwowlnid GG
tpynt dnnuwynpuwwbtiu hpwp hwjwuwp quiquowjhG pytipny pb-
YnnpGp [1]:

A, +1=4+4,
Z+7Z,=27,

oppGwy n+ U - 2U - "La+ " Mo +2n: Nwnhnuy-
wnhy plunwbhpltph wowelwjhl hgnuunwlGtpp’ 28y, 2°U, #*Th, nw-
1hu GG U hGpGuwjwy pwdwlny, U o mpnhnid:
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Pwdwliiwl dudwlwly nhuynid GG htnbyjw] wowGdGwhwnmynt-
pjnGGtpn:

w) Puwdwidwl dwudwlwly wiowumymd b dkd EGhpghw: 9w
htimund £ wyG thwuwnhg, np owlp dhomyGtiph wmtuwywpup juwh
LGtpghw( thnpp £ UhohG qubquowjhG phy niGtignn thoniyGtph nb-
uwljwpwp Yuwwh tGepghwjhg, nph  htnbwlpny unwgymd
Q,=A(e—-¢)>0,huy Q =200ULd:

p) EGtpghwjh hpdGwywl dwul wiouwwymd b pudwiiwb dw-

utiph YhGtwnhy tGtpghwyh wmbtupny: Fw pfumd £ wyl thwuwmhg, np
pwdwliwl htimbwlpny wnwowgwo piynplhpp whwp E hpwphg hb-
nwlwl Ynuynbjul Julnqnuywl nidh wqnbgnipjuwl wnwl: GnynGyuwb

2
Z,e

VA
thnfuwqntigmpjwl tGtpghwa YyhGh' 7y ZIT 0 -G ptynp dh-

omyGtph thol tnwd htnwynpmupymGi &' 6 =R +R,, huy R p U
R, -n’ Gpwlg wnwhnGpp R = roA”3 =1,4-10"-4": Nipwth

2
upitinphly pwdwliwG dwdwluwly Z, =7, 297 =46, R =R,,

unwgymd t*
B 46°(4,8-107'")
£ 2.1,4-10-.3119-1,6-10°
Wuhlpl® O, =V :

q) Pudwliiwl dwdwlwl wnwowgwd piynpGhpp nwunhnwunhy
Gl U Jupnn &6 wnwpl) GayunpnGGtn:

~ 200 Utd:

Uhontl]  seeeeee 10 108 Ag 1378a 238
N .

T suavsresesasss 1’3 1,45 1’6
z Lo

n) Pwdwliwl ptynpGhpp wbwnp £ mGhGwl pwpdp hnGugiw
hwwnlnipyniG U yunpd Juqgph tpupnipyniG, hGyp yquypdwGwynpyuwo k
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wjl thwunny, np phynpG mGh dGo YhGhwply tGepghw (0,5-1
Utd/GniynG), nph pGnphhy dbinp E ppmd wybtijh 4o wpwqmpyniG,
pwl Pnph opphwnwiltpmud qulynn EtywpnGp: Cwpddwl plpug-
pnd ptynpp pwth £ wmwhu wyn EityunpnGGephG, b wnwowlnd GG
utio wpnyniGuwytin npuyw thgpny hnGGtp:

Pudwiiub dkfumbihqip: Pudwuiiul wnbunpnlp vntinoty ta
U. Pnpp, 2. Mihttipp b Bw. dpbGytip, npnlp dhonityh Juwphjwjhl dn-
nhih oglmpjudp nhnwplyly GG owlp themyGtph wiywynbGnipymbp’
wyuwjiwlwynpywo Gpwlg dup thnthnfumpjudp: Fwdwidiwl dwiw-
(wly whpwwnywo EGtpghwl wpmwhwymynid k Gplyne gnudwnptihGtph
qnuiwph wkupn] @ =0, + Oy, nputin O, -p phiynpGliph YhGtnhy
ELGtpghw( E, huly Qﬂ -G° nunhnwyunhy dbtwhnfudw( EGtpghwG: Pw-
dwldwl EGpgtnhy wywyjdw66 wyl t, np uyqpGulub shonyh quiq-
Jwonp wbtwp k vto [hGh wnwowgwod ptynpltph qulqyuoltnh gqni-
dwphg: Uty dhomyh pwdwlGiwb ppugpnd wnwowgwd LGtpghw
npnpymu £ qulquobtph mwpptpnipjwip [1,5]°

O, = M(A4,2)~M(4,Z)~M(4,.Z,):

£tynpltpp wmwlnd GG wju EGipghwjh d66 dwup: Gph qulg-

JwoGtpp wpnmwhwjnytl yuwh EGtpghwltpny, junwgyh’
Qf =AW, + AW, - AW :

Cun dbjgquytiph pwGwdlp dhomyh Juwwh tGipghwl wpww-

hwjnymd  htnljw) puwGwdlnyg

2
A
£z

2/3 22 (2 ] -3/4
AW =ad = A7 —y == g2 s Lo s,

npntn @ =154Utd, B =17U0td, y =0.69Utd, & =96Utd,
6] = 34 Ut
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blyytu htmbmd E thnpdwpwpuwlwl wpnymbpGhphg, thnpp
LGtpghwGbph nhypmd wbnp £ mGand wlhwiwswh pwdwlmuy:

Ghpwnmjnud E, np Zo /Zp =Zs/Z, =3/2, wyuhlpG Zc =3A4/5,
A,=24/5, Z,=372/5, Z,=2Z/5:

‘Uljlwwnh mbGkGuwny Ytpp gqpuo wpmwhwjmnpymGGbpp’ uvnwg-
ymd b, np pwdwliwb Latpghwl wquwjiwiwynpwo £ dhw)l dwyb-
nunipwhG rwnpjuonipyjw b u yninGyuG nidtpny’

Q, =Ws+W,=Ws, =W,,, npntin W;-G dwytiplmpwhl jwpyw-

onipjul wlnwudG £ W = BA* W, -G dhoniyh YnynGjwG tGtpgh-
wl W, = 7/-22 /A3 Wi b Wy, donipymiGitpp hwiwwywumwu-

fuw G wpnmwhwjnnpniGGtp G0 ptynpGiph hwiwp
Ws, = B(34/5)*° + B(24/5)° =1.25W,

(3Z/5°* (2Z/5)°
wp =7 1/3 + 73
(34/5) (24/5)
Cln npmd’ pudwiiwb dwytpunipwjhl EGpghw6 dhowlny L,
huy YmnGyuwlp thnppulmy: Pudwivwl duiwliuy wiswnywo t-
Gtpghwjh swithp hwdwpynid £ dwytpunipwjhG b YnynGyu LGapghw-
Gtph thnthnfumpyniGp: ‘LY. 6-nd phipjwo t pwdwliwl wpngbuh
qowwwwmybpn:

00 COCO OO

Unwgynui & O, =0.36/, —0.25/;:

2328 U thgniyjh hwdwp hwyymiGhpp gniyg GG wwipu, np

AW =W + W, Wy, —W,, = AW, + AW, O, = AW =180 Ut

64WlI :
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Qﬂ — B wpnhdw( EGhpghw( Gmylubu Juptih & hwpyty dbyg-
qtiytinh Yhuwihnpdwpwpwuwl pwGwdlny, tpt A-h U Z-h ypw npyp
htnlyw wwydwlp' Z, +Z, >Z, A  + 4, < A, pwGh np B wnpn-
hnuil nminbygynud £ dhoniyh thgph dhowgdwip, GtjunpnGGtph wp-
dwldwl dwdwlwy b thnppulnd £ A-G: {wpynuiGtnhg unnwgymad t,
np Qﬂ ~ 20 Utd, nphg S-wjwl Ut wmwlnd GG ayupnGGhpp Uy
pJwlwGtpp, huy 10 Utd hwlywitjunphGnG. Qﬂ =E,+E +E;:
Pudwliwl dwdwlwl wiwwunywd plnhwlnmp tGtpghwl YhGh
0=0,+0, =180+20~ 200Ut (GtynpnGGiph wnwpwo Lhbp-
qhwG hwpyh sh wnGymd, Q ,= 5 Utd):

O,-h wndtphg tplnud L, np Q,>0-
ﬁ=%=12—2>E=0.7: Ujuhlpl Z—2>17: Z—2
W pA p A 0.36 A A

winuip Ynyynd £ pwdwidwl yupuwibnp: 26y npmyd Q-G dhow-
22
Gnud k 7 pwdwiiwl yupwibknph dkowgdwlp gqmgplpug: Gwu-

nnpbl, wju wwjiwlp juunwpynd £ pudwluGhb deo pyny dhoniy-
Gtph nbwpnid. Z2 /A(?STC) ~19>17:

Ujuwhuny’ dhomYyGtph pwdwlmuib LGtpghwwbu puwjwpupuo
L Z=50 mwupptph hwdwp, vww)l pppyulimd pudwliwb GGpwpy-
Unud GG ShuwG pwwn dwlp wmwpptph hgnunnwGtpp' o 7%, o Pa, 4, U :
UlGwgwoGtph hwdwp (Z<90) pwdwiiwl ypngtiul wpgbpwo t: Gph
nhuyh hwjwnwy wypngbup, Gpp ptynpGtpp qubynmd Gl dhijwlighg
htinm (W, + W; =0) L dnnblnud GG dhwgywy dhemy Juqitine hw-
dwn, wyw Gpulg dhol qnponn YniynGyw b thnfuwgnbgnipjniln Yynidt-
nubw. tpp Gpulp hyymd GG dhdjwbg, YmnGub LGtpghwd Wll -G,
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unwgynd L wybjh dGo, pwl ymbGaGwunp dhomyp dhGsk pwdwlnidp:
Ul. 7-nud pipJwo b hwidwlwpgh qnuiwpujhG tGipghwgh® WetWy-h
JqwhujuwonmpyniGp ptynpGhph htnwynpmipyniGhg: hGywbtu Gpunmd E
GYuwnhg, uyqpGulyui dhonijh pwdwliwb wypngtiuph hwdiwnp wpgbp k&
wnwowlny: Gunbih L Gpwnnty, np wjn wpgbiph yuwwndwnny Z<90
vhonuyGtinh hwiwp syw hGpGuywd pwdwlni: UGhpwdbt)wm L dhont-
YhG hwnnpnty WyH) wimhjugiwl jud pudwiiub jtdwhl Labp-
ghwjhG hwywuwp LGipghw pwdwidwl wypngbul hpuwwlwgGtint
hwdiwp: Owlp hgnunwGtpp fuphun  phbnpdwgguo GG, mGLG
0 =20eR* thympulwl plunpuwn; tnikw, ShGmtn Z<90 §h-
onilGtiph Who dwup qlGnwal t: Gupbh L GGpwnpby, np pudwGdwb
nGpwgpnd dhoniyp wtinp L wlglh showlljwy yhdwyh: Ludwliwb
wnwohl thniynud LGkpghw £ wwhwlgynid «htinmyh Jwphy»-h nhbnp-
dwghwjh hwiwnp: Uyn LaGpghw £ hhGg wymhyuwgdw( Latpghw k:
Gpt dhomyh qpgniwl tGtpghw thnpp (hGh Wy(H)-hg, www gpgn-
Jwo thomyh nidnpdwghw sh hwulh «ppodwl» C YuwnhG, b dhoniyp
sh pwdwyp, yupdwyh vy pyuwln b Yytpununtuw hhdGuywl yhdw-
YyhG: Uyn wnqbijpp Junbh b yapuglty 2 Swliwwuphny.

w) dhonmyn Julnd L Ghjnpnl, ypnun, o dwulGhy jud $nnnd,
npnlp dhomyhG hwnnpnmd GG wmphjuwgiw EGtpghwjhg vko LGtip-
ghw, U juunwnpynd £ dhonjh wllGpwppwjhl pwdwlnid.

45



Y. 7

p) pnilbpwjhG wlgiwb vhongny, hGswtiu o mpnhdw G dwiwlwy,
vhonin Juunwpnd £ hGpGuwlwy pudwlnid pww thnpp hwywGwlw-
Gnipjuip: hipGwlwyl pwdwliwb Guundwip jhuwnpnhdwl wywp-
ptpmipyniGp’ Typ-p, ;;;U -p hwwp YhGh ~1.8-10"7 wmwpp, **U -p
hwiwp =~ 8-10" wwpp, 74 -h hwiwp ~1.4-10" wwpp: Uykjh
owln dhonmyGtph nbypmd, tpp Z */ A-G Stowmd t, T, »-n thnppw-
Goud b, ophGuwy > Fm -h niwypmis Z* / 4 =39, U Typ-p 3.2 dwd t [5]:

UhoniyGtinh pwdwnuip GhyunpnGGtph U wyp dwuGhybGtph wgnb-
gnmpjul wmwl wtinp £ mGaGmd 2 thnyny: (n,F) pwdwGiwb ntwlgh-
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wjh wowehl thninud dhoniyp gpuynid £ GyupnG, wnwow lnud £ pw-
nunpju dheny” A+1 quiquowjh pyny, ophbwly

235 1 2367 7%

U+ n—> 5 U

Pununpyuw) dhoniyl wnwowlnd k qpgnywd Jhdwynid, pwlh
nn Gynpnlp pununpywy dheniy E phipnud U yhGhmpyulwb EGtpghw
(thnpn), U hp yuyh LGapghwG: 9-pgnywo themyp vho dwuwdp (84%)
pwdwlymu k, npn phiyptpnid £ wpdwlymd t y puwlnmbbp b sh pw-
dwlynud:
WU =, Fh4+, F% 4300 (ywi2.n)+0:

Onpn LGtpghwyny (WhGsk dh pwlh Utd) dwulhyltph wqnbgni-
pjwl nwy shomybtph pwdwlnuip, hGywtu Guwb hGpGwljwd puwdw-
Gnuip yuumwpynid &6 wihwdiwswih duny, b piynpGhph quiqyuott-
np, hGywbtu pwquhgu Gyt L, hwpwptpmd GG, hGywbu 3:2: Mwng L,
nn phynpGph mwpwo tGhpghwGbnG k] b6 hwpwpbpny, hGywbu 3:2,
vhwyl pt pipl piynpp nmwlmu k dGo LGipghw: Gpt E;-ny, Ex-ny,
M;-ny, My-ny, Vi-nJ b V,-ny hwiwyuumwuhiwlwpwnp GuGwuyyti
ptiynpGtph EGapghwGtpp, qubiguobtnp b wpwgmpymGGLpp, wwyw,
oquugnpotiny hiwynuh wwhywliwl optlpp M;V,= M,V,,
Junwugyh' E/E;=M,/M;:

Npnpwyh pwlwyny Gyniph pwdwliwb ptynpGhpp gwwn mwpptp
G phptiGg qubGguwowjhl pytipny: @npdlGuwywl wnyjwGhiph hwdiw-
dwyG’ Gpubg phyl whglmu E tpynt hwpyniphg: ‘Lwnp 8-mu GpYw-
Jugywo t pwdwliwl htnmbwlpny wnwowgwd phynpGtph Giptiph
pwpfunuip’ pun qulguowjhlG pyh: OpnhGwwmGtph wnwlgph Yypw
wnbtnunpud k ntwlghwjh tipp mnynulbpny: ‘Lwpnmd yuuybpquo
E GyunpnGGtph wqnbgnpjul nmwy Py dhonijh pwdwldwl wypngh-
up: 2°U-h pwdwGiwG ophGuyGtpG t6.

235 142 91 1
wU = cBa+ ; Kr+3n+0,

PUSYLa+3Br+2,n+ 0 LwyG:
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£tynpGtph pwpfudiwl Ynpl6 wijwlmd 6 Gpuwywmwbh Ynnp:
Lnwlnd wdklwitd bptipny wowowlmy GG 139-h U 95-h wmhpniyp-
Gpmd pGywo qubquowjhG phy niGhgnn phynpltpp: AtYnpGhpp
unwmd b6 §hd YhGhwnpy Laepghwbp: U dhgmyh pwdwbswi
duwdwlwly wpnmbpGiph mwpwo LGipghwGbpp [5] GepYwjwglind
Gl htiinnlyw) wwwybpp.

pwdwliwl piynpGtipp LGipghw’ ~165 Utd
wpuwgq GhjnpnGGaaph EGEpghw ~4.9 Utd.
wyGpuppuyh y-Ghph EGepghw’ ~7.8 Utd
B dwuGhyGtnh LGipghw, npnlp

wnwowlnd GG puwdwliwb ptynpGtph ~9 Utd
nnnhiwl htinbw Gpny

v pywlwnGtph EGtpghw, npnlp wpwew lmy Gh 72 Ut
pwdwldwb ptynplGtph’ mpnhdwG pGpugpnud’

Clnuikln 194 Utd

Unw 11 Utd EGipghw £} mwbnd £ hwywGbjmphGnG, npG wnw-
owlnud Lt f mpnhiwl dwdwlwy, wylytu np 194 Utd. EGipghwjhG
wtnp £ gmiwnt) 11 Ut 1phy LGapghw6 qGuwhwwmbtim hwdwn:

Pudwuliwl yupwditnph (ZZ/A) uwhdwwjhG wpdbpp 45-G L, L
wjl dhonYyGhpp, npnGg hwdwp (ZZ/A)>(ZZ/A)uu,h, JuwyniG 1hGhy skG
Juwnnn: Uynwhuh dhonyGtpp plnipywl v s6G hwlnhuymy, pwdwi-
ynud LG 10‘2111—nui, wjuhlpG wyGpwppnptl dhonijuyhG thnfuwqnb-
gnipynGGph dwiwlwuwihongnd: Uyl dhomyGhtpp, npnGg hwdwnp
(ZZ/A)<45, pywghyuymb G0, wwpnd GG wylpwl Gpyup, nppwl
thnpp £ wyn wwpwitnpn: 238U—h hwdwp (ZZ/A)= 35,5, b Gpw hGpGu-
Ywd pwdwliwl dudwlwyp 8 « 10" wwph t, *°Fm-h hwiwp (Z*/A)
=39,0 L T= 3,2 dwd L wyG:
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bGswtu Gyt t, wiklG dh dhomyh pwdwliwl duiwlwl wnw-
owlnd GG v pyny wylpwppwjhl Jud tpypnpnwyhl GoyunpnGGtn:
Pwugh wylGpwppwyhl GtywnpnGGiphg” wnwowlmy GG Gl npwgwd
GtjnnpnGGtp, npnlp wpdwymu GG pwdwiiwl wypngtiuhg Juwjnyjw-
Gh wwultpnppuwlul Ywuhg dhisk th pwlh qupyyul npwgnuiny:
Qpwlg phyp vko st. npubp Yuqimd GG GpypnpquwyhG GhjunpnGGaph
pUh Unun 75%-n, uwluw)G qquih ntip G6 yuunmwpmd dhontwjhl nhwy-
nnpltnph wpfuwnwlpnid: Apywgwo GhyunpnGGtpd wowpymd GG
Gbjunpnbwyhl wybigny mbtgnn pynpGtinhg, npnlp niGG6 pujwu-
GhG tGtpghw’ GhyunpnGGiph «gnnppugdwl» hwdiwp: Unwowguo
wllGpwppwjhl b niyugwo GhyunpnGGaph vh dwup hwonpnupwnp Yu-
wwpnud £ Gnp *°U shniyGhph pwdwGnud, nph 2Gophpy Gnphg dGynud
Gl GbyunpnGGhp, U wyjuybu Jwpniwyynd £ Gnp dheoniyGhph pwdwG-
dwl wypngtup: LhjmpnGGaph wgnbgnipjul mwly owln YhoniyGhph
pwdwldiwl ntwyghwltpp, nph htimbwlpny GhjunpnGGtph phyp vb-
owlmu k, b httmbwpwp Jupnn £ wowowlw) wpniGuljwlijub wypn-
gtiu, Ynyymu GG npwjwlul ntwyghwlbpn: Cnpwjwuwl ntwlghw-
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Gtpp pmpwgpynid GG £ pugqiuwyuniwb gnpowlgny: UjG hwjw-
uwp E npul winnd pwdwlnid wnwowglng GhyunpnGGtph pyh hw-
puwpbpnipjwlp Guwiunpn wjnnd pwdwintd wnwowglng GhjunpnGGt-
nh pyha: £ =1 nhiypmy rnpuyuul ntwyghw pGpuwlnmy t hwunw-
nnti hGunbGuhynipjuwdp, b wjn gnpowyhgp Yngymu t Yphumhiuyw:
k >1 phwypmd qnpowyhgn Ynsynid & YphmhulwGhg 6o, b mtnh t
niGkGnd Shonijujhl wuypymG: £ <1 nhypnud gnpowyhgp Ynsynud k
Uphwmhjuwywbhg guon, b npuwjwlwl wypngtiup dwdwlwyh plipwg-
pnd dwpnid £ Cnpwywlul ypngtunid wiowwnymy L hufjuwjuywub
LGtpghw, npp nbwyunplbipnd (wunndwjuwywlnyd) Yepuoymd L
EityunpuwtGipnghwyh:

§ 4 Ninhn dhonijwjhb nwlghwlbp

Uj6 ntwyghwtpp, npnGp ppwlnd GG pGnipwgpujub dhont-
JuyhlG dudw Guwynid (10‘21—10‘22), Unsymd GG ninhn nbwyghwGtp: Ni-
nhn nhwyghwGtpnid hwpjwonn dwuGhyb hp Laipghwl wiihowybu
hwnnpnnud £ dhoniyh npulk wuwpg wquumpjul wunhdwlh dhw-
GniynGuyhG, o dwulGhywjhG, Ymtiunhy b wyG: Minhn nbwyghwbbpp
Lu odnJwo Ll plnpwgpuul wnwlGdGwhwnympjn GGtpny: Mwng
nupdGbnm hwdiwp nhnwpyblp (N,N") mhyh nbwyghwibpp: Lwhu b
wnwy9 hwpwonn GniynGG hp hdwniup hwnnpnmd L dty GoniynGh,
htimbwpwp wyn Gniynlp wbwp £ nnipu prsh dhonitihg ntiyh wnwy
wjn hdwniup ninnnipjudp: UjGnthtnb pwlh np hwpgwonn Gniynbp
vhoniyh dty GnynGhG thnfuwbgnid t hp gptpb wipnne LGhpghwd,
niunh nnipu pognn GniynGp YmGEGw puduyuGhG dto EGtpghw: Gy
ytpowuwtiu, ninhn nbwlghwltpnd hwjwuwnp hwjuwlwlwlnpjuip
Juwnnn GG nnipu pngtp hGywbu GhyunpnGGhp, wyGwbtu £ ypnunnGGtp,
pwlh np nnipu pnynn dwulGhyh d6o LGGpghwjh nhypmy YniynGjwG
wnqbipl wGGwh  nunbnud:
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Uh pwGh mwulyuly Utd-tph niypnid ninhn ntwyghwlbpp dw-
pnip st6 pGpwlnid, wy dpgulgmu GG wjy] wypngtulGbnh, dwulwyn-
puwbu’ pwnunpjui dhonityh dhongny plpwgnn ntwlyghwltph htin
[3]:

Nuhn ypngtulGbpp pum muppbip G6: pulp pGpwlnd GG pnjnp
vhonuyGtipnd mmwpptip hwpywonn dwulhyGinph wantgnipyudp: Uh-
onthg Junnn GG nmipu prst hGywbu wnwGahG GmynGGtp, wyGuybu
£ GniynGGtph qnuyyqbip, nbjunpnGGbn, ,He’ uvhontly, o YwuGhyltp b w-
ytih owlp dhomYybtn: 9nipu pngnn dwlp dhenyGhpp Ynsymd GG
dnwquitiGnGbp, hul ypngbup® SpuwqitiGumwghw:

UdblwnumiGwuhpywd mnhn nbwlghwltpp hbnbyjwGtpnG GG
[3].

w) (n,n), (n,p), (p,n) U (p,p) nbwyghwGbipp, npnlp Yuplnp nbp GG
fuwnnud th pwlh mwubyuly UL, EGapghwyny GniynGGtph U dhoniy-
Gtph thnfuwqntigmpjul nhwypnid:

p) Mnydwd (d,n), (d,p) b gpwyiwl (p,d), (n,d) ntwyghwbtipp:
Mnydwl nbwlghwltph pGpugpnid nynpnlp «phwysmy £» thomyhG
vhwyl hp vty GniynGny: Wyn GmYymnGp fubynd £ dheoniyh Yynnihg,
huy §ynwu GnynGp JwpniGuwymyd £ hp dwlwwywphp hwiwpjw sthn-
futiing hp niqnnipyniGp: Mnyiwl ntwlghwbtpp hhdGwlwlnd pGpw-
(nd GG nhynpnG-dhonitjuyhl nbwyghwlbpnid, pwlh np GnynGGapp
ntyunpnimd pniy G6 Juyywo, qunlymd GG dhijulghg htnnt U hhd-
(wlywl dwiwlwjuwhwnywond Gpulg thijwlg Juwnn nidtph qnp-
onnnipjul Jwnwynhg nnipu ta:

Gpuyiwl nbwyghwl wynyiwl ntwlyghwjh hwjwnupé wpn-
gtul t: dwpjwonn GniynGp nhysnd & dhoniyhG b GpuGhg GniynG
wnynid: Nniiwb b gpuyiwl ntwlyghwlbph hwiwp gpuywlnipyu
k9 hwdwh oqumuagnpoymu bl wlhqinkl wmbtpihGabpp” «stripping» U
«pickup»: Mnydwl b gpuyiwl ntwlyghwlbpp hhiGwlwlind oquw-
gnpoynmd GG dhonyGtiph Junnigywopl nwunmdGuuhpbine hwdwp:
‘Liwl whwh thnjuwgnptignipmbiipnd  ntwyghwjh hbwmbwlpny
wnwowgwd wpnnilpGtinh whlynGuwihG pwuntiGbpp fjuhun Yuwfu-
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Jwo bl wjl dwwpnuyh pJuwlunwjhG pytphg, nphg wynyynd k ud
nphG Gunbgymu £ GmynG: Wjuwhuny whymniGuihl pwuniihg Ju-
nbith £ npnptp pywlumwghG pybipp:

q) 6pb hwpywonn GniynGh LGipghwG wwm wytijh dko L dhont-
Ynud GniynGh Yuwh tGepghwjhg” E>100 UL, wwyw wnbnh GG nGb-
(ind pjughwnwdaqulwl wypngtulhp® (p,pn) U (p,2p), npnlg nhuypmu
hwpjwonn GniynGp thnfuwgnmd £ dhoniyh dhwjG vty GmynGh htwn,
pln npnud” thnjuwgnnn  GoiynGGaph  thnfuwqnbignipynilGp  shoniyh
ujniu GniynGGtph htnn Juntih £ wlnbub: Wyuhlpl wbnh L niGhinud
tpynt GniynGGaph wquun wnwdquuwb thnjuwgntignipjmG, nph hb-
wmbwlpny Gpuwlp tpynul £ nnupu GG quithu Yhoniyhg:

n) Minhn wpngtiuGtp, npnGg dwiwlwly wnwowlnd GG puqiw-
GniynG YwuGhyGbp’ mphunnGltp, o YwuGhylbp® (n, t), (n, 2H3), (n, ®),
(p, ), (t, o) b wyG: ULo LGtpghwltph nbwypmy dheniyp Ywnpnn L
wwypti, hGsh htmbwlpny wyl wpnhymd £ 060 pwlwynipjudp dwlp
pynpGbph:

t) Minhn wpngtuGtip, npnGp wmbnh G0 nGkGnd dwlp (hgpwyn-
Jwod hnGGtph waptignipjwl mwl: Uju nhiypmd plpwlnd G6 nmwp-
ptip mhyh nbwlghwlbn® YnnGjub qpgniwl ntwyghwltp, nbwygh-
wibp, npnGgmy wnwowlnid GG pwwn dho dnikGuGtpny (50h L wyty)
vhoniYyGtip, nbwlyghwtin, npnGgnid wnwowlnwd Gl vGd GhjnpnGGtph
wwlwunpnny Gnp hgnuunuGhp, ntwyghwbbp, npnGgnid wnwow Gnud
Gl Gnp npw GumpwGwjhG nmwppbn:

q) @npp pwlwympjudp dwulhylbph dwulwlgmpjudp ninhn
wnngtuGtin, npnlg pGpwgpmy wnwowlnud LG Gnp mwppujwb dwu-
GhYyGtn® whnGGbp, yunGGbp, hhybpnGGtp b wyG:

L) E=5 Qtd/GmiynG tGapghwyny dwlp hnGGtph ntjjuwnhyhu-
wmhy pwpumdGtpp, tpp dhemyGhpp thnfuwgnbgnipjul dwiwlwly
wjlybu GG ubniynud, np wnwGdhG GmynGakn Shwdnmpyymy GG dhwu-
Gwlwl ny pti thomYwyhG, wy) GniynbGujhG Gyniph vb9:
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n) Ex=1 QEd/GniynG LGepghwyny hwpgwonn dwuGhyGbph wqnb-
gnmpjul wmwl pGpwgnn hGyynmghy nbwlghwbtpp” a+A — b+X, np-
wntn a-G U b-G Jwd nmwppwlwl dwuGhylbp GG, Jud dhonyGhp, huly
A-G wnniwjhG dhomy t:

Nuhn wypngbubGbpp hhiGuwuwlnd pGpwlnd GG dhoniyh dwybp-
unyph Yypw, nph htimbwlpny npulg hwdwh wlijwlnd GG dwlb-
pumpwyhl ypngtuGbn: tw wwjdwliwynpywo £ wyl thwuwnny, np ny
ouwn dho EGhpghwlbph nhypmy (<100 ULd) hwjwlwywlnipniGp,
np dwulGhyp yulgGh dshonih dhony wnwlg Julybint, pwwn thnpp t:

{wpjwonn dwulGhyh ko LGtpghwGbph phypmyd (>100 ULd)
dwulGhyh" p £pnjth wihph Gpwpnipynilp nunlnd £ wytih thopp,
pwl UvhoGmymnGujhG htnwynpmpynilp, U mnmnhn  wpngtubbpp
plpwlnd GG ny pb dhomyh dwybtpuniyph Yypw, wy Gpuw wybtih funp
2tipntpnd: Lwqhwnwdqujub thnfjuwgntignipjmGitph dwiwluy
((p.pn), (p, 2p)) GmynGp Yupnn L nmpu pogby ng Shwyl Shenyh wp-
wnwphl punulphg, wy] Gwl Gpw GepphG punubpltphg: <tmbwpwnp
(dw G mhwh nbwyghwbtpp hGwpwynpnipynil G6 wwihu nunidGuuh-
ptynt dhonuyGtph GhpphG punupltnh hwnympmiGGtpp: ©tpl h-
oniyGtinh niypnid Gdwl nuuntiGwuhpnipymGatp yuumwnyty GG, huy
owlp vhomlyGtph ntypmy Gtpphl pwnuwbpltinhg Wty hwupjuony
GniynGh wynynuip pwjuwywlhG hwqugnun wypngtu k, nph yww-
dunny (iwl nuuntiGuuhpnipyniGGtpp nunbnid G6 wlwnpnyniGwytn:

Nuhn wypngtulGtph dwiwluwl dhonmyhg Jupnn GG ngnipu pnsh
GniynGujhl fudpuynpnudbhp’ dpuqublnmbbp: Fwuwlul yunyb-
puwgnuiGtpny” Giwl wypngtiuG@ wihwjuwlwyul t: Wehwuywlwh k,
pt hGywbu £ dh pwlh hwpmp UL EGhpghwyny GniynGp dhoniyhg
nnipu Ghnmd mphwnnG, nph uuwh EGipghw6 7,6 UL, E: biwG wpn-
gtiuh dwypnuynwhy wlwmgp Giwl £ vwpuwpwpny wwwmnihwGhG
futhtiyni, Gpp wwywyhG ny pb thppynid £, wjp wnwlg Ynnpybtynt gnipu
E prynid: ‘Liwl wihwjwlwywb ypngtulGbph gnympjnln dhypnw;-
fuwphnd wwyjdwlwynpywo L dwuGhybGtph wihpwjhG hwnympniG-
Gtpny: NuunuiGuwuhpnipyniGGhpp gniyyg GG wnyb, np pwqiwlnyn-
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GwjhG fuipwynpnuiGtinh weoluwynipyniGp dhoniynid sh hwjwumd pw-
nwlpwjhG dnnbiih mtunipjwln, wy ;puglnud £ wyG:

UpwqugnigswjhG wmbuGhwih b dhombwjhG bhqhjuwjh htinw-
qu qupqugnuip gnyyg kg, np fnph dnghip pwjwpup swihng sh
Gywpwqpnid dhonitjuyhl thnfuwqnbignipymGGhpp LGpgbwnmpy w6
whpniyypnid: {<Gnmwqu qupqugniltph 2 Gnphhy unbinoytghG ownp-
Jquywi U htinbnu-gninppwgdwl dnnbGtpnp:

§ 5 OuypmpljuYu b Wnykip

Owumhywlwl dnnbp pwnwlpwjhlG dnnbh Gdwl dhwdwubh-
JuwyhG, nhGwdhy dnnty E [6]: UyuhlGpl nhunwpyynd E dkl dwuGhyh
ownpdnuip Uymu pnnp dwulGhyGhiph vntnowo nu)unud: Uy pninp
dwulhyGtph unbnowo gu)ump mpynid £ thenijh ynnbklghwih wmbu-
pny: ‘LmYynGGtph hnfuwgntigmp GG wlmbtudnd £ wyl pwbh 2Gnp-
hhy, np GnynGGtpp GGpwpyynd GG NMwnihh uyqpniGphG: Nwnihp
uyqpnilph hwiwdw)l’ jnipupwlsjnip dwlwpnuyh ypw, npp pGnpn2-
ymd £ 4 pJuwlunwjhG pyopny’ n, I, m, s (qifuwynp, nintonwjhG, Gpu
wpnjtyghwjh b uwhGwjhG pJuwbunw)hG pybn), jupnn Eugdjw) nbuw-
Uh vhwjl vty dwubGhy qunbyt;: Un wuwmdwnny GniynGGtph dhol
thnfuwgnbtignipjniip wlwpymbGuytn L qunelimd, pwbh np, YnpgGb-
ny EGtpghw, npwlp wtwp L Gunbl wpnbl qpunyud gwon EGbp-
ghwjny dwywpnuyh Yypw, npp hGwpwynp st: Uju dnntignidp thwu-
nnptil hwlgmu £ CplinhGqbnh hwywuwpiwb (nodwbp ny nbjuwnmh-
Jhunmwlwl nypmd (pwlGh np GmiynGh wpwgnipjnilGp dhomynid
hwjwuwnt 0,1c) [6]:

h2

-——A V =Fy:
Ay + (r)w =Ey

V(r) InGyghwjh pGupnipnilhg hwywuwpnuip jupnn L mGo-
Guwy mupptin (nuoniGhp:
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Pwnuipwjhl dnntjnud nphnwpyynud GG Gpynt mhwyh wynunblgh-
wylbtp’
1. mnnuGyyniG hnph wnuntGghwp'
-V, r<R

V(r)z{o, r>R

2. hwninGhYy oughywwmnph wynunbkGghwp'
mo’r’
2

o -0 munwiiwl hwdwfumpnGa t, m -p° GniynGh qubquon,
7 - pwnwiyhn uumnpp:

UnwohlG ntwypp hwiwwwumwufuwlnd L dhomiwyhG nidtiph
Jund qnponnnipjwl pwnwynhG: Gpypnpny nbwypmd SptinhGgbinh hw-
Jwuwpmip htyw b jmeoynud:

bpwlwlnpjuwlp hwiwywunwufuwlnd £ dnqu-Uwpunlh wn-
wmbtlGghun

V(r)z—V+

Vir)=— "o

(F j’
1+exp
a

nputn R -p dhonijh qubquohg juugwd wupuwdtnp b, huly a -G
Juwywo £ dhomyh nhpniquyulnipjul htim b hwunmwwnmniG E pnnp
vhonuyGtinh hwiwp: Uwlw)G CptinhGqbtinh hwywuwpniG wju nhw-
pnid nuomy ymiGh:

Owumhywlwl dnpmd plnnilGynd GG Gnyy6 GiuwunwnndGhnp,
hGs punuGpuwjhG dnnpbymu: Uwlw)l dwulhyh LGipghwl owywmhyw-
Jwl dnnbnd, b mwpptipnipyniG pwnulpwyhl dnnbh, pGgniGymd k
nnuuywd, pwlh np hwygwpyp junmwpynud ©dhoniyhg nnipu qulynn
dwulhyh hwdiwnp: CanniGJwo b, np dwulhyp shonynmd juwwo yhp-
dwind mGh pwguuwluwb LGipghw: Lwlh np dhoniyh ypw phylnn
dwulhyh LGapgtwmpy vyblunG wiplghwwn b, munh wjjbu wlhpw-
dipnmpymG sqw npnptnt EGipgtnhl dwywpnuyGtpp £ E,. - E,
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vhoniymud: fTulinhpp hwqbtglnid t GpwG, np wyhwmp £ npnptp dwulhyh
U dhonyh pwudwl hwywlwlwlnipynilp, npp wuwydwlwynpywo k
dhahjujulG wwppbp  wpngtuGtpng® gpnuing U YJulnuing:
Guipywopltinh npnpiwl hwdwp whwp b npnpt) wligwdo whph hi-
wntiGuhynipjul hwpwpbtipnipjnilp pGyGnn wihph hGntGuhynpyjwlp:

Uhgniljh htin thnfuwgnnn dwuthyh wihpwyhl dmGyghwi funpt-
1h £ GipYuyuglby pGlyGnn hwpp wihph b wwpwoynn qGnwjhG wihph
untybpwnghghwjh wtupny [6]

v :eikZ +f(9)leikr,
2

nputn £(0)-6 uyqpiwlwé high Gyunntwdp 6 whljwé nwl dwu-
Ghyh gpiwl hwywlwlwlnmpm GG E, npp Yngymd £ gpdwl wdwih-
nn;
Spiwl nhphptilghwy Yunpwopp U £(0)-6 yuuuwd b6 ht-
wnljw wnbynipjudp’
do(0) 2
=10
0 oy
do(6)=|/(6) 2nsingds:

v wihpwjhG pmGyghwih wuhdywmnnhl wmbup mGhGwmnm ww-
hwlop hwlqtglnud £ gpiwl wiyhnninh hwidwp htnbjw; wpnw-
hwjnmpjubp’

f(9) =ﬁ2(2l+1)}1 (cos)(e™ ~1):

1=0
P, (COS 3)—[1 Lbdwlnph puqiwlnudG t, 6,-6° gndwl thnyp Yud
inquyhG ptnmudp, /-p’ nintopwyhlG dndtkGup: LykGp, np 51.—[1 hpw-
Jwl phy t wnwdquiuwl gpiwl nhypmy b Yndytipu’ ny wnwaqui-
JuG gpiwl ntiypnid:
Nputugh dhwdwdiwlwly GQupuwgpytl wpwdquyubG U ny
wnwdquul ypngtuGtipp, CptinhGqtiph hwjwuwpiwb dhe Ghpinid-
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Ymd £ yndybpu wnnblGghwy' V +iW , npntin 7 -G U W -G hpwwG
tG:

Oquytiny wlplnhwnnmpjul hwjwuwpndhg' Jupbih © juy
hwunmwwuty ynntlGghwih Ytind dwup b shomyh Ynnihg dwulGhyGtpp
YruwGdwb YunpJuoph vhol:

UlpGnhwwnnipjul hwjwuwnpmib niGh hinbywy mbtupn [6]°

op .

—— +divi+ Kvp =0,

o J P

nptn p -G dwuGhyGbph mwpwowyuwl funmpymGa b, j-p dwu-

GhyGtph hnuwGph funmpyniGp, K -G yuuGiwG gnpowlhgp, v -G
wnwaqnipnln:

p=wy
. ih * *
J= ——(t// grady —ygrady )
2m
UwnwghnGuwn yhdwyh nhiypnid”
op
= const , —=0,
P o1

ih
divi=—— (v Ay —wAy ™ ):
j 2m0ﬂ y—yAy ")
QOulwqotinh dte qpuo wpmwhwjnnipynilp hw)ytnt hwdwnp
CntinhlGqtiph hwjwuwpmip gpymud &y -h b v " -h hwdwp'
2
—h—A‘P +(V+iW)‘P =FEY,
2m
hz
—-—A¥’ +(V —iW)‘P* =E¥":
2m
Gpt wju hwjwuwpnuiltiphg wnwohlp puqiwwuwnyyh l//*—nq
huy tpypnpnp’ y -ny, b www npuilp dhajulghg hwiytl, wwyw ju-
mwgyp’
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2
—h—(‘P*A‘P —‘PA‘P*)+ QWP =0,
2m
2

—2—(‘P*A‘P —WAY'") =2 P = -2iW p,
m
U

ihdivj = 2iW p,
U
Wp
Pt

Uju wndbtpp mbnunptiinyg wiplinhwnnipjuwl hwjwuwpiwb vk
Junwlwip®

divj = —

L/
n
Uyjuyhuny unwghnGwnp fulnph nhwypnd JulGdwb gnpowygh
2w

hwiwn junwluilp K = —:
v

Uhgnilh Ynnihg Yuljwo dwubhyGlph iphy phyp Yynpndh wid-
pnn9 Yuulnng dwjwny hGunbgpnuiny’

N, zszTpdr:

Ujumntinhg htipunnipjuip Junpbih £ npnpt julGdwb Yupywopn:

n
5 uyhlny dwulGhyh hwdwp CpinhlGgbph hwjwuwpdwb nuont-

un Junbh £ Gipuywgll) 2 mhwyh $mGyghwbph mbupny® \Pe—l/Z L
Y. /2 npnlp hwiwwywunwufuwlnd G0 vyhlGh b ninopwhG dndki-
wmh tpynt mwppbp YnniGnpnpndGhppG:

f (0)—[1 Ut gmuiwpmuin juunmupymd t pun dwulGhyh dhoniyh
Gyuwumdwdp pnnp hGwpwynp mnbopwjhl dnikGumbtph® / -tph: ULo
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LGtpghwGbtpny (Gh pwlh hwpynip Utd) thnjuwqntignipymGGtph dw-
dwwly / -tph phyp nunGnuy E jwn $Ed U htinbwpwp hwGgtgGmy k
o ;-h pwlwyh wdhG: Wu nhypnid ndjwn b moty CptinhGgbiph hw-
Juwuwnpnudp, b wytinmp E thGwnpbp wyp dinntgnmd’ nbwlghwjh dhfuwlhqg-
un hwulwGwm hwdwp:

Gpt (niynGh EGGpghwl pwjwlwGhG ko E, wyw Gpw™ Ip
£nnjth wihph tpyupnipyniGp pujwywGhG thnpn £, b dhoniyh Ghpunud
GniynGh pwnpdnudp Junbh E nhnt nuuwlwl hbnwqony:

UwuGhyGtph wihpwjhl mbunipjwdp Gpulg pwupdmup junptih
(Ywnpwant) Gpypuguthwlul oyunhywyh vwhiwGbpnd:

Uju mbunipjwG dtg £ hiwnuny pwpdynn dwuGhypG Ybtpw-

_ P
qpUnui & K ) = ;" whpwjhG yayunp: UheniyG h yhdwyh t dwubhyp

ptytny, Yubtm b winpunupdGbnt. gpu hwdwp dngymd GG hw-
Jwwwwwufuwl whpwjhG pytip: UthpwjhG ytywmnph pugwpdwy

wpdtiph Juwjumdp JwuGhyp £ YpGtwnhy tGipghwihg npnpymd k
htinbjwy wnGynipjudp,

‘l_’;‘ =+2mE htnlmit K, = 2;:1E :

Lwlh np dhonyl odnjwd b wnunblghwny, b Gpw Ghpund
dwulhyh YhGawnhy LGepghwl wdnid k, niunh wihpwjhG phyp dhont-

1/2miE +V) '
5 :
Ouwywhlywjh optlpGtph hwdiwdw)i tpynt wmwppbp wihpwjhG
pytinny odwnyjwo dhowywjptinh uvwhdwlmy wntinh £ nGtlnd wihph
Kl
ptynmi® 7 =? ptiydwG gmghyny: ClGnhwlnip niypnd Jupnn E

o

yh Ghpums Ynfugnui £ K =
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ntinh nGtGw] Guwb wihph SwuGwyh winpunupé: K, uyqpGuyud

wihpwjhG phy niGtgnn wihph pwthwlgbihnipnilip npn2ynud L
K,K'4

(k,+K'f

pwlwdlny, uvwyuwiG £ >>V phypmd K, = K’ u T =1, wuphlpa

T =

winpunupddw tplnypp Yupbih £ wlnbub:

£tjiwl U JubiwlG gnpowyhgltpp hwyyupylbph dwdiwbuly
dhwynpymu GG dGY Yndybpu gnpowlygh vbk9, npnbin hpwywl dwup
Gyupwgpnd L wnwdqulul gndwl wypngtup (ptynudp), huy Ytno
dwup” Jubnuip: Uwluwy6 hwpdwp b oquyty wihpwjhG pytiphg
tnglGny K, phyp, npny npnpynid £ dwulhyh wihpwjhG pyh thnthn-
funipjnilp WkY wyp owywmpyuwlwlG showyuwjn /dhony/ wlgltym nbw-
pnud, wyp Yhpw wuwd K -n npnpymad b phyynn wihpp: Gepunpynid
L, np dwuGhyh wihpwjhG phyp dheniymd yihGh

1
K:&+K+7K:
Utnd dwuny wuwjiwlwynpywo b Yublndp (ny wnwdqului
1
gnnidn), huy E qnpowyhgn Yytipngynud £ hwpdwpnpjwl hwiwn:

Gpt tapwunmh, np dwubhyh wihph thn 6 wjGwhuhb t, np dheny
dunbtgnt Yanmd hugwuwn £ 1-h (W, (Z =0) = 1) , www thenilhg

Z htnwynpnipjuG Ypw dwubhyh wihpwyhlG $niGyghw Yihnfuyp, b
tpt dwulhypn wpdymd L pguwuwpympjul by, www

¥, (Z)=e+iK”Z: Uhonmymd dwulhyh 2wpdiwl wihpwjhlG $mGy-

ghwd YhGh W (Z)=e"™: Uu nbwpmd wiyhwmnh hnginfun-
pyniGn YihGh' [6]
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B ‘P(Z) B e”K/Z B (iKl—%K]Z '
\Po (Z) e+1'Koz
UwulhyGtph hnuph hGutGuhynmpjul Gugnuip dhonijh funppp
pwthw(gbiniG qniqplpwg wnbnh t nGtlnd tpuynGtiGghw) optiGpny:
|\P (Z )| _ | | _
Ny ¥ (2Z)

K, -h wpdtipG wpnwhwjujmd £ owmhluwlwl wnntlGghwih h-

puywl dwuny htinbyuy Yhepy
K'=K +K,

1
K/:K/—Ko:Z(1f2m(E+V)—\/2mE):
N A B nad g o Y LAY |

h E E
K/:Ko{ /1+K—1]:
E

Uhonijwjhl ntwyghwGtpp Giupwagptine hwiwp gnynipyniG ni-
(tG dhonmywyhl oyunhjwlwl ywpwitnnptph 3 fudptip.
1) R, K,, K npntn R -p dhgnyh pwunwhnG k:

2) R, K1+%iK:

YR, V+iW:

Gpt mnjwo GG wju yuwpwitnpbpp, wyw npnpywo GG theniyh
gnnn U Julnn hwwnympniGGtpp dwulGhyGtph hnuph Gundwdp:
Clnhwlnp niypnd dhonitjh oyuwmhljwlwl hwwnynipjniGGph pnnp
G2Jwo plnipwgnbtpp thnfuwqnnn dwulhyh whyhg U EGpghwjhg
Jquuwo dnilGyghwbbp GG U upujuo GG Gul mwpwowlwb Ynnpnh-
GwwGtphg: UyuhGpG dhonityn Jupnn E 1hGt oyunhjuwwbtiu wihwiw-
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utin U odnywo 1hGh; nhuybpuhwny: enjuwgnbgnipjul Yupjuwopnp
npn2tiint hwiwp wlhpwdb)wm b jpugnighsy GaipunpnipyniGatn wibyp
w)n Jufujuwonipjwl yupwpbipjuy:

GuubGdwl yupgwopp npnpynud £ dhonitjujhG Gynipnd npnpwyh
dwliwwwnph wlgltinig httmin thGoh YwulhyGtph pwlwyh hwpwpt-
pujul GJuqiwip

Gpt tGpwnpyh, np dwubhyp Shemymd P GuwlwugngujhG ht-
nwynpnipjul Yypw, wigh £t Z = 2s dwlwywph, wyw

r’=7*+P?,
S?=R’-P*:

Ujuntinhg nhptiptiighwy Yupguo-
ph hwdwp Junwgyh htnbjw; wpnw-
hwjnmpnilGp’

do, :1—exp{—2jK(r)dz}:

Npubugh unwgyh ppy YuGiws yupjuwdpp, do ,-0 wtwnp L
hwdwpyp popnp hGupwynp P -tipny:

o, = 27:}19 |:1 —exp [—2j kdzﬂ dp:

Unwdquub gndwl yupjwopn unwlwint hwdiwnp juwmwpynid
E htinbjwy GGpunpnipynilp: Lphy thnfuwgnbgnipjwl hwywGuwywlne-
pynG6 plyniGymd L hwjwuwp 1-h, nph nhypmd wopwdquwi thn-
fuwgntignipjul hwywGwlwlmpniGp YihGh 1-W,, npuntin W,-G ny w-
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nwdqulwl thnjuwgntigmpjul hwywlwlywlnpmGG t: Ujuntnhg
Juntih E unwlw] wnwdqujub gpndwl Juupguopnp

| 2
i(K,JrfinZs
l—e

o, = 271]ti pdp:

Uju yuuipwopltinp unwgynid t6, tpt Gipwnpynud t, np dwulh-
Uh thnfuwgnbtignpyniGl niGh wnwlgpwjhG hwdiwswihnipnil, wy-
uplpG’ dhomyp Yytpgymu L qnwdl: bpujuwlmd jwwm dhomybtip nk-
Inpiwgguo th, U Gpuwlg hwiwp wbwmp t Ytpglty dhontjwjhG dw-
ytplunyph nhbmquyulmpniGp (wyuhlpl dninqu-UwpunGh wynwnbl-
ghwy):
o, b o, dtompnGGtpp npnptipnt hwdwp wlhpwdtyn b hiw-
Guw) K,-h U K-h pwnwynujhG Yujuwonipnip, npp GnyyGa E, pb
hiwGwy V +iW wnuynuyhl Juwjunwip: Uj6 juhugwo t dheniynid
GniynGGtph pwpunuwihg: Unynpwpwp plgniGynud £ dhoniynid Gmy-
nGGbph hwjwuwpwswh pupfund: Gyu nhiypmd o, -h b o -h hw-
dwp unwgynud GG htnbjw) wnGsnipymGGatpn [6]
_1-e?"(1+2KR)
2K*R’ ’

c,=nR’ {1

1+1—e'2KR(1+2KR) ~
e 2K*R?
O =T

s

2
—4e "% sin 2K0R{ 2K\R 4K RK }

+
K’R* +4K'R* (K’R*+4K]R*)’

+4¢ *® cos2K R +
: L(ZR2 +4K’R*  (K’R*+4K!R*)’

4o KR KR’ —4K!R’
(K*R* +4K]R*)?

2K,R K*R* —4K:R? }_
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UwhiwGuwjhG nbypnd, tpp RK — o, unwgymd E, np
o,=0, =7T(R+l)2, jwi o, =0, ~7R*, tpp A << R: Uw hw-
Jwywwnwufuwlimd t pwgupdwl ul dhonyhl, wyuhlpG wjyG Yu-
Gmd E hp Ypw pGylnn popnp SwuGhyltpp: bpuuing RK #00 L
YuGdwi yunpjuopp’ o, < 7R*:

§ 6 Ouypmpljuljub pinpaip

Unwdquub gndwl nhptptiGghw yuupuwoph hwdiwp hGupw-
ynp st gpbtp Wuwpg wpmnmwhwjynnipynil, pwGh np hGumtqpuip hGupw-
ynp sk oty dhGsu Yytipg, vwyuyl wuhdywmnunhy whybtpe vto Yud-
dwl b ko walyyniGuyhG dnitGwnGtph nhiypmyd oyunhyuwynd hwjnGh
£ dbptlhh pwGwdlp, npp wnwdquluwl gpiwG nhdbptlGghwy
Yupywopp Gyupugpnid £ Atutiih woweohl unpgh $niGyghwyh thon-
gy [6]

do(0) _ (K,Rsin6)[
dQ sin’0 .

I (KOR sin@)—[i Ptubijh $nilyghw k, npG wpmwhwjnynd k
sinf,cos@ Pmlyghwbtph vhongmy, htimbwpwp YJupjwopp gpiwb
6 wGymbhg yuwuwo dnGnunnG $niGyghw sk, wy mGh Jwpupinud-
Gtp L WhGhdniGhp:

Unwohl dwpupinuip thGmd £ 6 = 0° wyynGGtph mwy, huy
wnwohl dhGhinuih nhppp npnynid E htinbyyw) wpmwhwjmnipniGhg
sinf = 1 ~ 2 :

K,R R

UwuGhyp Latpghwih wéhG gmgpGpwug, tpp A -G thnppwlmy k,
wnwdquul gndwl Yupjwoph vbe Ghpnpnid GG wmwhu thnpp wG-
YmGGatp: GhduptlGghwy Yupjwoph pwlwdll owumhjwymu GYw-
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pwgpnud E Gtn dtnph ypw gniquhbtn thG9h wmwppbp wGlyniGGtph
nwl dwulhybtph gpdwl dwdwlwy hGunbGuhynipniGGtnh pw)funt-
un: Owwmplwyh Giwlnipjudp dwulGhylbph wowdquywb gpndp vh-
gniyh ypw, npp gh plpwlmd pwnunphy dhenilyny, b nph upgwopp
Gyuwpwqgpymd E dptlhh pwlwalny, Ynsgynd £ nhdpuyghnl gpnid:
Ujuhlpl’ owywnhluwyh wlwnghwb wmbnh niGh dhwyl dwulwynp ntw-
pnuy, tipp dwulhyp gpynid t ny puthwlghy dshomyh Yypw, nph hwdwnp
ptiwG gnghyp 1-G E, wjuhlpG’ oyywhuwlwl ynntlGghwih hpwywG
dwup hwjwuwn £ 0-h (V =0, W #0): U ntiypmd wynntlGghwih
ytnd dwup sh hwywuwpymd 0-h, b gpiwl Yupjwopn GnyjGutu
wnwpptpymd k 0-hg: {GGg wyn dwub £ Yngynid & nphdpwlyghnt gpdwb
Yupwop: UWyn gnnuip wyuwyjdwlwynpjwo b Gpuiny, np wipwthwlg
EypwGp Yuwlnd k pp ypw pGylnn hwpp wihph dh dwup, b wyn yun-
dwnny wlgwd wihpp hwpp sh {hGnwd, pwlh np niGh dwubp, npntin
wiwhwninp 0 L Ghdpulyghwih yquwmdwnny wowowlimd GG Gpy-
pnpwjhlG dwpuhinmdGbp b dhGhdnudGtp, npnGg nhppp npnpymd E
dptiltijh pwlGwdlng: <wenpn uwhiwlwihG ntwpp (V' #0,W =0)
hwdwwwunwupwlnmd L whph gpdw6p ptynn wynntlGghwih Ypw’
wnwlg JubGiwG:

Onpdmd wyn tpym wmhwh gnmiGhpp s66 mwppbpynd, U phy
Jupwopn (hGnud t'

O, :O'a+O'SZ

Lphy Yupguopp YJuptih b Gpluyuglty gpdwd thngh dhengny
oquytiny htimbyw; hwywuwpmiGtinhg

do, =|f(0) 275in6de,
1(9) zﬁ2(2l+l)l’e(cos9)(62i& -1),
=0

U Lhdwnph puqiwGnuih oppngnGuyinipjniGhg’ J.Pe2 (cos H)d 0=1:
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4 :
o, :K—7ZZ:(21+1)s1n2 0,
!

Qntny gpiwG wiyhnnmp 6 = 0° wilyjw6 nhwypnud
1

7(0) =EZ(2Z+1)((3M -1),

1

u ytingGtyny Gpw yniytipu hwdwyniop’

7(9) = ;72(2Z+1)(e_2i5' —1) , Juntith & yuqity £(0) - ?(O)
I

i

2% (2/+1
= —%Sin2 0, = 2ilmf(0) wnunwhwjnnipjniGp:
i

Gnwd wpnmwhwjnmpnilp hwdtdwwmbng phy Jupgwoph
pwlwdlh htin® unwgynd £ gpdw@ 1phy Yupjuwoph b wdwhwninh
4
4tino dwuhp dhol htimlywy yuwp' o, = ?Imf(O) [6]: Uju wpww-
hwjymnmpnilp Ynyymd L oyumhyuwlwl pinptid: Owynhywywl ptinpb-
un Juptih L unwGwy Gub Gpyponpn tnuGuyny’
1

7(0) ZEZQZH)(@M -1),

!
2i0; P .
e’ =c0s26, —isin 29, :

Spiwl wdyhnninh Ytind dwup YihGh'

fm £(0) = m_LKi(zz +1)(cos 28, 1) =

= —1 D" (21+1)(cos’ 5, —sin® 5, — cos® 8, —sin’ §,) =
2iK =
I < 4K <
=——— ) (2/+1)2sin’* S = 2/+1)sin*§,,
2iK ;( ) ' 4nK*? ,Z:;'( ) 1
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K 4r
Im f(0) =—o,, npmtnhg o, = —1Im £(0)
4 K

o ,-h b o -h huiwp thpunpymd tp mnnuGlynG oyuwhyuljwb
wnubtiighw), vwyw)l hpwlwlnd thgpwynpywo dwulhylbiph hw-
dwn whwp E dinglty Ynynbjub thnfuwgntignipjul wynntiGghwy: Uy
wynunblghwip uhunm Jujugwo t dhomymu {hgph pwpunihg: <wjuw-
uwpwswih pwfudwl nhypnd wyb nddun st npnpby:

Q-wnuh pinptidh hwdwaw) G

|E df =4nq,

npuntn F o -1 ElEunpuljuG nuwwh yalunnph Gnpdiw) pununnhsG t:

hlunbgnwp Ytipgynd L pun 7 2wnwynny qlnh dwybtplnyph,
npnud wnlw £ g jhgp: Lwlh np R wnwynny dhentyh phy thgpp
Ze -G &, myw

2
Ze%, r<R

Ze, r>R

GtiGunpnGuwywl hwiwywihnpjwl nhiypnid Liayunpuuwl nidw-
qotinG nuinnuwhwjwg GG qlnh dwytpuniyphl, wjn wundwnny

q:

Ze%, r<R
R
E= Z
—f, r>R
r
1dV, a Ze'r?
Uwlyuyl £, =—— : Wunbypmd V' =— —+C,,tph
e dr R

Z 2
r<R,lu V,f) = —i+C2, tpti 7 > R: Mwhwotin], np pwjw-
r
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pupytG Vly)(oo)zo u V,;l)(R)leiz)(R) wuwjiwblbpp, Juwnw-

Gw(p
2 2
2 3.7, <R
) 2R R
Ve = J
i, r>R

r
UninGjwl thnfuwgnbgnpjwl Yupywopn npnpbihu gpdwl wiw-
thunnigp punugwo t {hGnd Gpynt gmiwnpbihGphg’
£(0)=1,(0)+£(0),
U Gupjwoph do _
dQ
wlnud dhomyh nbqtpbnpyub U dhomywjhG wnuntlGghwGtpny
wwjdwliwynpywo gpywd wihplbph hGntpdptinkbgny:

EGtpghwyh wahl qmigplpwg fK (9) -G pwwn wpwq GJugqmy k,
hGsh ywwmdwnny vnwgymy k, np dkd LGtpghwlbph nhypmd wpn-
wunGh b GhywpnGh dhoniywyhG gpdw6 yuupjwopltpp hwjwuwn GG:

MinnuGyyniG hnph dnnbny Junbih £

1) GnuynGGtph hwynGh hwnympjniGGtphg GGGny npnpty tptp
wwpwuitinptinp, npnlp htinn mbnunpting owyuwhywywb dnnbhg
unwgywo pwlwdbbph vk’ Jupbih t hwyqupyly Yupdwopltpn b
hwitdwwntb] thnpdhg unwgywoh htun:

2) thnpdnid unwgyuwo Yupjuoplbpp wmbnunptinyg’ hwpyt; b
unwGw] dhoniyh oywmphljwjwl wuwpwitwpbpn:

1-hG nypmy oyumhywlwl dnnbip fpunnptG hpdGuynpynud t:

2-pn nhiypmyd hGwpwynp sk mupnuiyjhnptG hhdGuynpty dnnbp,
uwlyuwyl vnwgywo tpypnppujul ywpwibnpbpp gniyyg GG wmwhu
unnbith dyunnipjniln:

Ujuntin gnymipyniG mGhG tpym thnpdwpwpuwlul dkonipyniG-

‘f(Q)‘z pwlwdlmy hwinbu L quihu pugmghy

(tip’ o, -G U o, -p, npnlp wtnunpting dnnth dGe" Jupbih & npnpty
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R, K|, K wupwitwuptpp: Uju tpbp wwpwdtnpbiphg dbyp wbwp b

nnywd 1hGh: UYkth hwpdwnp £ wwg dheniyh qwunwyghnp, vwuyl wyn
nbypmd whwp E hwdngquo 1hGt), np thonmyh ynntiGghwh qnpon-
nnipjwl 2wnwyhnnp b thgph pwyfudwl wnwyhnp dhomymd GnyGG
GG: QGw Jupbih E yupgty] Yyapglting vty niphy Gwhulwjwl ygupw-
ubtunp, ophGuy ¥V -G, W -G, L wjGnihtinl, oquytiny oy hjuwé vn-
nth hwjwuwpniGiphg, npn)t) pwunwyhnn:

Onpdbipp gniyg GG myty, np GoynGaeph hwjwuwpwswt puptu-

A
dwl nhypmu (p = 1 utiompynilp dhoniynid GmiynGGtph funne-

— 7R’
3

pjniGG E) thnfuwgnbgnipjul Yupguwopn npnpymd £ htnmbjw) wnGsm-
pjuip’
oo Zoy, +(A—Z)GNH

A
nputn oy, b oy, kompmGGkpp GoiynGGeph gpdwl wpnymGu-

Jtin yupjwopltipnG t6: Ghapwunnpbny, np jnupupwlyynip thnfuwqnb-
gmpnilhg httvn dhemYyp GmynGp pwpdpwlnd k. ytpbp LGipgtnmply
dwliwpnuy, huy thGoh GniynGp nnipu t poymy thlohg, JuGiwb qnp-
owlgh hwiwp Yunwugyh' K = po : GuuGiwl gnpowyhgp shwynp
owjyuwmni  wnyjuw; dwulhyh GmynGh  hbn  hnfuwgnbgnipjwG
yunpwopd t:

Oy -h b o, -h hwiwp yhwp £ dnglty mnnmuilGtp” hwpyh wn-
Gy, np dhomymu tGtpghwjh thnpp hnfuwlgniGtpny thnjuwqnb-
gnipynGGEpG wpgbpywo Ga:

Onpdpl (uy hwiwwwwmwufuwimd E wjjuutpjuo dbtpdh-qugh
unnbp, vwyuwyl tpp £ >> E > nputin E f—n dtpih dwywpnuyhG
hwiwwywunwupuwlng LGipghw b, uptih £ ybpg it wquum GmiynG-
Gtnh ypw gpdwl yuupjuopbtinp O, Lo pp:
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dhpgltiny wju Yupquopltipp, hwpyting o, b o dhompjnil-
Gtipp, nhytiptlghw) Jupjuwopltpn hwiwwwwmwufuwbtglting thnp-
&p htin” unwghy GG Shemyh pwnwynh htwnbjw) wpdtpp” R = I"OA%
(r, =1.2+1.4 $v), npp pujwlwlwswh hwipGylnyd b hnpdwpw-
puwiwl wnyjuwyGtphG:

Dhpniq vwhiwlGhpny dhonly: ULo Latpghwyny LiiiumpnGatph

gndwG <mpumwnuntph thnpdbphg unwgyt) t, np dhomymd hgph
funnmpjwl pwfumil niGh htmbjw] mbupp’

Po

P=— """
1+exp(ﬂ)
a

npuntin R -p b g -6 puwpfudwl hwunwnn GGtpG GG:

Oyunhywywl dnpbimd pGuwyw6 t pgult, np V-6 U W-G
thnfuynid GG yuhjwo dwulGhyh pwupddwl YnnpnhGuwwmpg (Qunuyghn
Jtlywumnphg), tpp wyl pwpdymd £ dhonynd: UdkGwwwnpg nbhwpnid
Jupbih £ GGpwnpty, np 7 -6 thnfugmd £ o -h GiwG: GpptdG, tpp nh-
nnud GG thnpp EGGpghwyny dwuGhyGtph thnjuwqntignipyniGp shoniyjh
htan, W -h wiumdp 7 -hg wmwpptp & V' = f (I’) JuuwonmpjniGhg:

5]
w (r) =W, -e ,
nnp hwpyh £ welnud dwuGhyh nidtin iulnoip dwybplngph ypuw:
dninup b UwpunGp ytpgphG <nypmwnubph thnpdnid uvnwguo
puwfujwonipynilpn b wmytighG wynntlghwih jwnwynujhl pwpujuw-

onmpjniln’
=R\~
V(I"):V(l‘l‘e a ] :
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Uju wnnbtiGghwp gnuiuwlnpjul dk9 hwjnbGh E npybtu dninu-
Uwpunbh wnnblghwy: a -G Yngynid £ dhoniyh nhpniquulnpinil b

|
hwuwmwuwniG b pnnp dhemyGhph hwdwp, huy R = I’OAA , npuntin

7, -0 hwumwwnniG b ponp dheniyGph hwdwp jud pwwn pmyjp ju-
funtd mGh 4 -hg:

MnunblGghwp upnn £ nlGblw) Guwb hnbjwy mbupp

V(r) =V~p(r):
npuntn V -G Yuhqwo st 7 -hg, huy p(r)—[i GniynGGtph funmpyjwb
pwpfunidG k:

Ujuntn Gpunpymd £, np dhomywjhlG nidtph gqnponnnmpyjwl
swnwyhnp pwwn wytih thnpp £ dhoniyph swhtiphg, b GniynG-GmYyna
gniwl wiyhnnp ywhwo st wyniGhg, htnbwpwp wiyhune-
nn Yuntith EgpgGtp 0% -h wiwy: WuwnwGpGlpp gnyg wnytght, np
tpypnpn GGpwnpnipyniGp dhyw sk, b wyn nhiypmd V -h U W -h hw-
swp Yuipkih E gtipgGl A(7)-h GiwG ywnuquhG Guiugwonpym,
uwlu)G wyn JuujuwompmGGatph dke R -tpp mwpptp G6: Tju nhy-
pnd oyyunhyuwywb dnnbth ywpwitnptiph phyp dkowlnud t: Uy6 Yu-
nhih t GJuqbglh), tpb GGpwunptlp, np V' - h U W -h 2wnwynujhG
JwhujuwonmpniGGtpp GniyyGa GG, vwluyl Gpulp mwpptpymu G6 1hg-
ph puwtunuiny: ®npatipp gnijg wtghl, np wyn pw2fumdlbph R -tpp
2w phy GG mwupptpymy® 0,1=0,2 $ui: MpnunGhtph hnpdbipmy wi-
hpwdbywm L hwyyh wnlh) Gub Lyunpuiwgqihuwywb thnfuwgnbtgne-
pjniln:

Utio EGtpghwGtpny GniynGGtph thnpdbpnud, tpp dwuGhyh Jug-
ph GpyunpmpniGp hwitdwnwlwG £ sheniyh swhbphG, Gipwunpynd

L, np W(I’)—[i mGh GmjG Yuwfundp, hGy ¥V (r) -
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w () :W(1+er“R ] :

Uju nigpmy wnwowlimd t6 4 oupunhjuywl wwpwdtnptp' 7, ,
a,vV uw:

7, -0 b a -0 pmpwqpnid &G dhemyh swthtpp b dhontjwjhG Gymi-
ph fumnipjulG pwptumdp, puy ¥V -G U W -G GniynGh b dhomyh thn-

fuwgnbgnipjwl nidn:
Qnynipjnil niGhG Gwb wy mhwyh wynntlGghwiGtp, npnlp Gyw-

pwgnpnid GG dshoniyuwyhG Gniph pwpfunwip’
V(r)==-(V+iw)f(r),
1

r<R-d
f@):]+£:££§é R-d<r<R+d
0 r>R+d

bGswbtu wpntG Gpytg, CpinhGgbph hwywuwpniip ndyun niob-
1h & dniqu-UwpunGh ynnblGghwih hwdwp. ngpuw hwdwp oquwgnp-
onud GG Ytpp Gpyuwo wnnbkGghwin:

Uju pninp niypbpnud plnhwlnp £ wyl qunuthwpp, np dheniyG
niGh dwybtplnip, npnbn ynnbklghwih thnthnfumpjmbp vto k, L dh-
ohG Jwu, npuntin wnunbkGghwip pwwn pnyp E thnthnfuynud: {Gmwppphp
E nuunudGuwuhpty, pt np wnnblGghwl £ jwjwagniyGu hwiwwywmnmwu-
fuwGmud thnpdh wpnyniGpGhpphl, vwlwyl nu ndjwn motih fulnhp k:
Cuwwn htimwgnunnGtp nuntdGuwuhpmy GG (hgpwynpjwd dwulhylt-
nh wyG oywmphiwy EGtpghw, nph nhiypmy unwgynid £ thnfuwqnbgni-
pjwl yuupywoph Juujwonipynil nhpniqujubnipyniGhg’ a -hg:

Gpt dwulhyh EGhpghwl wwn thnpp b, wyw wnwdqujub
gniwl nhiypmd dto nbp L juwnmd YnynGub thnfuwgnbgnipmnln:
Uwulhybtph dto LGipghwjih nhypmd dwubhyp pwthwlgmy b dh-
onil, U dwybtpunyph nhpniquyulbnipjniGp nbp sh fuwnmy: Gnjne-
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pjnilG mGh owumhdwy LGtpghw, nph nhypmd unwgymd t nhbpkG-
ghwy yupjwoph JuwujwonipniG wnwnblghwih nbuphg: UjG npnp-
ZIZQ .
A5

Onpdbipp gnyyg GG myby, np owywmpuwywl dnnbp Yhpunth k& ng
vhwyl GniynGGaph thnfuwgnptigmpjul niwypnid, hGyp Gupwagpynid
tn dhGsbh wydd, wy Gub wy JwuGhylbph thnjuwgqnbigmpniGGph
ntwypmd, hGswhupp GG 7 YhqnGGtpp b o YwulhyGtpp:

Ymd E htnbjuy pwGwdélny® £ =

§ 7 Uhonijwjh6 nbwlghwbbph htinbnujh6 dngkip

Ouwunhyuwlwl dnntip hGwpwynpnipynil £ nmwihu npn)tijnt dhont-
ynd dwuGhyGph wnwdquyub gpiwl b JuubGiwG Jupduoplbpp,
uwluwjl wyG sh uwpnn Gyupugnpt] dhony dnnwd dwulhyh htin Yu-
wnwpynn wpngbulbpp, hGswbu Guwb phpwju-thomyh Jhdwyp thn-
fuwgnbtgnipjniGhg httnn: Lwlh np oyunmhljwlwb vnnbip thwiwubGh-
JuwjhG E, ntunh wyl sh Gupwagpnud Gpunypltin, npnlGg dwuGwlgnd
G0 dhoniymud tnwo dynu dwulhyGhpp: Bnph pununphy dnntG hGgs-
nn swthny [puglmy £ wyn pugp gwon b thohb EGpghwGtph whnpn-
pnd: Uwluwyl dko EGtpghwlbtph nwypnmd Bnph dnnbip sh Giupw-
gnmi dwubhyGtph thnjuwqptigmpynilp dhonyh htin: Uyn wmhpniyph
hwdwp <{tjqtlptpgp b Utpptpp untinotghG Gnp dnnb; htinbnu-gn-
nppugiwl unnbp, npp dwubGhyh thnfuwqnbignipyniGp dhoniyh htiwn
nhunnud £ nputiu hwonpnuul thnfuwqgnbignipyniGGtph hwiwunuip
[7]:

Uju GhpwnpmpniGp hhilGwo t wyl thwunh ypw, np tipk dwu-
Ghyp EGepghw dho L, wuyuw Gpuw' 9 Rnnjih wihph GpunnipniGn
thnpp L dhoniyh swthtiphg U hwdtdwwnwlwl t Gpyne GmynGGtph
uhol tinwd htinwynpmpjw lp: Uy wuwmdwnny dwulhyp thnfjuwgnnud
E uwhiwlwthwly pyny GmYynGGtph htin, vwhdwlwjhl nhypnd” vhy
GnYynGh htin:
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Uhont] dwnlnn dwuGhyh® dhomyh GmYynGGtphg nput dtyh htin
thnfuwgpbtignipjul dwdwGwlynp 2wwm wytiih thnpn YihGh, pwl wyl dw-
dwlwyn, nph pGpwugpnid dhoniyh GniynGp hwuglnud £ hp uvnwuguo
hiwnyuny thnfuwlwyyti dhontyh dyntu GniynGGtph htm® 7 <<7:

Uju nhypnid dwuGhyl hp hdwyniyup wwihu £ dhwyl day Gnyn-
Gh: Unwgymd t, np dko LGipghwyny dwulhyl wiglimd L dhijulg
htin sthnfuwqnnn GniynGGtph quigh dheny” thnfuwqnbiny ShuwG w)G
GniynGGtph htin, npnlp qunGynid GG hp GwlGwwywphpG (ntu Gyunpp):

U G thwuwnp, np dwulhyl wlglnd L dhomyh theny, npwnbin
GniynGGtph dhol gnponid GG npnpwyh thnfuwgnbignipjwl nidtip, in-
nbmd hwpyh t wnlymy dngGting wynntlghw), npp, thwunnphd,
oyunhuwlwl ynnbtlGghwih hpwywl dwub t: QuphlpG £ EGpgp-
wyny Jwulhyp, dnbtny dhomly, vnwGmdi t ¥ tGtpghw, U dwuGhyh
LGtipghw6 nunimdt E+ V:Gph E >>V , wyuw V -G Juptijh t wi-
wmbiub:

<tnhwpywoh pypnppuyu GniynGaepp GnyyGybtu Yupnn GG
wjlpwl vto LGhpghw unwlwy, np Gpulg htnwqu Jwpdnuip dhont-
ynd Jupbih £ nhnt] npybu ninqughd pwpdnid, nph ninnnipyniGp
wwydwliwynpywo L uyqplwlul dwulGhih gpiwl ywpwitwpbpny:
Uju nliypnid GnijGutiu Gpulp thnfuwgnnud GG dhwjGwy GmynGGtaph
htin, U wynubtu pwpniGuly:

Ujuyhuny dto EGtpghwyny dwulhyp, dwnltny dhentl, wnw-
owglinid E dwulhyGtph htintn [7]: Uyn dwulhyGbph npn? dwup, hwu-
Gtiny dhomyh dwybtplumgp U squpnqubwiny GJuqbtglb hp LGbp-
ghw(, nnipu Ypnsh vhoniyhg: “knipu pnynn dwulhyGtinh whyntGught
pwpfunudp sh Gupugpynd mpnhiwl yhdwjuwgpnujul mbunipjudp
nnynn pwuniny: Uyn Gpypnppuju b dwuGhyGbpp nnipu G6 pognud
dhonijhg wnwytjwytiu nhiyh wnwe” uyqpGujub Jwulhyh pupdiwl
ninmpjudp (GY. 9):
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L. 9

‘LniynGGtph npn2 thnfuwgpbignipniGGbp Yupnn GG (hGhp ny
wnwdquiub, b wjn phypmd JunwowlGwl 7 dhqnGGhp, npnlp
(inij)Guybtu Yuwulwlyghb hintinh wnwowgdwln:

Uyu wiipnne wpngbup wlnud t wn Jups' 10722107 ypy: <bnb-
nhg htwn JdlwgnppuyhG dhoniyp Wlnmd E qpgnywo Jhdwynud:
Qpgniwl LGtpghw( pw)yfuymu k popnp GniynGGtph dholt hwjwuw-
pwswth, b wju gngnmip Yyipwgymd E GnynGGtph, ¥ pywGwGtph b
wytih owlp dwulGhylbiph wnwpdwip: Uju wdpnng wypngtul plpw-
(nd £ wybih nubnun 10" - 10" Juwynyjwbh pGpugpmu: Uju tpy-
nnpn dwup Yngymd £ gninppugdwl wypngtiu U pGpwlnid £ hgnuinpny
tinuGwyny (GY. 10):

~ "

r’d %

vl 10

Jtntnu-qninppugdwG vnnbjh Yhpundwl whpnyph unnphG
uwhdwlp ujuymd £ 100 Utd-hg, ptlniq wju wmhpnypp qwy Gyuw-
pwgnynid Gl oyunhlwlwb dnptiny: EGipgtimhy YytinhG vwhiwln
ntinlu 62qphwn hwjwnGh sk:
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Glpwnnymu Ep, np 6o LGtpghw)ny dwulhyh thnfjuwqnbignmpjnt-
Gp dhonmymu sh Jupnn vwhiwGuwihwlyytp tpuyh thnfuwgntigne-
pjudp, wyp whwp L dwulwlghl Gpw dwlwwwnphhG pGlwo wyl pn-
np GmYnGGtpp, npnlGp wpgbjwthwyymyd GG junnpnjuyh dto, nph
npwiwghop npnpymd £ 7 dtgnGh Yyniwywnbyuwl whph Gpyuwpne-

h
pjuip’ 4 =——~1,46 107" u: Ltnwqu hnpdwpwpwul nunid-
m_c

GwuhpnipyniGGtpp gnyyg wmytighG, np Wko Latpghwltpny dwulhyGtph
thnfuwqnbtignipynip dhomyyGtiph htim hGwpwynp £ pwgwwmpty htink-
nu-gninpwgiw dnntiny splngpltiny funnnjuyh dnnkip:

LtnbnuyhG wypngbuh hwyjuwpyh depngp (UnGub-Gwningh hwp-
Juplltp): Jdbpunmd Gupugpjuo  hbntnu-gninppugdwl  dnnbp
owwn wupqgbgywo bt bpuwulnd wypngtup Giupwgptine hwdwnp,
oquynid Gl unnfuwunhy wypngbuGiph wtumpyniGhg: Fw Yuunw-
hwljuwl nhwptph Wkpnnl £ jud UnGunb-Gunnjh dtpnnp: Wyn dbpn-
nny Juuwpymd t hpwwl wypngbulGbph dngbjuynpnud: Opytugh
duuwynpyh hpwywl wuwnytpuwgnd nput ypngtup dwuhl, Jupnig-
ynud £ wyn ypngtuhG Giwl mbuwyuw6 dnnby, b dnnbih ywpwdtnpb-
nh yuwiwjwlywb punpnipyuwdp, npnlp pGnipugpnid GG YnGlypbkn hpw-
Jhdwy, htmwgnunynud GG pninp hGwpwynp Gpbpp: Ujdd mbulGhip,
pt hGywbtu Yuptih £ Gupugply dwuGhyGph thnfuwgntignipynilp
dhonijh htin:

Lwlh np phnwpyymd t ko LGapghwyny dwulhyh pwpdnudp dh-
ontmu npnpwlh htmmwqony, ntunh wnweohlG htipphl wtwp t npnpyh
dwulhyh’ dhonl dwbhm Ybwnp: Lwjwd ph np Yhwnmd JwuGhyp
ydwnGh dhonmy, Gpuw htwnmwghop wmwnppbp YhGh, b hbmbwpwp nmwp-
ptin YihGh thnfuwgnnn GmlynGGatph phyp: Wn thnfuwqnbgnipyniGGtph
phup pmlyghw b Ywhgwo GrwlwgnmguihlG htnwynpmpyniGhg:
Mupgnmpjul hwdwp pnmGynd £, np dhomYyp qlnuadl t, b Juyk-
nunyph Ypw wlnpunuwpdmd wmtnh sh nGhind: Uju nhiypmy dwubh-
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yh' myyuy Grwlwgngujhl htnwynpnipjudp dhont dnbtnt hwjw-
GwlwlnipyniGp Ynpnpyh wyl jwyGuyuwb Yupguwoph dwybptuny, npG
unwgynd £ gnilnp quulng hwwnbim nbypnid: Gqubh pwnughnp
ytipgynud & hwjwuwn Gpuwlwgnigwjhl htnwynpnipjuGn:

Ujuyhuh dnuinbignuip dhpw £ ubko EGtpghwyny dwuGhyGtph nbw-
pnid b sh gnponud thnpn EGtpghwyny dwulhyGtph nbhwpnid:

Uhonily dwnlinn dwuGhyp hwjwuwnp hwjwlwywbnipjudp jupnn
E dhoniy dwnlby jnipupwlysjnip Yhnnd:

1. UwuGhyh® dhomly dwmbhim Ytwp npnpynd b judwjwlub
pytinh wnynuwyny Juwu nnytnwjh dtpnnny: 4pw hwdwp qlnh dw-
ytptup pwdwlynd £ hwjwuwnp dwutinh, b wjlnthtnb fuwnupyynud
G0 wyn pninp dwubphl hwiwwwwmwufuwlng pytipp: Opny nhwpb-
pnud htipunmpjul hwdiwnp ny ph Yupglnwd GG dhoniih nmwpwowywb
wwwnybtinp, wyp wyl ypnytunnd G6 hwppnipjul dbe, U jumwpynid L
pwdwlmy hwiwytlGunpnl powGGtph wjGwbu, np onuyltinh Ywyb-
ptulbtpn GnyyGp (hG.a [7]:

2. Ujlinthtwnb whwnp b npnptip dwuGhYh Jugph tpupnipjniln
UhGsb wowohlG thnfuwgntignipymGp: “Fpw hwdwnp whwnp L pdwGwg
dwulhyh wquun GmYynGGiph Yypw gpdwlG Yupjwopltph dwuhlG
wnyjwyltin:

UjG thwuwnp, np thG9h dwubhyltph EGipghw6 hwynbh £ U npn-
owlh, ntinlu sh GuwGwynd, np wlhpudi)mmpmi sjyuw nGhGwnt
thnfuwgpbtignipjul Yupguwoplbn wwpptp EGGpghwltph nhwypmu:
Opw wuwndwnl w)h E, np GniynGGapp shomymy niGtl npnpwyh hd-
wniultin, npnGg ywwdwnny pwjuynn dwuGhylGtph hwpwpbpuyub
LGtpghw( thnfuynd k pwwnm G0 mhpnypmd” Jupujwo dhomYyh Gniy-
nGGtph pdwniuGbph ninnnipjniGhg:

Npny wtuwwmwlplhpmd dhGsk 400 UL tGipghwih hwdwp
nwnppuwiuwl yupjwoph Juujwonipnilp dwubGhylph hwpwpbpw-
Juwl wpwgmpyniGhg Yyapgynid L htnbywy mtupny’
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_ 10,63 2992

C o = 5 + 42,9 dpaG,
= 34’21 _82 + 82,2 upl:
p ﬁ P

Uto tGtpghwGbph mhpnypmd o -G wwn phs £ thnfuymd. tph
LGtpghwG thnfuymd £ 10 wiqud, wyw o = 1,50, wjuhlpG’ thnju-
Ymd £ 50%-ny:

‘LniyinGh wquw Juwgph tpupnipynilp dhonmymd npnpynd L

A= L pwlwadlny, npntn p -G GoiynGGuph fpnmpmGa t, hul

PO
O -0° gnuwl dhohG Yupywopp pun wypnunGGtph b GtyunpnGGhph:
Opwbtugh npnzdh wyn Yupguopp, wwp b hwynh (hGh GoynGatph
hiwnuuwjhG pwyfujwonmpynilp thoniynuwi: Unynpwpwp ytpgynud k
dtnth pwunudp: Uwluwyl pwqiwphy thnpdwpuwpuuwl wpnynilp-
(tphg vnwgynmd k, np wyn pwunuib niGh qunuuywl pwfujwont-
pjwl wnbtup: Upwlhg htimund £, np dwulGhyh thwunmwgh Jugph tp-
JunpnipyniGG EpuynGtlghw) Gyugnn nilGlyghw k, htmbwpwnp unpbh
L Ghipyujywgll] x = =4 In K wbtupny, npntin A -G Jugph shohG btp-
JupmpymGG t, phuy K -G [0-1] mppmypmd ytipgywod Judwjwulywb
phy: fvwnunpybtng wyn phyp’ Jupbih £ vnwlw) wyG tump, npntn
wmtinh ymGtGw wnwohl pwfumun:

3. UjGnithtmnb wbtinp L pGunnpt dwuGhyp” ypnunG Jud Ghpuonpnd,
nph htin mtinh £ mGGGnd pwund: 9pw hwdwp wtnmp t Gupwqpyp
phpwju-thonmyh GniynGuwyhG Yunnigywopn, wjuhlpG GhynpnGunpn-
nnl hwpwptpwlgnpjniln:

4. Qwonpn puwynid npnpymd GG pwjudwl wuwpuwdtnpp, wy-
uhGpG' dhonmyh GniynGh hdwnyuph niqnnipjnilp, gpdwl wGyynibp
qulqwoh YtGwpnGh hwiwywpgmd b uyqpGuwywl hwppnpjul
(uuniwdp (wyl npnpynid £ hwpjwonn GniynGh b phpwiu-GoiynGh
hiwniubtnny), gniwl hwppmpjuwl wwnijunn:
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Gpl dwulhlyh EGGpghw6 Who b dhgnGwoliwb LGtpghwjhg, w-
ww whwp b npnpty wyn wypngtiuh hwjwlwlywlnpnilp b htnmwqu

qupqugniin:
Spiwl wlyynmGi puptim dwdiwlwl wlhpwdtyn t pdwlug

gniwl nhpbiptiGghwy Yupfwopp wwppbp EGpghwbph nhupnud:
Onpdwnpwpuwyuwl wnyjwiGbpp innupyymu GG htnbyw) pwGwauny

do (0)
dQ
Uju pwlwdimd 4 U B gnpowlhgGhpp $niGlghw b6 Yuiuguo
(mlnGh LGhpghwjhg, e wwpptp GG pp U #p gnnuiGhph nhwpnud:
Gpt thnfuwgntignipjul dwdwlwly oGymd GG 7 dhqnGGhp, w-
wuw (pwlg wquu Jugph tpiupnipynilp npn2tine hwdwp wmpynd k
Gpulg gndwl YupguwopGuph tdwhphy Juwiudwompymbp pwfudnn
dwuGhyGth pnhwGmp EGknghwhg (7 ) U hswniuhg (7).

o; ~(y—1) 6pG, z7n, z* p gpmup.

zc(Acos49+Bsin39+1):

o~ (7/—1) UpG, 7 P, 7 n gpnuip.
2
a n
o'y~ 7d Yulmuip:
/4
Gpp juunupjwo b pwhudwl YhGtnhy pGmpwqnptph plGunpne-
pjnl, nhnwpyymd £ Nwnithh uyqpnilph wmtuwGyniGhg wyn thn-
fuwgnbgnipjwl hGwpwynpnipyniln: Gpt wwpqyh, np thnjuwqntigni-
pjwlp Ywulwlygnn GnilynGGtphg dtyp dtnp L ptpbkp hdwniqu, npG
wytith thnpp &, pwl npnpywod £ dtpdh vwhiwGGtpny, wyw wyn nbw-
pnd plnniGynud k, np thnfuwgntignipyniG6 wpgbpywo E: Mwunwhnmd
L, np GniynGh quqph tphupmpynilp gh wwpthwiynud dhentlh swihb-
nny: Uyn nhiypnid GnyGutiu thnfuwqgnbgnipniln sh nhunwnpyynid, wyp
dwulGhyp Yupmd wlglnd £ dhoniyp wnwlg thnfuwgnbne: Unwe-
GwjhG dwulGhyh pwupddwlp gqnigpGpwg’ dhoniynud wdnid L Gpypnp-
nwjhG dwulGhyGbtph pwlGuyp, npnlg pGpwgpnp htmmwgnunynid t GniyG
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tnulwyny wjlpwl dudiwluly, dhGsk Gpulp ;GG pnud dheniyp, jud
dhGsb Gpwlg EGipghw( sh nunGmy wybih phy, pwl Gwjuopnp
nnyuwo Lakpghw:

Ujuyhuny UnGunb-Gurnih hwpgupyl wipnnonipjuip Junpth
E GipYujwglb) htimbjwy ufubidwjh dhongny [7].

dwulGhyp' dhomy pnyjunpjuo pwfudwl
dwnlbn Yhwnp ntiwypmd htinbby 1-hG L R
l 2-pn dwuGhyGhph
wquun Juqpp vhGs wpgpuo pwfutiwb
wnwohl pwhuntd [ nhiwypnid Gnp Juwgph
pyupnipjwl
l npn2nii
3
dhg. Gnily;. whuyp,
Gpw EGhpghwi b S gpiwl wilyyniln q.
Jupddw muy. 4. hwiwjwpgnud
dwulhyh -
dh(; pwpumip > Mwnpp
LGtpghwG i )
pwhunutha htnn ulqpnilph
umnnigniip

Gnp dwuGhyp nnipu £ quijhu dshonilhg, gpulgymu GG Gpw YhGt-
wmhy LGipghwG U nmipu pnghnt wllyynlp uvyqpGuluwG dwulGhyh
wpdiwl monnipjul Gyuundwdp: Ujuyhuny, tph fuwnupyytl dto
pyny dwulpyGtn, Jwptih £ vnwlw] ypngbuh JhdwlwuwqpuyjwG
wuwwnybpp:

Jdhpp Gyupugpyuo dnnbny Jupth £ unwlw; dwuGhyGhph ny
wnwdquiul thnjuwgntigmpjul YupJwopnp, tpypnpnwjhG hbnb-
nwjhG dwuGhyGtph fuqup, wGymniGughl b LGapgtnhy pw)undp,
ulwgnpnuyhG dhoniyGtph pwpfunidp’ pun 9ipdwhl qpgniwG EGtp-
ghwjh: Uju wdtlh hwywumhnpnip yuuqwo b uygqpuyul yu-
puwitwnptiph §hpwn plnpnipyniGhg:
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UnGwnb-Ywnnjh hwyjupliipnd oquuugnpdynn dhonijh wyw-
pudbimnptpp: UnGunt-Guwningh hwpqwpyGiph hwdwp wpunp &, ph
hGsuwhuh wwpwdbtnnpbp 66 yepgynd sheniyp Gupwgpbnt hwiwn:

Unwohl htpphl npuytugh npnpyh, pb dwulhyp hGyyhuph dwlw-
wuwph £ wlgh shonimd, whwp £ mpgh GoyinGGbph funnipjuG pug-

funwip, shentynid” p(7)-p, pwéh np A ~ L yufugwd t shemyh
po

dwytinlunyph nhpniqujulnipyniGhg: Unynpupwp hwyywnyGbph dw-
dwlwly oquugnpdmy GG dhonmiynmd GmiynGGiph hwjwuwpwswth
pupfumdp b A -G uvnwgymd . hwunwumn G pnnp GmynGGaph hw-
dwpn, npnlp vhonty Gl dnlmy GQuwGwgnigwjhlG mwpptp hinwynpni-
pjniGGtpny:

Uhomyh 2wnunjpnp’

b2
R=rA":

Swpptip hwpgwpylbpmd 7, -G yipgGnd &6 wwppbp wpdtip G-
nny, vyl wyl muwnwymy b 1,2+ 1,45 $u. mhpnypnud: <unnndy
niumuiGwuppmpjniGGtpp gnyg wytghl, np 7, -h plnpmpymip Jwwn
phs £ wgnmu htntnujhG dwuGhyGbph EGapgtumhy b whlymbGuhG
puwfujwonipjulG Yypw, vwlwjG thnfuynd GG dwuGhyGtph phup b
(pw(g pwthwlgbihnipjniln:

Onpdwpwpuwyuwl myjwiltph htmwgnunnmpynilp gnijg wmytg, np
(wywgnyyG hwdplylnuip vnwgynma t, tph yipgymu t nhpniq vwh-
dwltpny dhonty, npp dwytintnyph ypw fummpjmGp Gugmd k tpu-
wnltlGghw) optlpny: Onpdtinp gnijg mytighlG, np hwumwwnniG b thn-
thnfuwul funnpyniGGtpny wpjuwo hwyywnylbph dwiwlGwly wpn-
gtiuh Juupjwopn dhowlmd £ tpynt wlqud U hwdpGylmd £ pp m
pn pyughwunwdqulul wypngtultipnh YuupgwophG:

UjGnthtimb Juwm Junplnp £ hdwGwy dhonymd hdwnijuGbph pug-
funuin: Cwwm hwdwfu Yytpgymd L dtpdh pwpfunuip, vwlw)l qnjni-
pjniG niGh wyplGupulpwjhl puwpund’ qunuyuwl pwpfunuip: “bw
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hwiqbglini £ hw)yuwpyujhlG wpdtiplph piniw6p: OphGwly dhont-
ynd dko hdwynuubtpny GmynGGtph wewynmpyniGp hwlqbglmyd k
utio LGtpghwyny 77 dtqnGGtph wnwowgiwln, npp sh pluntd dbipdh-
quqgh unnkhg:

UpntG Gpytp b, np dhomymd dwuGhyph thnfuwqnbgnipiniGG
niuntdGwuhptijhu whwump £ hwyyh welt, np wyl pGpwlnid L ynnbl-
ghwwyhG gwpumy: UnGunb-Gunnjh hwyqwpllGopmd Japgynd E
ninnulyyn b ynnblghwjwjhG hnp, nph funpmipyniGp Yytpgynud k& hw-
Juwuwp dtpdh LGtpghwjhl” £, + ¢, -hG: €, -p GmilynGh uwgh Latp-

qghw( t dhgmymu: E ;-0 quuwo t dhomyh zwnuwnhg, htmbwpwp

V' -h funpnipjmGp GoyyGuytiv yufuqwo YihGh R -hg:

Uhpw sk, np ninnuiGlyni ynunblGghwjwyhG hnpp mwihu § pudu-
pwn wpnynilp, hwnjwwbtu gndwb nhpnighnG Yupgwopbtinh ntiw-
pniy:

Gpt dngymu £ nhdpniq dhonitjuyhl ynntiighwi, wyw wjl wg-
nnud £ wpnyniGpGtph Yypw, pwlh np pdwynijuwghl pwfudiwl yupw-
dbnpp dwytplnyph Yypw U dhemyh Gpunmd wwppbp b (hGnud:
NuunuiGwuhpnipymGGtipp gnyyg wytighl, np npn? nhwyptpnid wyn wWw-
puwdtinmpbpp mwppbpynd 6 10 wlquy: Uwytplmph ypuw wyG wyb-
1h thnpp k, pw( dhoniyh Ghpunid: LhpdhogmyuwjhG GnynGGtph pwnd-
dwl EGtpghwjh wyjuyhuh mwppbpnipynilp Jupnn £ dwybpunipughG
thnfuwqnbtignipyniGGtinh hwyJunpyGtph nhypnd hwlqbglty ny dhywn
wnryniGpGtph, Gpt yingyh ninnuGyniG ynntiGghwjwghG hnn:

{w9npn ny wwlwu Junplnp thwunp Shontjuwjhl wynnblghwih
hiwniuwjhG yuujwonipjwl hdwgnipyniG6 E: Bninp niunudGwuhpne-
pjmGGtpp gniyg GG wmwihu, np wnnbilGghwih funpnipjniln Jufujwo t
vhont Ynwd dwubhyh EGpghwjhg htmbywy wnlsnipjudp’

V,=f(E):
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V =50Utd, tpp F =10Utd, b V =10 Utd, tpp E >>10
Utd: Uju Juhumdil wyGhwynnpbl ngpubnpymd k, tpp nnumdGuuhp-
i 66 (V, N ) yus (N,2N) whuh ntwlghwGbp:

Gpt LGpwunpyh, np mpnhiwG wypngtunid dhoniyhg nnipu £ qughu
Uty Gbyunpnl, wuyw wjny GhpunpnGh 1phy EGipghwG dshenynd YihGh'
E =T +V(T),npntn 7T -G GtpnpnGh YhGtnhy tGtpghwd t: V(T)
6 Ywptgh b oGhpiupwglly htanljwy wbupny V(T)=—V +bT
(b > 0): Onfuwgnbignipynihg httn Ghynpnlp Junwlw pugnmghy
hdwnuu, b Gpw LGepghwG yudh AT -ny.

E' =T+AT+V(T+AT)=T+AT —V +b(T+AT)=E + AT(1+b):
UjuplpG GtpupnGh ppy EGepghwl thnfugmd t ny pb AT -ny, wy
AT(1+b) ny:

Gpt plnmiGdh, np & =1, wjyuhlpG GmYnGh wpymGuytn

5 m
qulguwop hwjwuwnp £ my § :TN (GnmymnGh  wpyniGuytin

qulqquop’ m” = %), www wnntlghwiitph pGupnipjul wyn
+

nwnpptipnipyntG6 wylGwnne YihGh thnpp whlyynGatph mwy gpnudGtph
nbypnud:

Onthnfuwyuw b wnntiighw G wgnmu £ Gub dhonyjh puwthwlgtih-
nipjul Yypw, npp npnpymd £ dhomyh htnn sthnjuwgnuo dwubGhyGtph
pUny: Fw Juhujwo b thnfuwgnbgnipjul ypuw Mwnyhh uyqpnilpny
wwydwliwynpywod wnpqbiphg: enthnfuwuwl wynntlghwih ntwypnd
htnmhwpgwoh GmynGp Yopwydh dtpbh dwhwpnuyGbph ynnidhg
wytih W0 hwywlwywlnipjudp, pwl hwunmwnmmG wnnblghwih
ntiypnid: Mwpq E, np wju wiklp Jupunp £ pipl dhoniyGtiph b hwp-
Jwonn GnynGh ng vGo LGipghwbtnh nhwpnid:

wonpn Juplnp wwpwibnpp htntnh dwpdwl tGapghwd t
(aneprus obpesanun): Fpwlny L wuwjiwlwynpjwo htintinh htinwqu
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qupqugnuin: Upjuwnwlplbph thd dwumd jnipwpwlsynip dwubh-
YhG htnunmd 66 wylpwl dwdwlwy, dhGsk Gpwlg LGtpghwl nun-
(nd E wylpwG thnpp, np hGwpwynp sh (hGnwd wyn EGipghwny php
shomlp: UhjmpnGGph nbwpnd £, =V, hul wpnunnGGph

ntiypmy whwp £ hwpyh wnbh) Gwb YnynGyulG Junquyjwi tGtpgh-
wi: UwlwjG thnpdtipp gnyyg GG mmwihu, np 0h pwlh mwuGyuy Ut t-
Gtpghwyny dwulhyGbpp ny pb nnipu GG poynd dheniyhg, wy) Jwl-
ymd b6 Gpw Ynndhg, b wyn LGipghwl mwpwglind b dhemyn (qng-
nnud | wjl): Onmumwdp 100-170 UL, LGapghwny wypnunnGGeph thn-
fuwgntignipjul niypnid dwpdw( EGtpghwl hwiwpnd £ 20 UL

Onpn ElGtpghwltpny htintinuyhG GniynGGaph ntiwypnid npnpwyh
ntip L Juunwpnd dhoniyjh vwhdwGibphg GpuGg wlnpunupdmip:
Uju Gplnypp hwlqbliglnid £ GpwG, np htnmhG hwppnipjul 69 wnw-
owlnd GG Who pyny htintinujhG dwuGhybtpn: Unynpwpwnp UnGunb-
Guninjh hwpgunpyGtpnid wyn Gpuniyypp wlwmbumy GG:

Ltntinw-gnnppugdwl dnntiing yupnnumd G6 Gyupugpty Gul
ny 2w ko EGtpghwyny 7 dhqnGGtph thnfuwgnbgnipjniGp shoniyh
htin: Glpwnpynud £, np 7 dbqnGh thnfuwgnbignipyniGG pGpwlnd k
(tjunpnG-wypnunn qniygh htan.

T+n+p—>N+N:

Onpdbiph htin hwibtdwwmnmip gnyyg £ wmwihu, np thnfuwgnbgni-
pjul hhilGwlwl Yuwbwp Yybpp Gogwol t, pbt wydd pGGwpyynd GG
Gwl dnnbGtp, npntn Yybpgynd E wybtith wn GnynGGiph hwdiw-
fudph Ynnihg 7 dtqnGGuph Yrulnudp:

UnGwnb-Ywninjh dkpnynmy htinkinh hw)jwplh npny wpyynGpbkp:
{upJupyltpp gniyg GG wwhu, np thnpp EGepghwltph nhypnid vh-
oniyh pwthwlgtihnipynilGp uygqpmyd wdnid £, huly httinn ujunid £ dnln-
unl Ytpwny Gugt): Wnwhuh ywhujwonipynilp puwgunpynid k Gp-
ynt wwwmdwnny [7]
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l. npnpuyh thnjuwgnbigmpniGGiph hwdwp wniw’ MNwnihh
uyqpnilphg pfunn wpqbipny,

2. tGipghwjhg Ywhgwo N -N  hnfuwgnbgnipymGGtph
Yupywopbtinh thnthnfunipjudp:

Unwohl wwwmdwnp npnpwh ntipn niGh thnpp tGtpghwGtnh nhw-
pnd, hulj Wko EGbpghwlbph nhypmyd wjl Junptih L wlntub: Gpy-
nnpn wwwdwnp jupbnpymyd L dGo EGepghwGbph nhwypnmy, ophGuly
400 Utd tGpghwjh phwypmd wpnunG-dheny thnfuwgnbtignipju
Yupywopl wytih vto E, pwl Ghyunpnl-dhomly thnfuwgnbgnipjuln:
Tw wuwjjiwlwynpwo b Gpwlnd, np xnp thnfuwgnbigmpijul
Jupwopp Gpdwo LGtpghwjih mhpnyypnid wyth WGo t, pwl pp thn-
fuwgnbgnipjwlip, htmbwpwp GhyunpnGh wytigniy niGtgnn thontyGb-
nh hwdwp wytih Who hwjwlwuwbinipjudp pGpwlnd £ ypnunnl-vh-
onil thnfuwqgntignipjniln:

o]
% .

/o (Eplpuymih.)

fa
<o

az
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O -G ny wnwaqujub gpdwl yuuipjwop k.
Gnwbhlyn gnyg £ nmwihu uyqpnd pwthwlgbihnipjul wdp b hb-
unn Gpw UnGnunG GJugnuip (GY. 11): OpnhGuwwnGhph wnwlgph Yypw

ytngywo £ hwpwptpuwl fupjwopp L ] pw(h np wwnppbp

tplp

htinhGwlGtp 7, -h hwdwp ybpgGnid GG wwuppbp wpdbpGhp, U hwdk-
dwunnipjwl hwdwp hwpiwp E jupuoplbpp Gnpdwynpty GG 7, -

ny hwyywo tpypwsuhwyuwli yupjwopbtnny: UhonmylGtph pw-
thwlgbihnipyniGp Gugnid £ dhomYyGhph qubGqywoh wdhG qngpl-
pwg: Uju hwpgwnybtinp juunmwpjwo GG dhonith hwumwwmniG fuwnni-
pjul ntypmu: Ghdpniq vwhdwbltp dinglbne nhypnid dhoniyh pw-
thwlgbihmpyniG0 wdnd b, npn nhyptipnid’ GnyGhuly 2 wiqud:
“mipu pngnn htininwjhG wpnunGGtph ( p ) b GhywnpnGGeph (72)

hwpwpbpuwygnipniGp uiuguo b phpwiu-themyh 7/p hwpwptpni-
pyniGhg: Gpt 72/p hwpwptpmpymbp thnpp b, wuyw htntnujhG wpn-
nnGGph phyG wytih gt YhGh, huy tpt 72/p > 1 (Gwlp ShemyGtph

niwpnud), wwjw htintnwjhG wpnnnGGeph phyp thnpp YihGh (GY. 12).
<tntnujhG dwuGhyGhph tGpgbnhy vybyupp Jwwm wy t: UG

JtiphG vwhiwlnd hwulnd £ dhGsb ndpwlnonn dwulGhyp LGipghwd,

huy unnphG vwhdiwlp vwhdwlwhwyynmd L dwupdwl EGGpghwyny

(GY. 13):
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MpnunGGtph niypnd whwp L hwyyh wnlh ynynbyub wpgbiy-
pn: LhjwmpnGGbph LGepgbwmhly vyblupp Giwl £ ypnnnGGhph LGbp-
qtimhy uwytiljunphG, vwlw)G 2tnjuo L thnpp tGepghwlbph whpngpp:

LtntnujhlG GniynGGeph hwonpn pGnipwgphsp Gpulg wGlyne-
GwjhG pwpundG t uyqpGwlwlb thGoh Guwmdiwdp: Uyl jufujwo L
thGowjhl dwulGhybbph LGtpghwjhg, dhomyh sunhtiphg U htntnujha
dwulhyGtph YhGtwnmhpy tGipghwjhg: Qppwl ko L htninujhlG dwu-
GhyGtph tGtpghw(, wylpwl vGo £ wGhgnunpnunipjnilp. thnpp EGtp-
ghwyny dwuGhybGtpp hwitiwwmwpwnp hgnunpny G6 (hGnd:

{wonpn Juplnp pGnipwugppsp dhomymd dGwgwd qpgniw
LGtpghw t (GY. 14): Uyn EGpghw Yuplnp £ hdwGw) dGugnpnwjhG
dhonijh himwquw dwjuwmwghpp npnp bt hwdiwnp: GpgniwG LGtpgh-
wjh hdwgnipnilp pniyp £ nmwhu wyu jud wyl mbunipjul vwhdwG-
Gtpnd npnptp dhonihg dwulhylGtph 9tpdwjhG wpdwynwin: Gph, p-
un Pnph wbtunipjwl, hpdwlwny uyqpGulul JwuGhyh LGapghwda,
Yunptith £ 62quunnptil npnpty punuwnphs dheniyh gpgniw EGtpghwd,
wwyw hbtntinu-gnnppugdwl dnnbG wyn hGwpwynpnipjniGp sh wnw-
1hu. gngniwG EGapghw6 hGupwynp sk npn2ty uyqplwwl ywjiwd-
Gtphg:

Gpb uyqplGuywl thGoh tGtpghwG 300 Utd-hg pwpép b, wuyuw
Yuipniy dtowlnd t Gul gpgniwG dhohG LGipghw6' U -G:

U, UkH,
500}

400

300 -

- i TR SR
50 w0 500 1000 2000 F, Uk,

vl 14
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§ 8 Uhonihh JhGwlwgpuiljuG dnnkyp

<Ltntinhg httun dhoniymd WGnd GG dwuGhyGtp, npnGg tGipghw G
oww phy £ mwpptipynd dhonmymd GniynGGtph 9tpdwjhG wpdiwb
LGtpghwjhg, b htntnwjhl (Utpptph) dngting hGwpwnp sk Ghupwg-
nti Gpwlg pwnpdnuip dhoniynud: Uju nhypmd wyhwp kL oqunyty Gnp vn-
nhthg: Uju Gnp dnpbjnud whnp b Gywpwqagnty dhonijh Juppn, nponid
qnympjnil mGh LGpghwyh phy pwlwympjudp wytignily, npp wuwj-
dwlwynpywo L htintinhg httnn WGwgwo dwuGhybGtpny: Uyn dwulhy-
Gtph EGGpghw( wpwq pwpfuymd £ dhonityh dynu dwulhyGtph thol
puqiwyh pwhuntiGtph dhongny: LUwl wmhwyh wypngbulbpp, npnbn
gnynipyntG mGtl pwqiwphy wquunipjul wunhdwbitp, nhuymd
LG Jhdwugpuyuwl mbuntpjwl vwhdiwGGipma [6,7]:

Uhoniymd GniyinGGepp GGpwpyymd 66 dtpih-Fhpwyh yhdw-
Jugpnipjwln: Lpwlp thnjuwgnni GG dhdjwlg htin, npp hwigbg-
(nd E dhohGwgywo dhonitjujhl wynntlghwih, nph htn thnfuwgnnid
E jnipuwpwGyynip GmynG: Uyuntinhg h hwjn Gl quihu shwiwulGhyw-
Gh LGtpgbunhy dwywppuyltpn: Guymb jhdwymi qubynn dhoniyh
hwdwp gnynipyniG niGh EGGpghwjh wonwybjwagniyyG wpdbp, nphg wyb-
1h dto wpdtipGtp dwulGhyGtpp dhomynmd stG Jupnn dtnp ptpt: Uy
uwhdwlp (btpdh LGepghw() npnpwyh & dhemyh hwdiwp: Uwlwyl
GniynGGtph vhol thnfuwqntigmpjwl 2Gnphhy dwubhyGbphg vh pw-
Ghup Juwpnn 66 mGbGw) dtpdh LGhpghwjhg Wko KGbpghw, U wjn
ntiypmd Gpwlp Ygpuytl dbtpdh tGtpghwjhg wybtih pwpénp LGup-
qtinh dwlwpnwyGtp: Gpt thony vngyh LGtpghwih wytigniy, w-
ww Gbpplh dwwpnuylbpp  qpunyuo YhGaG pun  Munyhh
uyqpnilGph, vwluwyG Ytpuh dwlwpquyltpp Yrpuwgytl wytih Jwwn
pyny GnlynGGtpny, b dtpih vwhiwlp Ynunlw wytih n wytkih nh-
dnuq:

Uhoniyh gqpqniwl LGipghwih wdahG gnigpnGpwg wybjulnd E
wjG LGpgtwnhy yhdwlyGhph phyp, npnlg thongny Juwmwpymd £ wyn
gnqnnuip: UyuhGpl® yuwd vty dwuGhy Jupnn L mbnuthnfuyty wybh
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pupdp EGbpgtinhy dwjwpnuy, Jwy tpyme dwulGhly' wybjh guop
LGtpghnhy dwywpnuy b wyiG: Nppwl pwwn G6 wyn JwwnpnuyGtpp,
wjlpwl wybih phy dwiwGwy dheonyp Yqunlyh wyn yhawyGbpmu:

Ujn yhdwybtinp pnipugpym GG Gpulny, np dby Jud dh pwGh
GniynGGatp Yupnn GG dtnp ptptp wytih Wko LGipghw, pwl thoniyh
Juwh EGpghw &, L nnipu qu dhonihg: Uwlw)l nw Jupnn L wtinh
mGtGwy LGtpgbnhy pnyummughwbbph 2Gnphhy, tpp YwuGhyh pd-
wniul ninnyuwo k shonyhg ntiwyh nnipu: Lwlh np ngpulp pmyumniw-
ghw(tn GG, ntunh Gpulg hwywGwlywbnipjnilp thnpn £, U nppwl dto
E dmyumniwghw(, wylpwl wytih thnpp L hwywGuwlwlmpniGn:

Uju wpngbiup GdwG E htinmyh gninppugiwl ypngbuhG, vwyjw)G
tpt htinnmyh dty dnitynyh qninppwugniip qquihnptl sh wqnmy YJuw-
phih otindwumhdwGh b Gpw dniynyGtph pyh ypw, wyw dhonilhg
GniynGh nnipu qup qquihnptl Guqbglmy £ dhomyh otipdwuwnh-
dwlp, pwGh np wyl hp htin mwbmd £ 6o EGtpghw: Uheniyh vwnt-
gnuip U GmymnGGeph pyh GJugnuip pwjwlwlhG pwpnuglnd GG
hwyywpyp quuwlwl gnnppugiwl nbumpjwl vwhiwGibpmy: Uju
ntiypnid GnijGuybu uumwhwluwl wypngtuGbph dtpngp pujwluGhG
htipnwglnud £ hwpgwnybtipp:

GQupunpwagnyG hwpg Lt Gwl wyu ypngbuh plipwgpnid dhoniynid
ptipinphGwidhjuywl hwjwuwpwlpenipjul hwunmwnmdwl hwpgp:
ClnniGymu E, np dhoniynid GniynGh gninppwugnuihg htin pipdnnh-
(widhjuywl hwjwuwpwlempnilp hwunwnmynd £ wybh pnin,
pwl wmtinh £ mGtimy dynwu GniynGh gnnppugnuip: Uwuwy6 wju hw-
Juwuwpwyynnimpjnilp sh hwunmwmymd wldhpwwtu htintinhg htiunn:
UjuhlpG’ htintinwjhG U gninppugiwb ypngbultph thel hunwly uwh-
dwl qnynipyniG yniGh:

Npny wyuwnmwlpltipmy Gapwnpymd tp dheniyh mtnujhl mw-
pwgmy (wGywiu dwubhybGtph dnnby): Wyu tpuniyypp qquith b npunlny,
tinp dhomyh otipdwuwmhdwlp pwpép t° 7-8 Utd: Gnyhwn hw)wupy-
Ghph hwiwdw)@ 4 ~ 100 qubqiuowghG pyny L E° =18 Utd
qpqniwl tGipghwyny pwnunpjuy dheniyh Yyulph wbnnnipymip
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10" qpy t, puy 4 ~100 qubquowghG pyny U E* =200 Utd
qngniwl LGkpghwyny Shomyh nhiwpnud Ty ~5+6-10%ypy: Sh-
2

nwjhG mwpwgiwl hhynptiqli wowewnyyty L wpwq ypnunGGtph b
o dwulhlyGbph vao hwywlwlwlnipjuip wnwowgiwl Giptipp pw-
guwnptint hwdwnp: Lwlh np gpgndwl EGapghwl wmbnujGwugynd E,
nunp dhowlnd £ dko EGipghwyny GniynGGtph gnnppugiwl hw-
Juwlwlwlnpjniln: Uyu dnnbp pwnm juy pugunpmd E 7 dtgnGGtph
wnwowgnuip b hwplw@ GniynGGtph Ynnihg Yyulnudp, npp hwiqbg-
(ind £ vhomyh mbinujhG mwpwgdwln:

§ 9 Uhonijhg dwuGhliph gqninpugdmG hundwp
Lwyunydh puwlwalip

UwuGhyh gninpwgnuip dhenihg hwiwljwpgh th ghéwlhg by
wj| yhdwyh whglbnt pywlmwjhG ypngtu k.

A—> B+a:

Uju wypngtiuh hwywlwywlnpmibp Gipuwjugymd £ htnljwg
pwlwadlny [6]

2
W s :77T|M|2p3, (*)

nputin O -6 JupgGwlwl yhdwybtph phy t, huy M -p A dhomyh’
nput. B yphdwyh whglm dwwnphguywl wwppb t: Uiy dwnphgu-
Jwl wwppp hwpytn pwjwluwGhG pwpg b, hul npn) ghypbpmd” wi-
hGwn: U6 hwpytint hwidwp Juptih £ oqunyby hwwnwl wypngbuhg,
wjuhGpl’ B dhomyh Ynnuhg npnpwyh LGpghwmn] a dwulhyh
Jjw Gyt wpnghuhg, nph htimbw Gpny wnwowlmi &t 4 Sheoniyp:
Gpt htintinhg htinn A dhomymd dGwgh) £ U qpgniwl EGbp-
ghw, U Gpw6hg qnnppwlnd £ @ dwuGhy, nph EGipghwG pGlwo t
E + AE wippnypmd, wyw hwjunwy ypngtumyd B dhomyh LGbp-
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ghw@ wtunp t jhh U —E —Q, npmtin Q-6 a dwuGhyh Juuwh k-
Gtpghwd & A dhoniynud: Uyuwntin hwpy k Gy, np puGuwduny Juphih
E hwpyt] hwjwlwlywbnipyniGp, tpt qpgnywo dhoniyh Yjuwlph wnln-
nnipjntlGG wylpwG 6o t, np wyn qoh wyGnipyniGnp 2w wytiih thnpp &
dwlyuwpnuyGtph dhol tinuo htnwynpmpjmbhg' AIAT ~h, [ ~ E ,
T
I' << (EI. —Ej): UwluwjG pwpdp gpgndw@ LGpghw mGtkgnn dw-
JupnuyGtph hwiwp nu wtnp sh mGaGmd, U hwdwpu AE = 7" : Uy
nhypnid VVA g-0 Jupnn b wwpmbwyt] fupwnp winuwdGbp wwppbp
dwyuwpnulyGtphg, npnlp pGywe G6 AE wppnypmd: Lwlh np wju
wpngtup unnfuwumpl wypngbu b, ntunh dshohGuwgiwl nhiypmd (dE
hGwntgpiw G nhypmu) wyn wlnwiGtkpp Yqpnjuwliw:
Cuwn nhnmwiwjhl hwjwuwpwynnpjub uyqpmGph’
WiPs=WsiPsp,

nptn P, -G A YhGwyGtph phyG t, huy p, -G @+ B YhdwyGtph
phyp:
Ujuntinhg

p
W= - Wiy
P

UwluyG 7, ZG(E)-%”ZG(E)- /E (Gnpdwynpwd dh-
m

wynp owjuih), npntn o(E)-GB shemih Ynqihg @ swuGhih
Jrubiwb yupwopl t, m -p° @ dwulhyh qubqyuon:

2E
W, =c(E) /;.%
A
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Uydd gqpilp 4 yhdwyGhph phdp” o, -G, U a+ B yhdwlyGtph
phun’ Py -G:

a+ B yJpsdwyGtiph phdp, tpp a  dwulGhyp quGmui t
(E,E + dE) ypdwynud, npnpymud £ B dhomyh SwlwpnuyGtph
funnipjuG (npnGp mGkG U — E —Q tGtpghw) b a dwulGhyh pu-
quyhl owjuwn (g6t funnipywl wpmwnpywny:

:M‘% (U-E-Q),

(277)
npntn g -G S uyhl mGtgnn ¢ Jwulhyh hwiwnp uvyhGwihl puqiw-
wunbhsG b g =(2S+1): P-G a twuGpyh pwnyué t, o, -G B
vhoniyh dwlwnpnuyGtph fjumnipynGn:

P -G A dhomyh dwywpnuybtph fpnnpymGa t° P, =0, (U) :

Ujuntinhg

Ps

_gA4nP’dP 0,(U-E-Q) o(E) 2E
Y e T
g.mEdEc (E) w, (U-E-Q)

W, (E)dE =

~n e U)

Uju pwlwadlp Yngynid £ Jwjuynydph pwlwdl: ‘Lpw wpunwont-
un Jwhiqwo sk npuk dnnbihg, htmbwpwnp w6 d2gphn pwlwdl k
[6,7]:

UwuGhyh LGtpqbnhy vyblunpp npntiint hwdwp wihpudtyn t
hiwbw @, (U)-G, G(E)-ﬁ U w, (U)-G: UwywppuyGtph funne-
pjwl puwpfumip’ Yujujwo gpgniwd EGpghwjhg, Ywuptih £ hwayty
Uhwyl vhoniyh npnpwyh dnntith vwhdwlGbpnud: Unynpuwpwp hwp-
twp £ dhonyp GHwpuagptyp Jhdwlywuwgpuiwb dngbnd, npp dheniyp
nhumd E npuytu hpwp htn sthnfuwgnnn dwuGhyGtinh hwjwpwont
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(btipdh-quq): dwjuynwybh pwlwdlh vty Yuntih L Gipdnoty phipdn-
nhGwdhjuywa Gnp $nGlyghw’ EGunpnuyhw: EGupnuyphwl npnpymy k
htinlyuy Yhpy'
S = K/no,

nputn K -G PngiwGh hwumwnmGa t (K=1.38 ¢ 10‘16tpq/u1uu1.=8.6 .
10‘5t11/u1uu1.). wju nhypmd plgniGnd Glp, np wjG hwjwuwp £ 1-p:
Ujuntinhg htimlmu t, np @ = e’ w-a uhoniyh yhawyGtph phya k:

EGupnuyhw( $mbGlyghw b ufugwo hwdwlupgh dwulhyGhph
pUhg U qpgniwi tGhpghwjhg S = f(U, A): Jwjuynuph pwlu-
0, (U-AU) _ S

0, (U)

S 1

dhiuwyh, aU ? : dwjyuynuph pwlwdbp plnpmbmyd bt htnbyug

dunud Junwgyp' , npntin, pun ptpdinnhGu-

Jtipg Gulywl mtupp

E+Q

W (E)dE = —g’”"(f;_l JEdE 5
nputin 7" -G hwdwlwpgh 9tpdwumhdwGa t: Uwluw)G hwpy E Goby, np
T-G &2qphwn sh pnipwgpmid hwiwjupgh otindwumhdwlp: 6qphn
ptininnhGwihyuwywb otipdwumhdwlp t-G, npnpymd £ hwdiwuwpgh
wquun EGapghwyh’ F-h wpmwhwjnnipyniGhg

P = j (U, A)e " dU,
0

npntn g = %: T -h U ppuluG t obpiwumhdwGh vhol Juw G wpnw-

1 1 1d dUu
hwjnynud E htnbju] wnGmpjuip —==-———Jlgt? —]: Ukd
) \ ) T 2dU[g dt]
1

gngnuiwG tGkpghwGtph nhwypnmd vnwgymu £ % =—:
t
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Ujlnthtimb wlhpwdtyn L pwgwhwyn duny gqpty © (E) -h wp-
wnwhwjmmpnilp: £ tGipghwyny dwuGhyh Juulmdp U - AU
qpgniw Latpghwym] Shentyh Ynndhg pupn b thnpdny ndjwp swihb-
1h wpngtiu £, npnghtimb hpwwlnid hGupwynp st untinot] qpgnywo
vhonuyGtinny phpwiu: UwlwjG Juwpbih £ wuby, np wyn wpngtuh
yupywopl wybh ko k, pwl s;qpgnywd dhoniyh Ynnuhg GnyG E
LGtpghwyny dwulhyh Juubiwb yupduwopn: Fw wywjdwlwynpwd k
Muwnyhh uygqpnilpny, wyl £ thnpp EGGpghwltpny dwubGhyGtph nbw-
pnd gnjnipjniG niGh npnpuyh dwwpnwyGeph Yypw dwulhyh Jua-
dwl wpqbip: EGpghwjh wdhl qnigplipwg wémd L dwlwpnwlyGtph
phyp, npnGg Yypw Jupnn £ wmbnh mGtGw; dwuGhyGiph nbqnGuG-
uwjhlG Juulnuip: Uwlw)6 wnweohl dtnnwynpnipjudp plnnilGynd E,
np qpgnywd b sqpgnywd vhoniyGhph Ynnihg dwulGhyh jubdwb hw-
Jwlwywlnipynibp GnyyGa t:

Guplnp £ pdwlwy Gub gnnppugnn dwuGhyh mbtuwlp: Pnnp
pwlwdltpp ¢hpwm GG pnnp whywh dwulGhyGtph hwdwp: Uwlw)G
G(E) -G mwppbp £ (hgpwynpwo L shqnp dwulGhyltph nhypnid:
UhjnpnGGtph thnfuwgnbgnipjul nypmd o -G vnwgymy E tpypu-
swthwlwl yupgwophG Juwnm dnun

o(E)=nR?,
U pwwn pnijy) E uhujwo EGpghwjhg:

Uju nhiypmd dwjuynwybh pwlwdlb pnniGmud E htwnljw) wnbu-

pp

2 _E+Q
W (E)dE _ gmERE ==

nh®
Lhgpwynpywo dwulGhyGtph nhiypmd wytinp b Ghipdniot] wlnuad,
nnp hwpyh L wnGmd dwuGhyh pwthwlgmip ynynGyub wpgqbijph vh-

ony:
Quuwlwl dYhfuwGhywb (hgpwynpyuwo dwulhyltph hwdwp
wnwihu k htnbjw) Jujunwip °
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14 E>V
_J%o 1-—)
o= E ,
0, E<V
npntin E-G dwuGhyh tGipghw £, V-G" YnynGjul wpobipp, huy o, -G
yniynGyul wpqbiph pwguywjynpjul nhypmd Yupjuwopl E
(00 = 7'[R2) :
Jwny t Gb, np pwGwdlh 0t tnGnn 77 9tipfwuwmhdwbp Yytpw-
ptinnud t gtpg Guju G vhoniyhG:

Uhoniyjh dwljmppulGhph fuunnpyjub wyuwpuwdbmpp: Twjuynuyph
pwlwadlh dte dwmbnn 7 wuwpuwitwmpp Juuywd b dhomyh qpgniw i
LGtpghwjh httn: @npdny vhpwm npnpynmd £ gpgniw G EGipghwG: pw
hwdwp Gupbnp £ htwéwg U -p b T -h dhol tnwd yuwyp: U = £(T)
Jwhujwonipjul mbtupp npnpynud £ wyn hwiwlwnpgh pipdnnhGudh-
Juywl hwunynpjmbGtphg: ‘LGwjwd ph hlsy dnnbny L Gupugpymu
thenmilyp, U = f (T ) $nlGyghwl nwpptp b jhGnod: Wjjwubpguwo dhp-

2 2
th-quqh hwiwp £ :iAE/_ 1+5L. T 5
5 - 12 ;

, b qpgnuwG LGtpgh-

wi’
AT

4E,

E'=U=E(T)-E(0)

P?
Wuntn £, = 2—

m
n(9 NY
Pf =—|—n—|
° R4 A4
Uhohl qubgyuowjhG phy nilGtignn theniyGiph hwiwp

, nputn Pf -n wnwybjugmjli hdwynyub b
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2

U=adT?, a=——
4E2 -

npunbin @ -G Yngynud £ dhomyh dwywpnuyltph funngpjuwl ygupw-
utinp [6]:

oS 1

GGty U -h U 7T -h uhuwompyniGhg b oquybtyny W = ?

wpunwhwjmnipnilhg unwgynmd t°

T = i Szja—U=2\/aAU+const,
aA T

w(U)=C-e° =Ce* U,
npuntin U -G YtipgGulywG dhomyh tGtpghw6 t: C U a gnpowlyhglt-

nn npnpnud GG dhonyh ququyhG dnnbih yhdwwgpuyjul hwwnyne-
pGGtpp: C -G b @ -G Ggphn hwyqupytp hGuwpuynp sk, nuwnh

npup npn2ynid b6 thnpdhg:

Gpti dhomyp nhugh ny pti wyjwubtipfuo btpih-quig, wjp npujtiu
yuwph, wwyu U (T ) JwhujuwompmiGp unwlmd E wy wnbup’
U =const-T*:

Gpt Jwphin ytipgyh npytiu mwwnmwlynn hwdwlupg (wnwig

2 7
owjwin thnfjubym), wwyw unwgymyd t° U =K~AATA, K =~0,1:
Uju mhyh nmwwnwlnip hwwnnty  thnpp qpgniw LGipghw niGtgnn

dhonGtphG:
Npnp htinhGuyGtp, thonyh hwdwnp plnmGting dtpih-qugh vn-

ntip, Ul (T ) -h hwdiwp YtpgGnid GG wy) ufujuwonipym G
U = 11—1AT2 —T+éA%T% :

Uj0 Jupbh £ hwdwdw)lhglty thnpdwpwpuywl wpnyyniGpGb-
nhG:

97



a wwpwibtnph pGunpnipjwl hwiwp junwpdt G0 puqiwphy
thnpdtin: a -G npnpynid £ hwpdwonn dwuGhyGhph thnpp EGapghwGb-
nh ntiypnid, npytiugh pugunyh wjl thnfuwgntignipjwl Ghpnponidp,
nnl pGpwlnid L wnwlg pununppy shomyh wnwowgiwG:

a wupwuibnpp Jupnn £ jupudwo hGh] dhoniyjh 9bpdwumpdw-
Gihg: ®npdtipp gniyg GG wmyty, np thnpp stipdwunhdwlGtnh nhwypmu
(14 Utd) a=0,05Utd’, huy pwpdp etpwump6wltph nhiwpnud
a=0,1Utd": Uty wy htnhGuyh hwyqupyepms a = 0,08 Ut
pwndp LGtpghwGbph nhiwypnid:

a -G ywhjwo £ Gwb dhemyh qubqyuohg: Gnynipynil niGhb n-
nnpwlh thnpdwpwpuwyuwl thwuntp wjl dwuhG, np dhenyh dwywnp-
nwlGbph fjunmmpynilp ywhwo E wyn dhonitih wmbuwlhg: Gtlwn dh-
ontGtiph dwlwpnuybtph funmmpjniG6 wytih dko k, pwl qnyygq-qnijq
dhoniyGtph dwjwupnuyGtphbn:

Npubugh hwpyh welGdh wyu thwuwnp, dJwwpquybtph fuwnnt-
pjwl pwGwdlh dby Ghpimoyt & 6 wlnuy’

0] (U ) =Ce Zm,

nputin 6 = 0 YGun shomYyGhph nhypmd, b 6 >0 Jyniu ShomYyGhpp
nbtypnud:

Uw pwgwupymu b dhonyGopmd GniynGGtph gqniyyquynpiwG
wprynilpny, b 6 -G Jupkip k YtipgGhp hwjwuwp qnijqugdw LGtp-
qhwjhG:

Guintiih £ Gub wyn wpnyniGpp hwyh welt]; C yupuwdtnph dh-
gngny’ plnmGtiny, np

Con=C_.,
Cy,=C._,=2C_,.

a -G yuhuqwo t Gwb gpgnduo dvhoniyh whlyyniGuwhG dnitiGunhg:
Gpt dhoniyp Ywlnud t dwuGhy, wyw wnwowlnd L pwnunphy th-
ontYy, npp dbinp L pipnud wGyyniGwjhG dndtiGw, b LGpghwjh dh dwup
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owhiwnmd £ ny pb dhomyh GhipphG wquwunipjwl wunhdwlGtnh

qngnuiw, wy) dhentlh wuntjnh gpuw:
Gph dwuGhyh phipwd tGipghwl hwjwuwp b £+ Q, wyw dwu-

1
Ghyh otipdwyhG gpgniwGp yhwiwwywwmwupuwbh U = E+ Q — 712
J
LGtpghw, npntin 7 -p dhgnmyh hGipghwjh tndkGwnG &, puy I-p° wa-
niGuyhl dndtGup: Uju niypnd htinbjw wpmwhwjnnpjniGhg
oS 1 d/no 1
— == —_-
dau T dU T
S=/Inw

b

Juungyp

1

—1

a)(I) = a)(I = 0)-e ure

wyuhlpG [ dndbGuny dhoniyh dwhwpnuyGhph funnpmiG6 wybh
Yinpp & I =0 dnitGunny Shom yh SwwpnulyGtph funmmpjmGhg:

a-0 whywo t Gulk gninppugnn dwulhyh mtuwyhg: Uj0 juwju-

Jwo Lt dtpdh dnnny GniynGGiph vwhdwlwyhl EGGpghwjhg

Pz
[E_ r =ﬁ] npG hp htpphG Yuwiujwd b wdjwy whwh GoilynGGhph

Uhg (P _ 31/—9‘23 p - ‘/—9’22) Lulh Ut GniynGh
= , = . wl nn n niwyn
puhg (P r 4 » =2\ 4 p np L

qninppugiwl dwdwGul shemyp YmGkGw 7#/p wmwpptp hwpwupt-

puygmpnil’ juwhujwo nnipu tiynn dwuGhyh mhwhg, htmbwpwnp dw-
YupnuyGtiph funmipymGp rhntugh” juuguo wyn duwuGhlhg:
Npny htnhGuyGtp gphnwpynd GG ¢ wwpwdbnph htnbywg

JwhujwonmpniGp  hgnuyhlwyhl wuhdtnphwih  wwpwdbnphg
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0 = %_i -hg (Gyupugpnud £ dhgmynud GbjnpnGitph hupwpbpu-
+

Juw G wytignyn).

a, = a(l -136/ A)2 (tjnpnGGhph gninppugiw G nhwypnty,

a,= a(l +1,30/ A)2 wpnunGGtph gninppugiwl nhiypmy: Uju-
wmtn 6 -G U A-G pGmpugpnmd b6 ulyqpGulwl shenlyp, huly a -G
yting Guyw G shomYn:

Qnpnppugnn dwuGhyGbpp LGhpglmpl b wGlynbGwjhb puwyfunod-
Ghpp: dwjuynwydbh pwlwdlp Gupugpmd L dhenijhg gnnppwugnn
dwulhyGtph LGipgtmhy uvytupp: Gapwnpdmad t, np uyqpGuwyul b
ytipg Guywl dhoniyGtph 9tipdwumhdwbbtpp GniyGa ta6:

Unynpupwp Yphpunymi & £ U E + dE tGpghmply whpmyplb-
pnd qunynn dwubGhyltph hwpwptpuwl phyp, nph hwdiwnp hwp-
dwp L yuwnwnt) htnbjw) Gnpdwynpnuin [6]°

T+ gmo(E)EdE fELTQ
0 n°h
npuntn C -6 GnpiwynpdwG hwunmwnnG6 t: Uy nhypmd gninppwg-
Jwo GynpnGGtph uvytyumph hwdwp junwgyh htnbyw] wponwhwj-
nnipjniGp’
E -E
N(E)dE =—e TdE :
T

Uju pwlwadbhg Yuwpbih & npnpti, np GhjumpnGGaph YhGnhy
EGtpghw(, npp hwiwywwnwufuwlnd E vybiuph dwpuhimyd wpdb-
phG, hwjwuwnp £ 7 -hG: UhyjnpnGGtph dhohG LGipghwl npnpymd L
E= j: EN(E)E = 2T puGwalny;:

Lhgpwynpjwo dwulhylbph LGhpghnhy vyblupp unwlwin
hwdwp oqunymd tlp
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14 E>V
1-—),
oo lo=2)

0, E<V

Yunywoph mbuphg, b unwgymu k, np
E-V
N(E)dE =ﬂ£2e " dE:
E T

Uwtiyuph dwpuhdmdh wpdtpp npnpynud & £ =7+ V' hw-
Jwuwpmuihg:

LhgpwynpJwo dwuGhyGtph dhohG EGpghw6 Yghipwqubgh
GtjinpnGGtph dhohl Laipghw Eptlywnhy Ynynbywb wngbiph swthny.

E=2T+V:

Gngnjwo vhonijhg pwqiwphy dwulhyGiph hwonppujwlb gn-
mppugmip JhwGqbgh 7 wwpwibnph wlplnhwn  Gugqiwip
uybywnpp Gupugpnn pwGwdbh dhe: <tnlwpwp thnpdmd swihynn
gninppuwgnn YwulhyGph LGapghnhy pwpfujwonipynilp 9bpdwump-
Gwlh thnthnfudwG wdpnne whpnypny  hwyyqwo  Lhtpgtnhy
uytunnplGtph gnuiwpiwb wpnymGp t:

Qnnppugnn  dwulGhyGiph  wlyniGwihG  pwpujwompnilp
unwgyty £ dh zwpp htinhGwylbph ynndhg: Mungnn dhemyhg gninp-
wgnn dwuGhybtph whyyniGwihG pwunip YihGh pGyGnn dwubGhyp
hwppnipjul  Guwundwdp nqnuwhwjwg hwppmpjwlp  vhdbnphy
(quGgywoh ytGunpnGh hwyywpyujhl hwiwupgnd) b YnmbGGw dh-
Ghind wyn hwppmpjul Gundiuwdp 90° wiyjul mwy: LYuwo wih-
qnupnunipjniin  juwppgwo L dhomiyjh  wwmwmdiwl  LGtpghwjh

(M a)sz)h qnnpawgnn wuGhyh LGhpghwih (ShohG wpdtpp hw-

Juuwnp £ 27) hwpwptpuygnipymbhg: 8nyyg & wnipwo, np wdljni-
GwjhG puwpfuniG niGh hnnbywy wmbtupp

2p2
W(@)d@zl+%cosze :
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npuntin @ -G yuuynn Shomyh wGyyniGuipG wpuqmpymG6 £, R -p’
Gpw wnwyhnp, 7 -n° dwulhyh quiqyuon:

§ 10 bnG-vhonijuyh6 hnfumgqnignpyniGltip

bnG-dhonijwjhG thnfuwgntignipymGitipp dwiwlGwlywyhg vhont-
JuwjhG $hqhuwyh uplnpugnyyG dwub GG juqinwd, b Gpwlg niuntd-
GwuhpnipyniGp fuhun wpphwyw6 B Uy nuunodGuuhpnepniGGepp
Jupbih E pwdw by tpym minnmpjmGGtph" hnG-dhonijwjhl thnfuwg-
ntigmpyniGGtpn gwonp LGpghwlbtph whpnypmy U hnlG-dhonywjhG
thnfuugntignipniGGtp pwndp LGtpghwltph wmhpnyypnid:

Bwon LGtpghwlbtph whpnypnd hnl-dhemuyhl thnjuwqnbigni-
pjncGGtph nuunidGuuhpnipyniGGtpp ubpnnpbl uwywo G qipowinp
dhomyGtph vnwgdwl fulinph htwn [8]: Ujn pGwquyunmd Ghplw-
Jnudu nuunudGuwuphpmepyntGGip yuunwpmd G0 OnuwunwGh 9w Gne-
pjwl, Udkiphyuwjh Uhwgjw) ‘bwhwlqGtph b G-tpdwlhwih dtntpu-
unpy <wlpwybnmpjul wonwowwmwnp ghnwhbtnwgnuujul YaGwn-
nnGGupnd:

{uwynlh t, np vkq gpowyyunnng wuwphp juqiqwo t pGpudtin
83 phihwlwl wwpptphg, npnGghg wdkGwptplp opwohGa t (Z=1),
huy wdtGwowlpp” mpwp (Z=92): Lwpg b wnwowlny, pt hGyn k
phihwwl mwpnptiph pwlwyp vwhiwlwthwy, b hGsny g yujdw-
Guwynpywo: bpwlwlnd wpbquyGwihG hwdwlupgnid b dbp dnn-
pwyh Yypw wywhwywlyty G6 wyG wmwpptpp, npnlg Yywlph wmlnnni-
pym GG wybiih dko b, pwl Gpypwqlnh wmwphpp (4,5 dhihwnpn wwph):
Ujnwu mmwpptipp wipnhyty GG U s66 hwuby dGp optipp: Owpwlp, nph
Ywéph wlnnmpymGp 4,5x10° wwph b, o wpnhymd b w)l nwngh-
nwliunphy E: Uwlw)G wlgjw) nuph YtubphlG jupnqpugul uvnwlwy
wnwpnbin, npnbp sqwl pGmpjwb dte: ‘Liwl mwnppbphg L Yhemywjha
ntwunnpGipnd unwgyuwo wymwunnGhnoip (239Pu), nph Jhuwwpnh-
dwl wupptipnipynilp 2x10* wnwnph Lt MnmuunnGhmiG wpmwngpynud k
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ko pwlwlympjudp b LGipghwyh hgnpugniyG wnpympltphg dtya t:
‘Lnw Yywlph mbnnmpniln 3GshG £ mpwbh Yjuwlph mbnnnipjwl hw-
utdwwunnpjudp, vwuwyl shypnwpuwphnd wyG hufjwjuywb dhont-
pjnl £ Uyn wwwdwnny npwulhg Jupnn G6 wnwowlw) wmwpptp,
npnlp wybtijh owlp GG, pwl wnuunnGhnwip: ‘Lhpjuwyniu hwupg k
ulinud, pt npuntin £ phdhwyw 6 mwupptiph gnympjul vwhdwp:

& O~ wwphyuyht dngty

2 [ 92U

Esl

A3 |

2 |

=N 16

—*5 0 » 10 wwph
¢

?

Uhgnihh ghdnpumghu \

Z2=108 ‘\ ’
Y. 15

Judwdw)l pywlunwjhl tiayumpughGudhuwh b Obqtpdnpnh
wnbunipjul’ wnmin th hwiwlwng £, npp punjuguo t npujul 1hg-
pny vhonijhg b LiyunpnGGiphg, npnlp quGynmd GG thoniyjhg vkod hb-
nwynpnipjul Yypw: Unndh hhiGwywb qubguop YaGunpnGugywo k
Gpw dhoniynid: Cuwn (Faqtinpnpnh wbumpjw b’ Yupnn GG gnynipynG
niGk0w] Jwn owlp wwnndGhp, npnGg Jupquphyp ~170 L wyby k:
Uwlwjl wnnibtph gnympjwl vwhdw (b wybh dnun t, pwb uGfuw-
nbtunmd £ mbumpjudp, Gpwlg dhomyGtph wGliuwyniGnipjul 2Gnp-
hhy: MpnunnGGtph U GhyupnGGiph hwpwpbpwygmpjwl thnthnfunt-
pjniGp dhomynud hwlqbglnd L Gpw pwnhnwywphy wmpnhdwln:
UhjnnpnGGtpny dhoniyh hwpumwgnudp Gugtglimu b GhpunpnGGph
Juwh EGapghwa, b vwhdwGwihG nhypmud (E,=0) dhony gqnjnipjniG
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niGtGw) sh Jupnn: Loyl duny, ypnnnlng hwpunwgyuwo thenily (k-
nh vwhdwlp npnpynid £ E;=0 wwjtwlny: UhentyGtph hwdwp by
wy] vwhdwl yuwjiwlwynpjwo t Gpulg quiqiuowihG pyny: Owlp
vhonuyGtinh gnynipjnilp ywjdwlwynpywo b Gpulg” tpynt b wybh
ptiynpGtph wmpnhytnt hwjwliwlw lnpjudp: Ujn Gplunygpp Ynsymd £
vhonityh hGpGwlwd pwdwlnd: Unwohl wlqud nhnyty L nipubh’
tpym hwjwuwp dwubph pwdwlmip Y. U. Mbunpduyp L Q. .
dynpnyp Ynnihg1940 pYwlywlhG LEGhGgpunmy: OipwGh Yhuw-
wnpnhiwl wuwpptpnipynilp pwdwliwl wpngbuh Gundwdp 10"
wnwph L MipwGh hwpunpujui pudwlndp hwymbGupbpgt § 1939
pdwywGhG: Ujn wypngtiuh Gyupwqgpnipjul hwdwnp L. PnpG wnw-
ownlty £ dhemYyh pudwliwb Juphjwjhl dnghip (ntu ke 30): Unnk-
i dwybptptmpwjhG jupquwompjul mdtpp, hwiwqnbing wpn-
nnGGtph dhol gnponn YnynGyjul qulnnuywb ndtphl, wywhnynd
LG dhonyh qlnwadal wmbtupn: Gph wjn tpynt nidtiph hwpwpbkpwygm-
pjwl plpwgpnd uphip (Ghonyp) dtnp b ptipmd Yphnhjuywl nb-
bnpiughw, wyw nqu hwlqhgimy k Gpw' tpynt pynph pwdwlyb-
iG: UYyGhwjmn t, np Yyphnhyuwyuwb gipnpiwghw dbinp phiptijnt hw-
dwp wlhpwdtpn £ dbhowglhp dhoniyh uyqpGuyul EGtpghw:
Q.(nwdlb b phbnpdwgguo vhomYyGtph EGhpghwltph wmwpptipni-
pjwip wuwyjdwlwynpgwo t dhenmyh pwdwinuip juwthwlng wngbijpp:
‘Llwnphg tpumd k, np 238U—h wlyGpwppwjhl pwdwldwl hwdwnp wi-
hpwdbt)wn L Gpul hwnnpnt) (pugnighs 6 UL b wiytg LGapghw: Uw-
JuwjG nipwGh dhoniyp Ywpnn b pwdwlyly Guwb hGplwlwy, wnwlg
Inugnighs EGtpghwjp® pmGhjughG wigmd Juwmwnting wnpqbijph dh-
ony: Mipwlh hGpGwlwd pwdwlnip jwwn hwqugynin tpunyp E
WLy pwdwlnmd 10' nwupjuw pGpwugpnid): Uytih owlp dhonyGhpp
ntiypmyd wnqbiph pwpdpnipjmGp Gugmau k, b htmbwpwnp GJugnid k
vhonityh Yywlph munnnpjnilp hGpGuwyuwd pwdwliwb Guundwdp:
Yuhbnplhmd wmwpph (6sCf) Yhuwwumpnhdwl wwpptpmpjmGn 80
wnwnh k, huy wybih dGo yupquphy mGhgnn dhonyGpl wiuymG GG
nunlimd pGplwjuwd pudwidwl Guuniwdp. jhuwwmpnhiwl wywup-
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phpmpyniGp nunGmud £ 1077 gpl: Q%w by dwlp ShemyGhph YwgnGne-
pjwl vwhiwG6 b (GY. 15): dwiwdw)l mbuwjuwl qGwhunmwyuih’
wynuhup Yhuwwmpnhdw G ywppbpnipjuwdp odwnywo t 106 jupquphy
niltignn dhoniyp: UGhpwdtyw t GpL, np 94-100 Jupquphy niltignn
npwlunipuluhG dhoniyGtnh Yhuwwmpnhiwl wwppbpnipyniGGtpp
unwgywo thnpdlwuwl dwiwywphny, jwy hwdpGyimd GG Yuph-
1wyhG dnnbth YuGfuwnbund GhphG:

Uwlwjl htimwqw nuniiGuuhpmpyniGGipp gnyg wnytighG, np
nipwGh b wytih dwlp wpwumpuwlwihG mwpptph dhenyGhpp hGp-
(wlywyi pwdwlymy GG Whijwlghg fuhunm wmwpptipynn Gpyne Yhuw-
unpnhiwl ywppbpnipyniGGbpny: Quppwbh Yhuwwpnhdwl wywppbpne-
pymGGLnG GG 10" wmwph b 0,3 10° yny, npnGp wmwppbipynmd GG dh-
yjwlighg 10°° wlquu [3]: YhuwwmpnhdwG Gpyne wwppbpnipjmGGtpp
gnyyg G0 wmwihu, np nyju) pwdwlnudp wmbnh £ nuGtGmyd dhoniyh Gp-
ym YuymG yh6wyGtphg' hpiGulywG ypSwyhg 10" wwph Yhuw-
wnnnhdwl yuwpptipnipjwdp b hgndtip yhdwyhg 0,3 10 Uny Yhuw-
wnpnhiwl wwpptipnipjuwip: hpGwlwd wpnhynn hgndtp yhdwyp
hwljwund £ uphjwjyhG dnntjhG, pwbh np quuwlwb uphth ntidnp-
dwghwjh dwiwlwy st6 Jupnn (hGh dhowlljw) yhdwlyGbp: Ujunb-
nhg httmlmd t, np pwdwlGiwG pGpugpmy nputnpymd £ shomyh Gp-
phG Yunnmgywopn, npp hwuwumpjub dt9 t JuphjwyhG wquwwytpu-
gnmuiGtiph htim: Uhgniyh GhpphG unnigwopp Junnn b fjuhuwn thnthn-
futip Gpw hGpGuwlywyd pwdwliwl hwjwlwywbnipmnilipn: Uwlpw-
Unyhwn nuumiGuuhpnipyniGGtnp gniyg wmytighG, np dhonyGtph yuwh
EGtpghwGtph thnpdwpwpulul wpdtplGtpp mwupptpynd GG ntuw-
Jwl Juluwwmbundltphg, b wyn mupptpnipyniG6 niGh nupnnppjuo
plnyyp (GY. 16): UnwybjugnijG Juuwh LGtpghwlbp nGhb w6 dhomy-
Gtpp, npnlp odnywo GG wypnunnGGtph U GhyunpnGGtph npnpwyh pw-
Gwynipjuwdp: Uyn dhonyltipp Ynsynd GG dnquyju b dhomyGtp, U nu
wwydwlwynpywo L wypnunGlGtph m GoyunpnGGtph jpugywo pw-
nupltpny: Uju hwwnynmpjnlp gnyyg E wmwihu, np dhonyGtipp, pun
hptlGg Ywnnigywoph, Jupnn GG wwnm wmwpptp (hGh: 1960-wywG
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pywquGGtphG, hwyyh wnlbiny pudwiiwb Yytpnhpjw) wnwldGw-
hwwnlympynGGtpp, untnoytg dhonYyGtiph pwdwiiwl vhypnuynuhy
wmbtiunipjnilp, npp ulnGuywngtg pninp hwjwumpjmGGtpp (GY. 17):
hGsywbtu jnipuwpwlsynp mbtunipynG, thypnuynwhy wnbtunipjnilp Lu
niGh Juwlhuwwmbubint hwnynpjniG: Cun wyn mtunipjul’ dnquyjwb
dhonijwjhlG pwnuwGpltiph JuyniGuwgiwl hwwnynmpjnilip gnpomd L
Gwl qipowlp dhonmyGtph mhpnypnd, b ypnnnGGtph b GayunpnGGt-
ph Z=108, N=162, Z=114, N=184 pyny pGmipwqpynn dhonilyGtiph
onipg qnjmipynil niGh « yuyniGmpjuG Ynqyuy» [8]: Uin YnqjulyGpmu
wnbnuywjywo dhonyGtiph fhuwwmpnhiwl wywpptipnipyniGGbpp fu-
nnn GG qquihnptl dtowGwy b hwull) hGsk dhihnGwynp mwnphGbph:
Ujuytiu untinoytg qtipdwln dhenmylGtnh qnympjul hhwnpbqp, npp
qquihnptl plnuwjltg Gmpwlwl w)fuwphh vwhdwGGbpp: hGywbu
Jnipupwlgynip wmbunpjuwl, wjGwbtu bt dhypnuynwhly wnbunipyjw
hwumwwnnidp Jupnn GG (hGh hhnpdwpupulul dwiwwywphny qbp-
owln dhomyGtph uvnwgnuip b Gpwlg hwwnynipyniGGtph niuntiGuup-
npnipjniln:

Yuphjuhb dngkpo] yonunbbghw) tikpghugh hudwp
punubpughb nunnulbbph pupunkquunpnud (Uk]-kpod)
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§ 11 Owlip dhoniYlikpp shwénipiwG nbwlghwGkpp

Utio pyny owln dhomYyGtp thnpdGwlwl cwGwwywphny unwg-
Yty 66 nmpwlh hgnunuh Ynnihg GyunpnGGtph hwonpnuywb Ywa-
dwl ntwyghwlbpnid vhonijwjhl ntwlumnpltpnud: Uyn Gnp Gniyihn-
Gtph Yhuwwmpnhiw6 d60 wwppbpnpyniGGtpp pnyp wmybkghG npulg
wnw(diwglb) ntwyghwjh dGwgwo wpnynilpltinhg b ntuntdGuwuhpbyp
npulg nwnhnwywhy wpnhiwG hwnynpmGGtpp: Uju tnubwynyg
hwjymGwptpyty GG Z=93-100 upqupyny wmwpptpp, npnlghg wdk-
Guowlnp *Fm hgnunnwG tp° 100 op Yhuwwmpnhiwl wwppbpni-
pjuip:

Uybih owlp dhonyGtiph hwymbGwptpnuip wju dhpnnny wGhGun
nupdwy hwonpn hgnunnyh' 258Fm—h swthwquwlg Jupd® 0.3 ddpy Yh-
uwwnpnhiwl wwpptpnipjwl wwwmdwnny: UL hGnbtGuhynipjudp
GtjinpnGwyhG hnuptipp GnylGybu syupnnugwl not] wyn fulnhpp:
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100-hg wybijh dto Jupqupyny wmwpptph dhwdnynuip hGupuynp
tnuy wpwqugywo owlp hnGGtph thnfuwgnbgnipjul ntwlyghwGb-
nnud, Gpp phpwhu-thenty £ dingymd ypnunnGGtph b GhyunpnGGtph hw-
dwiunuwip: Uwluwyl Gdwl wmhyh nbwlghw6tnG mGaG hptGg wnwGé-
GwhwwnympymGGtpp: LhympnGh gpuyiwl dwdwlwy Gnp thoniyh
qngniwl LGtpghw6 Yuqumd k£ 6-8 Utd: hul ptipl thgpuynpywd h-
nGGtph gpuyiwl dwdwlwly, hGswhuhlG GG hthnudp yud wofuwoh-
Gp, wnwowgwod vhomyl mbGhkbind £ 20-30 Utd gpgniwi tGtpghw:
Nppwl vEowlnud E hwpywonn hnGh yupquphyp, wylpwl wytih vko
EGtpghw £ wlhpwdb)m YnynGjul Juinnuywb nidbpp hwnpwhwnb-
1 hwdwn: Uyn wquwwdwnny dhwéniuwo dhomyh qpgniwd tatpgh-
wl wdnd E, b Gpw vwntgnudp wmtinh £ niGblnd GhyunpnGGtph jud
quuidiw pywlwnbtph wnwpdwip: Uuwlyw)l qpgnyuwd vhonyp dhwyG
1/100 ntiypnid Jupnn £ wowpt GhjunpnG, huly hhdGuywlnd w)G pw-
dwlymd £ tpynt ptiynph, pwGh np shonyh EGipghwG gipwquignid
pwdwliwl Ynynbjuwl wpgbipp: Mupg t, np EGhpghwjh wdp Ynpow-
Ghs £ Uhonijh hwdwp, pwGh np obipdwunhdwlh wahG qniqplpug w-
Gnud E nnupu pognn GhyupnGGaph phup, npnGg htin dpguygmd k. pw-
dwliwl ypngtup: OpphGuy, npytugh uwntgyh 40 Utd qponiwd k-
Gtpghwyny vhoniyp, wtwp kL Gpwlhg wnwpyh 4-5 Ghjunpnd, b wdkG
vh GtjupnGh wnwpdiwlp Yninbygh pwdwldwl wpngbup, hGsh
htimbwlpny thoniyh qnjuubdwl hwjwlwlwlnpnGp YhbGh
1/ 100)4‘5=10‘8—10‘10 [8]: hpwyhdwyp pwpnubnid t, pwGh np dhoniyh
otintwumnhdwbh wdhl qngplpwg (ugqmui £ pwnwlplbph Juyni-
(wglnn wqnbgnpjnilp, htnmbwpwnp Gugqmd £ pwdwldwl wpgbiph
pwpdnmpjnilp, b dhoniyh pwdwGbjhmpniGp fjuhun wémd £: Uju bp-
ynt gnponGGtpp juhun Guqtglnd GG qpowlp Yhonjh wnwowg-
dwl hwjwlwlw lnpynGn:

106 qupqupyny wmwpphg wytjh owlp wmwppbph unwgnidp
hGwpwynp tnuy, pp 1974 pyuulhG hwjmbGuptptghG «uwnp uhG-
ptigh» ntwyghwGbtpp: Uyn ntwlghwltpnd npybtu phpwfu oquw-
qnpomy bl «Snquiwl» ShemyGkph Yuymb hgmuunwytpp' ***Pb-p
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(Z=82, N=126) L **’Bi-p (Z=83, N=126), npnlp nipwyndoymd 6 dwlp
hnGGtpny: Uhwanipdwb pGpugpnid inquiju dhonilyGipmd GniynG-
Gtph Wk Yuwh LGtpghwyh 2Gnphhy Wko EGtpghw £ dwfuuynud tpynt
thnfuwgnnn thonyGiphg vty wipnnowwl dhomly Yytpwluwnnigtint
hwdiwp: Unwowgwd qtipndwlp dhoniyG odndwo t hGnd 12-20 UL
qngniwi EGipghwyny: ‘LdwG thoniyhG hhiGwywb Jhdwyh whglbmn
hwiwp pwjwlwl £ wnwpt) vk Jud tpynt GjunpnG:

«Uwnp uhlptigh» ntwyghwltpp hwonnnipjudp Yhpwunytghb
107-112 yupqupyny qtipndwlp dhemybtph hwjmbGuptpdwl hwdwn:
Ujn htmwgnumpjniGGtpp hwonnnipjudp juumwnpyty G0 S-tpdwGh-
wjh UqqujhG dhemlyuwyhG phqhuyh YhGupnlnud (GSI) U Snyhnjh
UqquyhlG YuGupnlGmd (RIKEN): Gpp thnpd wpytg wju dtpnnny
ownpdybtnt niyh wytih owlp dhemylGtph whpnyp' oquuugnpdting
wytiih owlp nipwynonn hnGGtp, Wupqybkg, np wnwowlnd GG wG-
hwnpwhwntijh ndjupnipyniGGtn: (Aipwynonn hnGGtph Jupqupyh
wdhl qnigplGpwg wdnd L Gpyne dhonyGtiph dhol tnuo YnynGyul
Juwlnnwliwl nidp, npp hwitdwmwyw6 E dhonyGtph thgptinh wp-
nwnnyuihG: 104 upqupyny mwpph unwgdwl hwdiwp oguugnnd-
yms £ 2®Pb+°Ti (Z; » Z,=1804) ntwyghw(, huy 112 Jwpqupyny
wmwnpph hwdwp’ 208pp+707n (Z, » Z,=2460) ntwlyghw(, nph niypnid
thwéniwl hwjwlwlwlnpjmbip, wnwohl ntwyghwjh hwibidw-
umnipjup, Glugnud E 10% wquis: {wenpn uwhdwGuwhwyndG w6k,
nn thwanjwd dhoniyh GhyunpnGGtph pwiwyp pugwlwlhG htnm k
wnbtunipjudp juwluwmbuwo Juyninpjul Ynqyuihg, b nu wuwj-
dwlwynpwo Lt ndpwynonn hnGltph GmymnGuwjhG junnigguopny:
Uju wpgbipGbpp hwnpwhwpbnt hwiwp wnwownpyytg qtindwp vh-
onijGtph unmwgdwl Gnp dhpnrn, npntin npybu phpwiu oquwgnno-
ynud EhG GhyunpnGuytigntyy mpwGunipwluhl mwppbpp, huly npybiu
nipwlnonn hnG 48Ca—n, npp YpyGwlh dnquyuG dhony £ 20 wypnwnn-
(iny L 28 Ghynnpnlny: ‘Liw hnfuwgntigmpym GGtpmd Ypyhl Yuyghm-
uh hnGh dnquyuwl hwwunynmpjmbGtph pGnphhy EGapghwjh dh dwup
owfuuynid £ Gpynt thnfuwgnnn dhoniyGiphg vty wdpnnowwG dh-
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ontl] Yytipwunmgtin hwdwp, b gtipdwlp dshomyh qpgniwl LGhp-
ghw( vwhiwGwthwlynd t 30-35 Utd-ny: ‘Liwl dhoniyp hhdGuwlywb
Jyhdwyh wlglGtnm hwdiwp wnwpmd L tptp GhjunpnG U quddw
pywlwun: Pwgh wyn Giwl gpgniwl LGipghwGtph nhwypnd nhinlu
wnluw E dhomyuwjhG punubpltiph wqnbgnipjniln, npl wybjuglnd L
qtipdwlp dhonijh gnjunbiwl hwywlwlywlnpjnilp: UGhpwdtyw L
Gyt Gul, np thnfuwgnnn dhomyGtiph quiquottnh wuhdtnphwjh
26nphhy Guqnud £ Gpulg dhol tnwd Ynynbjul Julnnulwlnipjni-
Gp (Z; * Z,=2000) npwlny hul dhowglbny dhwénipiwl hwjwlwlyw-
Gnipjm Gp: UyqpGuul ghnwhnpdtipnd wju dtpnnny qtinowdn dh-
oniyGtinh unwgnuip pwthwbynd Ep ughnuih hnGGuph thGeh thnpn
hGunbtluhympjul wywwmdwnny: Uwlw)l htnwquynd jmoting wyn
fulnhpp” yupnnuguwl wpdyty nhwh 660 qubquowghl pyny qbp-
owln dhoniyGaph mhpnyyp: Liwpwgpyud dtpnnny hGupwynp Gnuy
hwjmGupbpt] dhGsk 118 Jupqupyny gtpowlp thoniyGhpp: {wpy t
Gpt1, np uvnwgywd shomYyGtph Jywlph mbunnmpniGGtpnp gquihnptG
uto G0 JuwphwyhG dnnbny Juluwntujwoe dwdiwlwlyltphg: Onph-
Gwl hwjmbGuptpgwo 115 b 113 yupqupytinny qtindwln thoniyGtiph
wlph mbnnnipjmGatpp hwiwwywumwupwGwpwn 0.1 L 0.5 Ypy taG:
uhpjuynuiu unwgywo GG 29 Gnp dhomyGtph wpnhdwl dwuhG
wnyjuyltin Z=104-118 mhpnyypmu:

SpwluwyunhGhnltph wmhpnypmd hwymGwpbpjwo qipowbn vh-
ontGtiph hwwnympniGGtpp, Gpuwlg npnhdwl mbuwyp, LGipghw6 b
dwiwlwyn jwy hwdipaylind G6 dwiwlwlyuwyhg mbuwjuwl yuihw-
wmbtundGtphl: Oymd L, pt qipdwlp dhomyGhph «Yuynilnipjul
Unqyuyh» gnymipjul hhwynptiqp Yytppwwtiu hwuwmwwmytg thnpdlGw-
Juwlnptl, U nu hGwpwynpnipyniG Yuuw qquihnptl pGnuw)Gbnt dbp
wwwnytpugndGpp mwupptph dwuhG [8]:
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LbEnwGljuplkpp

‘Uhpuynuiu upbnpymd £ Gnp unwgywo mwpptph dhontjughG
U wunndwjhG qunmgywopltiph ntumiGwuhpnipynilp, npp pujuwjw-
GhG fuGnpwhwnpnyyg £, pwGh np Gpwlg Gptpp nbwyghwlbpnd pw-
JwliwGhG thnpp t6: Opubtugh qbpdwlp shomYyGtph wnniGtph pw-
Guyp wybjubw, wihpwdb)wn ' w) dhowglby *Ca hnGGtph thGoh hG-
wmblGupynmpynilp, p) pwpdpuglt] phghuyuwd dtpnnh wpnymGuwyb-
nnipjniln:

Unpnh ghnnwnbfuhjuywl qupqugniiGbpp pnyp junwl dkowg-
(61 thGoh hGuntGuhympniGp dnnwynpuybiu 5 wliqui: Shghuywb
utipnnh wpyniGuybnmmpniGp pwpdpuglbint hwiwp wihpudtym k
tiGtny qipowlp dhenyGtnh hwwnympyniGGinhg wpdwnmwwtu thn-
futiy thnpdh nnjwopp: ‘Lhpjwjnudu gnympyniG mGhgnn Whpnnlbpny
hwumwwnyty £ dhwy, np qgipowln dsheniyGtiph wmhpniyypnid gnynipyniG
nilh «juynlnpjuwl Ynqyuly», pwGh np ghnymd L Gnp unwgywo
hgnunuwGiph wmpnhiwl JhuwwywppbpnpyniGGtph wd GhjunpnGGaph
pyh wdhG qnigplpwg: UwlwjG gqnynipjnil yniGh dhomyuwjhG ntiwy-
ghw, npp pniy] Yuw uvnwlw) d6o pyny GhyupnGGaph wybtigniyny
(N=184) gqtipowln vhomy: LGwpwynp k' htmwquynd $hqhynultpp
YYupnqubwG *Ca nwnhnwiumhy thGoh thnjuwptl oquwugnpoty
wnwyb pwwn GGjnpnGGaph wytlgniy mGbhgnn nwnhnwynhy hnGGtn:
Uwluwjl6 Gepuyniiu nuunidGuuhpymd G0 wjy) dwliwwwnphGbp’ qbip-
owln dhonyGtp unmwGuwin hwiwn:

Gpt tlpwnptlp, np Gpwpwyyug qpdwln dhenmyGtnG niGkG
10°-10° wnwph Jhuwwnpnhdwl wuppbpnipyniG (mbuwlwl Jubhuw-
wmbumuibtin), wyuw sh pwgwnymd, np Gpulp Jupnng GG hwymGupbp-
Yty mhtqtipph wytih tphunwuwpn inpnpuyGtinhg tynn dwnwquplb-
nh Juquinud: Uytih dGo JhuwwwpptinmpyniGGtph nhwypnd hGupw-
ynp £ 2wwnm thnpp pwlwlynpymGGtpny qtinpodwlnp dhemyGhph qnjni-
pynilp tpypwqlnh ypw: OphGuy 108 upqupyny wwppp (Hs), npp
yupntGwynd Lt 180 GhjwpnG, phihwiwl hwnympymGGtpny 76
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Jupqupyny wwpph (Os) hninngl E: Pw wuywuwgmgyby k *¥Hs
(T12=%4nY) dhonmyh nuniGuuhpmipjuip: Ujuntinhg htimbnd k, np
tipt Os-hg mumiGwuhpytl Ginmph pwgwnhl wnpnhndGhpp, wyw
Juptih £ gGwhwwty 108 yupqupyny wwnpph pwlwynpmnGld wjn
(unymu: ‘LUw thnpdbip gpymd GG gwop $nlGughl jwpnpuwnnphwit-
nnud, npwtiugh qpulghyGtpp Wuwywnwwlgwo 1hGeG $nGwjhlG Gtyn-
nnGGtphg, npnlp Jupnn GG wnwowlwy Jnowwyuwnnmy’ mhtqbpuwljwG
Gwnwqujpltinh wqnbgnipjwl nwly:
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QL0kv GLLOLD

§ 1 Uhonijuwjhl nbwlghwlbpp womnbpnid

Cun duwdwlwluyhg wwwnybpwgmibGtph qnymipymG nlGhG
wuwnntiph b quuimhyultph wnw9wgnuin pugwwnpnn tpynt mbuw-
Yt Gtp: UnwohGl pnuwpdwlyynn mhtqtipph mbumpyniGa t, huy tpy-
pnpnp ququingynig wunnbtph U quuyumhyultph wonwowgiw i
wmtiunipjniln: Uyn tpiynt mbuwtwnbtipp dhdjwlg opqubuywl pwnpnt-
GuynipjniGG GG U Shwynpynid G6 «LwjlGwgnn Shhqippmyd wuwmnbtiph
U quiuyuhywltph wnwowgiwl mbunipjuwl» newlwyitipmu [2]:

UnwGdpl-wnwGdhG owlnpwlwlp wjn mbuwltwmbGbphG:

GnYylwjhl dwpihGGtpp’ dninpuGepl nt wunmnbpp, thquiwont-
pjneGGtpG nt dhowuwmnuwjhG Gympp, quuyumhluGbpnG nt npulg hw-
dwlupgtinp, Gymph whbqtpwwl gnjualbp GG, nunh GpyGwjhG
dwnuhGGtph wnwowgmuil m qupqugnip Juquind GG mhbgtippnd
Gjniph qupquguiwl hhdGwhulnhpGtph dh dwun:

Gnypwqlnh ypw hwdwh hGwpwynp sk untindt wwjdwGGhp, n-
pnGgmy npuunpymd &6 mhbgtpwwl Gyniph qupqugiwb, hwnljw-
whtu bhghywlwl ndtin wiyuwnilnpjwl thnybphG hwiwwwnmwu-
fuwlnn phghyuuG YyhdwyGtpp: Ldwl wpnwunynp YhdwyGbpnd
Gynipp hwdwh odwnywo E thGmd GpypuwyhlG phqghwyh hwdwn Gnp,
wlowlnp hwnympniGatnny: Uyn ywwdwnny tpylwjhG dwpdhl-
Gtph wnw9wgdwl nt qupqugiwl hwpgbpp Yuwpunp GG ny dhwyG
wmhbqtinph dwlwyiwl, mhhqpwywb Gniph tYnpnighwjh niuntdiGuw-
uhpnipjwl, wyp Gwb Gniph Junnigywoph, Gpw wiowlnp hwwnlynt-
pjniGGtph pwgwhwjniwl mbuwybnhg: Cun npnud” wyn Gpynt hhd-
Gwfulnhplbpp hinfuwnupd Juwh 69 6. npulghg mipupwlyniph
wutl dh GJuwdnd jpgnptil Guyuwuwmmd £ djniuh wnwoplGpwughG:

Shtqtpwywl dgnnnipjwl ndh hwymGupbtpniip hGwpwynpm-
pjnil plGatinkg hwygupytim dnnpuylbph b wppwlyuyGtnh pwnd-
dwl mnboptpp b Juluwwnbubn wyuwquynd npulg nuuwynpnt-
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pjncln: Uyu hwlqudwlpp XVII 1. ytipohG U XIX 1. uyqphl wunnuw-
qtinGtiphG hwlqbgptg wjG tqpuiugmpywl, np, GGtnyY Guyb-
nwjhl yhdwlhh dwuhl nGhguwo npnpwlh GGpwnpmpiniGGtphg, vb-
fuwGhYywjh optGpGtph hhdwG Ypw Ywnbih L pwguwwmptp wptquy-
GwjhG hwiwywpgh dwiwlwluwlyhg YJwnnigquopp: G-tpdwlwgh
thhthunthw . Guufitpp b bpuluhwugh wunmnugbn n dwpbdwwmhynu
M Luwyjuwup wnwownntghlG dnnpulwjhG hwdwlupgh owqiwl
(ywpwaph Jupwoltp wptqullwihlG hwiwywpgh wnwowgnuin
pwgwupb] npytiu Gyniph ophGwswth qupgqugiwl wpnnilp: Lpwlp
L Gmud EhG wyl GGpwnpmpniGhg, np Uptiquyp b dninpuybtpp duw-
Unpybp b6 Gnup ququ-thnpwjhG wiwhg [2]:

Uptquin unynpuwwl wuwmn £ LGiwl wunnbpp juqind GG
wmptqtpph wunntph dtowdwulnipnilp: <tmbwpwp Uptquyh ni-
untiGuwuhpnipynilp hGwpwynpnipynil £ nmwihu ywnmtpugnd jug-
utiint wunntiph wnwowgiwl Ywuhl pGnhwGpuytu:

Uuuntipl LGipghw G0 dwnwqujpmu Gpulgmy plpwgnn otip-
dwdhonijuyhl ntwlyghwbtph htmlwbpny: Uju hwGdwnptn tgpuyw-
gnipjulp nhintu 1929 p. hwiqb) 66 . <nmntipdwGup b 0. UnyhGun-
Gn: 1939 p. L. Rtnth qupqugpud mbtunipjwl hwiwdw)G wunmnbpp
olGymu &G «thnph-qug» dhowowyw) qubiquoltnhg, npnlp hhilGw-
Juwlnd juqiqwo G0 9pwolhg: Gpuwyhnwghnl wiluwynGnpyjub
htinmbw lpny wyn qubqyuoGtpp pwdwlymd GG dh pwbh thnpp wid-
wtph: Uynwhuh jmupupwlyynip wiy ntin wuwnn sk, vwu)l tpt npu
qulquop pwjwywlwswih vEo L, wyw wjl Jwpnn L ybpwoyty
wuwnnh: UWiywbiwl wmwhuh gnjugmuidlbpp Yngynd GG G-
fuwuwmnbp: Gpuyhnwghnl utinidwl 2Gnphhy Gwjuwumnp nmwpw-
Gnmd E: Pwpép otpdwumpdwGGbpmd, tpp Gufuwumnnid ujumd GG
plpwlwy otipdwih9nijwjhG ntwlghwlbtp, gpuwyhnwghnl utindnidG
wumhdwlwpwp wpghjulynmd £ ntwlghwjhl dwulGwlygnn quqtph
uniiyniwghG YhGtwhy aGpdwl mdtph 2Gnphhy, U h yYtpon Guwfu-
wuwnnp Yepuwoymd £ wuwnnh:
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Qunbih & qGwhwwnbp wunnh dhohl otiptwunhdwGl wyG ww-
hhG, tpp wyl wnwowlmy L thnph-quq wiwhg: Gpb thpwnptlp, np
wunnp Juqiquo b wypnunGGbphg, wwyw JytpohlGlGtpu otipdwjhl
owpdiwl EGpghw6 unwlnd GG qpuyhwmwghnG tGtpghwjhg, npG
wnwowlnud L wunnh utinidwl dwdwGwly: Uwlw)i ny wipnng qpu-
JhunwghnG LGipghw( b owhiuynid wunnh mwpwgiwl Yypw: EGbp-
ghwjh th dwup Swhuuymd £ Swnwqu pdwl Yypw: <udwlunpgh yh-
duwyp Gyupuwagpbmnt hwiwp oqunynid GG ny pt EGGpghwjh wuwhwwG-
dwl ontiiphg, wj; Yhphwih pinptivhg (uwhdiwlwthwy pwupdmy Ju-
wnwnpnn dwulhyGtph dGfuwGhyuyuwi hwiwjunpgh yhawyh Ghupw-
qpnipjnilhg) [2]

d

S\ .2 S
—(m; -r,f,)=m; - +rm7, =2K, +r, - F,

dt
nputin 7, -G i -pn YwuGhyh qubqyuoG E, 7;-p° ununjhn Ytljumnpp,
F.-p’ Gpw ypw wgnnn mdp, K, -p’ SwuGhyh YhGtnhy tapghw:

Gpti hGunbtgptilp pun pninp dwuGhyltph b JhohGwgltlp pwwnm
ko 7 dwiwluwlwhwujwomd, wwyw Junwgyp’

2K + Y rF=0%*

1
EzriF" dkonmpynGp Yngymd E yhphwy: Gwpbih b hwpyty gh-
phwp hwjwuwnp pwlwlnpjudp ypnunnGltphg b LiaunpnGGtphg
Juqijwo wunnh hwdwn: ‘Liwl hwiwuwpgh hwdwnp YnynGyub thn-
fuwgnbgnipjudp wuwydwlwynpywo yhphwyp dhohlnud hwyjwuwn k
qnnjh: Uhwly qquih nidp, np Gepyuwjwuglmd t Jhphwp wuwmnnid,
dgnnnipjwl mudl t: UjG pugwuwlwl bt b mGh wynnbtlghwiwjhl
pGnyp, wyn wwwdwnny Juptih b F; -G wpnwhwjnty U ;-
G mm,

v 2 7

i

2
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nputin 72, -n, m;-p i b j dwuGhyGtph qubquoGtpG GG, huy vy -
GpuwGg dholu tnwd htnwynpmpyniGp: 7 U j dwuGhyGhpp Zf;F;
gmiwph dt9 mGLG htwnbjwy Ghpypoidp’ ’”,-F,-j + ’”ij,- , npntin F,—,- -G
wjyl mdG b, npnd  j dwuGhyp wgnmd b i dwuGhyh Yypw: SGnphhy
wjl thwuwnh, np wqptigmpyniGp hwjwuwnp & hwluwqpbgnipjulp’
F, =—F,, qupbh t qpti, np

rF.—rF =(r—-r)F =rkF :

oy Jy i J i vy

Uuuyb F, = - grad, U ;> Anubn gnunhbiun Jtpgynud £ puwn
i JwuGhyh YnnpnhGuwbGbph' Gepwnptiny, np j dwuGhyG whywnpd
oU,

t: Uunbnhg wnwgymd t 7, +rF, =—rijgradi U,=-1 arlj 5
ij

oU
Jud Z};F. =—r,—: Uij -h hlntpuGtippn uptih £ wlntub), tph
ij
tapwnmh, np hnfuynd £ dhwyG i b j dwuGhyGhph dhol tnud ht-
nwynpnipjnilp, huy dynu dwulhyGbph dhol hinwynpnipyniGp dGnd
t wlthnthnfu: U -6 hwiwutn mlyghw B juugwd 7, -hg -1 wuwnh-

dwliny: Uyuntinhg, oquytiiny hwiwubn pniGyghwGtph yapwpbpyug
. oUu
Ejitiph ptinpbidhg, Ywptih b onby” 7 o =—U : Qwyh wnGlny Ytpp
ij
wujwop junwlwlp yhphwih hwjwuwpiwb htinbjw) mbupp’
2K +U =0:
Lwlh np gpuyhmnwghn( Laipghwjh th dwup dwfuuynud L wuwn-

nh YhGtwmpy (pipdwyhb) LGpghwh wybkugdwl Yypw, huy yyjniu dw-
up’ EiyumpuwdwqGhuwuwi dwnwqujpiwl, ntunph Jupbih Eogpbp

K+U+¢,,=0, npntn ¢, dompmbp phy Gwnwqujpiwd
LGtpghw E:
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UhohGuwgGiny K +U +¢,,.
Jtipuh hwjwuwpnudhg' unwgymu £
K=¢,,:

Gun

=0 hwjwuwpnuip b hwGkny

UjuhlpG gpuwyhwnwghnl EGipghwjh Ytup, npG wnwowlnd L
(wpwunnh qpuyhnwghnG utininudhg, dSwjuuymd t wuwmnh YhGb-
wmhy (ptipdwyhl) EGapghwjh dhowgiwd, hul Yyniu dwup dwnwqujp-
dwl Yypw:

Ujdd Jupbih £ qGwhwnbt; wunnh dhohl 9tipdwumhdwlp’ T -G:
Gpt m(r) -ny GpuwGwyyh 7 2wnwynh ypw qulynn wunmnh quiqu-
op, wyw whytpeympiniGhg wyn qubquoh Yypw dm qubquoh nGy-
Gt nhiypnid wlownymy E gpuyhinwghnG tGtpghw
M mdm

npuntn M -p wnwowgwd wunnh qubquoG t: Uyu Laipghwyh Yhup
owfuuynid kL wunnh mwpwgdw G hwdwn [2]:
— G'fm G 1
K== [=dm==-M(-),
20 r 4 r
Yuwd Yuptigh £ qpbip
G M?

S

npuntin R -p wuwmnh pwnwyhnG t: Lwlh np wpnnnGh 9bpdwjhG
3
owpdiw EGtpghw6 hwjwuwnp t EkT (Bnjgiwlh hwjwuwpniip),

niunp, hwpyh wnGtny, np ypnunnGGhiph e pwlwlyl wunnmy hw-
Juuwn k % -h, uvnmwgymd £ wuwnnh 9tpdwjhG LGatpghw6”
P

éf}(%

2 m
P
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_ 2
37 M _GM* R
2 m, 4R

b

— GMm_ R
T=—rH—* <—>
12kR
Qupiwuwmhdwlp d2qppn hwpybnt hwiwp wihpwdb)wnm t hiw-
Guwy Gnph funnmpjnilGp wunmnmd, npytugh hGupwynp (hGh npnptyg

E—h uhohl wpdtipp: Uwlwjl plnniGhny, np 1% > 1, Junpbjh t
r

qlwhwwuti, np

— GMm
T > £
12kR
Uybih 62gphn hwpgunpyGtpp mwihu G0 9bpdwumhdwGh GhpphG
—  GMm
uwhiwGp' R = 6 , T > £.
r 5 10kR

Gpt tGpwnpyh, np wptiquyh quiguoh 94%-p quGynid k %

GMm
qlinh Gpumd, wyyw gtpdwunhdwlp YihGh' 7, = 5kRp :

Uptiqujh hwdwp (M =2- 10¥qp, R=7-10"ut) wpwo

hwpJunyGtpp mwihu GG otipdwumhdwlh hnlywy wpdtpp
T = 46-10°K :

Uju qwhwwnwlwlp jupgny hwiwwwmwuuwlnd L nhnnnu-
Jwl wpnyniGpGtphG: (Uniquyh dwytplnyphl otpdwumhdwln 6000
K t, vmyuwjl wptiquyh Guph dhwyl 1%-G t juqimd wpnwphG
pwnulpp, npuitin bpiwumhdwép 10° K -hg thnpp t):

Uju pnnp qwhwwnmwlwliipp dnnwynp Ynyhwn qGwhwnmw-
JuwGGbp 66G: bpwlwlnd yhwunp L hw)yh wnlb, np wunnp dbyniuwg-
Jwo hwiwuwpg st:
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B2qphwn hwygupyltpp Ghpuyuglnd G0 htnbjwp wyjwlGtpp:
Uptiquyp punyugud t 9pwdthg (X), htihnuihg (Y) U wyp mwpptiphg
(Z): ‘bvpwlg hwpwpbpwlwl WwpnGwynmpnilip wpumwphb tpnnd
Juquimd £’

X=0,71, Y=0,265, Z=0,025:

Unptiquyh yhGupntnd X, = 0,38:

Gtiinpnlnud 9tpdwumhdwlp, dGynudp U funnipjniip hwdwww-
nwufuwwpwn YhGeG T=1510° K, P=3,4+10"" 2%hG/ud’, p, =160
q/uliS:

Uyjuyhuny gpuwyhwmwghnl utndvwl pGnphhy wuwnnh Ghpunud
untinoynud & pupdp obipdwunhdw(’ dnn mwubjwy dhihnGwynp Y-
yhG b pupép: Ujn oipdwumpdwlp pwjwpwp k, np wunmnh Ghipunid
uuytiG dhwéniwl ntwlyghwltp (phpl dhomyGtphg wybth owlp
vhomyGtph uwnwgmd): Unuhuph dhwénpwl ntwlghw6bpnG b
hwlnhuwlnid &G wuwnnh tGepghwjh wnpynipp: {<piGuuinyd wntnh
L6 mGuGmy p+ p — He ntwlghwGtpp, pwGh np, pun dwiwGw-
Juyhg wytupnuynuyhwlywb wnyjwilbph, Shtiqtpph 90.7%-np Juqu-
Jwo b opwothg, 9%-p° He -hg, U dhwjl 0.3%-p’ dGugwd wnwpptiphg
(Clz, 0" u wyi6): LVwhuwunnmd uyujwo uhlGphqp (Ghwdéninuin)
uyqpmd plpwlmd t ny wjlpwl hGunbGuhynptl, b Gwpwqupiwb
EGtpgtimhy Ynpniuwnp thnfjuhwnnigynid b Gwfuwunnh gpuigphunwgh-
nl ubininuiny: Gpb uhGptigh dwdwlwly wliowmywod Latpghwl wyG-
pwl E dhowlnud, np thnfuhwwmmgnud £ dwnwqujpiwl Ynpniunn, w-
yw (wppwunnh gpuyhnwghnG utininuip nununpnd t: Uyn wywhhG
(wfuwuwnnp nunlnd t wunn: Qunngmd gpuhunwghnl ubindnuin
hwljuynymu £ ququ-yhGnhyuywb b dwuwdp nuwghlG a6vwdp:

JupJunyltpp gnyyg GG wmwihu, np wunnh Gipumd 9hipdwunp-
Gwln myjw) swihtph nhypmyd hwdtdwunwywb E Gpu quiquohd’

T~M:

Uunnh muwunynipymbp’ L -p (Ghwynp dwdwlGuimy dwnw-

quypynn tGpghwjh pwGuyp), hwitdwwmwywa M h6 (L ~M? ):
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Stuwlu@ hwyymuGhpp gnyg GG wwihu, np tpt M < 0.14M
(Untiquyh qubqquoG & M =2- 10* q), www gpuyphuniwghnG ubin-
unuip pwjwpuwn sk otpdwihonijuyhl otipdwumhdwGitn unw Guynt

hwiwn: Ujn yuwwdwnny wptiquyGwjhG hwdwlwngh ny th dninpuly
sh ypwoytp wuwmnh:

Shtgtpwywl suthbpnd gpuwyhnwghwl nomd £ wyl pnmnp
ndjwnnipyniGGtpp, npnGp wtwnp L hwnpwhwpytl yunwyjwnbih 9tip-
dwihoniwyhG vhGptq unwluwm hwdwp: {ujuwyuywl d6GyndGhpn,
npnlp untinond t qpuyhmnwghw(, oqlind kG wuwnmnh Ghpumy 9tp-
dwidhonijuyhl wyuqiwl wywhbtniG: huly Gniph pwjwywlhG dto
2tpwn, npp quuGynud t yhGunpnGwiuwl yuqiwgh b dwytplnigpwjhG
2tpunh vhol, wwwhnynud £ wjuquwjh oipdwdtiniuwgnudp: 2updw-
vhonitjuyhl EGtpghwG wunnh Ynphghg mbnuthnfuynud £ dwytinunyyp
dwnwqujpiwl wnbupny: UhGsu dwybpuniyp hwulbp wyn dwnw-
qupltpp Yuulynd b wnwpynid GG wyp vyblunpw mhpnypmd: Uy
Gwnwquwjpnuip  Juwwpynd £ hgnupny  duny: Bwnwqujph
wjuyhuh thnfjuwlgniip dwybpunyp Gdwl t npdmqhwjh b wmbinp k
niGkGnd nunun dhihnGuynp mwphGhph ppugpnid: ‘Lnpdw] wuwn-
ntpnud 9ipdwihonmuyhl EGtpghwjh wiowwmiwl hhiGwlywb ypngb-
up opwoGh (fH ) duwhnfumdG t htjhmdh ( He ): Uju nhiypnd Gyniph
quqyuon thnppwlnud t 0,7%-ny, b LGapghwl wiowwmymy E hwdw-
dwjl EjGntjGh hwjuuwpiwG' £ = mc’: Gpt wplp Juquwo (h-
Gtip Shw)l llH -hg, U unipnn9 llH -n Yytipwoytp He -h, wmuyyw Uptiqui-
Yh qutguon Yhnppuwbwup AM = 0,007M = 0,007+ 2¢107= 1,4 «10°!
q swthny:

Uju nhiypmd wlowwmywo LGpghw YhGh'

AM -C* =1,26-10"tpqg:
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Unynpujul dwnwquwjpiwl ntiypmd wptiquyp dwnwqujpnid
b L= 3,83-10® tpg/l: Gpb wyu plpugpp wuwhwwgh hinwqu-
Jnud, wyw Junynn 9pwoGh Laipghw6 Ypuwwpwph
(1,26 #10°%) : (3,83 + 107) ~ 10" wuwph = 3,3 « 10" ypy:
Uuumtiph tGtpquwlowwmiwb dhohl hGuntGuhympnilp wwn

3.83-10%
tinpp t: Uptiquyh nhiypmy € = LO/MO = 107 ~ 2tpg AJ.q.:

Uwpnm opqulhqihg opwwl whowwmynid £ 3000 1111111[:3'106'
Jup=125- 10° tnq tGtpghw: CGnmGEny, np dwpnnt Yphnp hwjw-
uwupt 60 Yg =6+ 104qp, Juwnnn GGp npnpbp € -G dwpnnt opquiGhqih
nbwpnid.

& =125+10"tpg /610" q=2.4 10" tpg/l. q.:

Uju wpdtpp 10000 wlqud dko . Uptquih nhypmd unwgywo
wndbtphg: Uwlwyl dto qubquoh pGnphhy wptiquiyh dwnwquyjp-
dwl hgnpnipymGp ko & 3,83 « 10*° Jun: Swnwqujpswb 2Gnphpy
Uptiquih qulqwon vty Jujpyjwlh plpwgpmd GJugmd t 4 06
nnGGwyny:

QnuonGl wunnbtpmd ytpwoymd & He -h dh pwpp nhwlghwit-
nh dhongny: Lhpwithnjumip Jupnn k pGpwbwg tpynt dwlGwuwwphny

L. \H -H jnpwyny Yud 9pwdGujht ghymy,

2. C > N npwyny (wofuwohG - wgnun) wofuwdGuyhG ghyny:
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§ 2 Quwmnbipmd wmbinh nGhgny gipdwdhoniljuyhG
ntwlghwbbtph ghlybpp

1. QnudGwyhG ghyl uyuymd £ wpnnnG-wpnnnG' [ H + [H nb-
wlghwjhg, nph htmbwlpny wnwowlnid GG ntjunpnd (IZH, qnjnt-
pjnl mGtG nhijnpnGh gpupdwl wy] mwppbpuyibpn Lo ’D Judu d),
wnghnpnG (e) u (tjnphln (V,) 12H +e” +Vv,, Jud dwulhylGtph

wmbtiupny  YJupih L nbwlghwG  gpty hGwlbyjwy;  Yhpw'
p+p—o>d+e +v, [2]

Lwlh np Gpynt ypnunnGGtph dhol qnpomnud £ ynynGyuG Julbin-
nnipjuwl nudp, nunmh P +pP uhlptigh ntwyghwl Junpnn £ pGpwbuyg
pYulunwitiuwihyuwlwb ypngtuh 2Gnphhy (wjuybu Ynggwo” pmit-
(wjhl wignwl): Pwhudwl pGpugpmu (zIO‘21 Juwjnljwlnd) ypnunnGa
wldhowuwbu Yepwoymd L GhjwmpnGh p > n+e’ + v,, Gbympnlp,
dhwlwny tpypnpn ypnunGhb, wnwowglimd b ntijmpnG’ n+ p - d :
Mnghunpnll EEyunpnGh hbn shqnpuwlmy £ wnwowglting tpynt
quuitw (y) pywln’ e” +e” — 2y, hul ntjwnpnlp ntwlghwjh vk k
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dnlmd dhowywyph ypnunGh htin® wnwowgltiing ’ He, hqnunup U
y pjwlm’ d+p—>3He2 +y: Lwlh np phjupnll wnwowlmy L
p — p ng wnwdqulwb thnfuwqnbgnipjuwl 2 Gnphhy, hul wjn wpngh-
up pipwlwm hwjwlwywlnpnilp pwwnm thnpp L (Ququind L ponp
thnfuwgntignipyniGGhph 10‘8—pr} dwup), ntunp wdpnn9 wpngbup ntinp
E niGhGmy pwwn tpyup dwdwwyjuhwunyuwomy” dninwynpuwtiu 10"
nwpnid: Liwl nbwlghwltph pGpwgph hwdwp wGhpuwdtyn L
pupdp oipdwunhdwG’ 10"y, npp ndjwn £ unwGuwy Gpypughl wuwy-
JwGGtpnud:
Unjnuuuymd Gepyujugywo £ opuwotughG ghyn:

puotiwyhb ghly
NEwyghwb EGlipquuigwumnid N-hwlghwyh
Utd pp. diily.
prpodre +v, | 20,164+ (2:0257) |14+ 107w
e +e > 2 2-1,02 nh
3 2-5,49 )

p+d— He+y 1585 5,7 quyjnyju
*He +°He — *He +2p ’ 10° mwpp
plguitGn’ 26,21 +(0,514)
4p—*He+2e" +2y

p +d ntwyghwjhg htinn hGwpwynp E kplip GwGwuwph:

1) *He+’He , uwlyw)G pwGh np Guwfunpy nbwlghwGbpns ° He-G
wnwowlnud £ Wk wlquw, niunh whwp L wmuwhuh tpynt ntwlyghw
nGpwlw, npubtugh hGupwynp h6h *He +°He ntwlyghw6: Qw
G2Jwo L wnymuwlh Gpypnpng uyntGuymuy:

123



2) Gpt wumnnd gnympjmG mGh ‘He -h pwjuwyuGhG WO pw-
GuympynG, U gtipdwunhGwbp pupép &t 7 > (10+15)-106K , Wy

*He +°He ntwlghwG hnfuwphGymds t *He+*He — "Be +y
ntwyghwyny, huy wnwohl tptip ntwlghwltnl ppwlmy Gl vhjw-
Jui wiquad.
"Be+e — 'Li+v,
p+'Li—>2He:
3) Uyth dto 9tpdwuwmphdwGltph nhiypnmd wnbnh £ niGhGmd
htinlyw) ypngtiup'
*He +*He — 'Be + 7, p+'Be—>"*B+y

8B > ®Be+e’ +v, 8Be >2-*He:

Lninp ghYbpnid 4 wpnnnGGiphg wnwewGms t * He :

2. UouwoGwjhG ghynd GnyyGubu, hGywbu opuoGwihG ghynd,
wlowuynd t EGhpghw’ 26,7 Utd: Wyu LGhpghwih dnnuwynpuytiu
6,8 %-n mwlnwi £ GhynphGnd:

UouwotiuyhG ghlyp
NEwlyghw Elipquuiguwumnid N-bwlghwyh
UTd. dhohb ddy.
p+C > BN +y 1,95 1,3-10" mwph
1,50+(0,72 7 b
13N N 13C+e+ +Ve 5 ( 5 ) pny
P+"C > "N+y 7,54 2,7-10° muwph
P+ "N 50+ 7,35 3,3:10° mwph
5 s . 1,73+(0,98) 82 Juynyywa
O—>"N+e +v, |496 1,1-10° muwph
P+"N - "C+*He
plnuitln 25,03+ (1,7)
4p — *He +2e" +2v,
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Uju ghyth pnipwgpujub ghoG wyh t, np 2C-a Ytpwpunwnpnid
L *C: U6 hwlntu £ quihu npytiu juwnwihquunp, npl wwywhnynid
L opwoGh (A ) htjhmdh (He) ybpwoytip: Uptiquip b GJuq wwj-
ownnipjnil mbtgnn wunnbtph hwiwp pmpwgpuyui & opuwotGuhG
ghyin, huy wytih wwjown wumntph hwdwp wotuwoGwjhl ghyp:

Jdbpp Gpgwo ghytipp yuumwpdnd 6 Gnpdwy (qfuwynp hweonp-
nuyuwlmpjul) wunmntph nypmdy, hGyuyhupl t Uptquin: ‘Lpulg
hwdwp EGipquubGownmnuin hpdGwyuwlimy juunwpdmd £ opwoGh
htijhnudh yepwoytpnt dwlGwwwnhny:

<ujw wunnbiph nhiypmd, npnGg Wk sjw opwohl (qbptupn wyp-
Jwo dhomyGtpny), qquih b6 htjhniwjhG b GinGuwjhG ghytpp, n-
nnGp pGpwlnid GG wytijh pupdp sipdwumhdwGGtph mwy:

<GihniwghG ghyih hpdGuwywi ntwyghw, npl pGpwlmd t 7 =
200-10°K otiptwumhdwlh nypnid, mGh htwmbjw) mbupp’

3°He — "C +y,+y,+7,3Utd:

WGnthtnl wbnh &6 mGimd  “C+*He—'"O+y U

YO+*He—""Ne +y nbtwlghwlhpp: Gpt hbjhnuswghG ghlyh wp-

nynilpGpp dnlnd GG nbwlghwjh dke llH -h htmn, wwyw pGpwlmu L

GtnGuwyhG ghymp: Uju nphypmd 9pwoGh hbhnudh  Jpwoytjn

wpngbunud (H — He) juwnwihquunnph nhip E junwpmd Ne -p:
UhnG-GuwnphnidwhG ghlp

ntwlyghw Uju ghijymd whowwnynn LGipghw
p+ “Ne — *Na+y wytith Ginpp £

'Na—*Ne+e" +v,
Ne+p— ?Na+y
p+7Na— > Mg+y
®Mg — PNa+e’ +v,

“Na+y — “Ne + *He
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§ 3 Quwnliph bynpymghwb

‘Lwuwunnh ubnidwl htmbwlpny dhonymyd otipdwunhdwln
pupépwlmd kdhGsh ~10% - 10° K, U ptipl ShemiyGtiph dhol wtinh
LG nGEGmd nbwyghwGtp guon YniynGyub wpgbijpny [2].

d+ p— “He, °Li+p— *He+*He,
"Li+p—2*He, “Be+2p —>3*He:

Uwlw)l Gwupwunnnud Gpgwo mwpptph wiGwl pwlwlnpjwb
htimbwGpny ytpp Gpyuwo ntwyghwbtnl pGpuwlmd Gl pnuwdkin vh-
1hnG wmwph: LPYwd ntwlghwitpnd wiowwywo etptwihgmywjhG
LGtpghwjh 2Gnphhy pwpdpwlmd GG Gwuwunnh gipdwuwmhdwin L
aGpnudp: Udnn aGynuip nuinunbglinmd £ Gwuwumnnd gpuyhmwgh-
n( utnunuip: Gpp plipl UhomYyGtpp ytpwlnd GG Gwuwunnmd, Gpu-
(ntd wdnud E gqpuyhmnwghnb utininuip, npp hwlqtglnd k 9tipdwu-
wmhdwlh htnwqu dhowgdwln: Gpp obpdwumhdwlp Gwhiwunnnud
nunlnd L 10 416 ytghl, vjuymd GG opwoGuyhl b wofuwoGwihG
ghytinp, npnlp 9tiptwdhoniyuwjhG EGtpghwjh wlowwmiwl hhiGw-
Juwl wnpympGhpG G6: Uunnujhl wjuqiwjh wang d6nwip julqltg-
(nd E gpuyhmnwghnl utininuip b hwGqbglnid £ wuwnnh JuyniGug-
dwi: Ujn yuwhhg Guuwunmnp gunnd L wuwmn b hp mtnG L qpuygnid
qiluwynp  hwonpnwlwlmpnilnid: G{fuwynp hwonpnuywlnipjnt-
(intd wuwnnh wmtinp npn2ymud £ Gpuw qubquony: Nppwl vko L qulq-
Jwon, wjlpwl pwpdp nhpp b wjl gpuymd giiuwdnp hwenprwljw-
(nipjniGma:

Lwlh np (wuwunnmd 9opwolh pwlwlnipniGG wihwitdwwn
oww b, ntunph Gpw wjpnil pGpwlnd E Qwwnm wybth Gpup, pwG
nbijnpnGh, (hphnuih, ptphihnudh U pnph wypnudp: Gqfuwdnp hwonp-
nuwiwlmpyjwul ytpuh dwund wunnbnl odnjwo Gl vho qubqyuony
U 9tipdwuwmphdwlny: Ujn yuwwmdwnny Gpwlg vt opwolh wypndb
plpwlnd £ wybth wpwq hwpynip dhihnG mwpw plpwgpnid: $npp
quiqyuony wuwmntipnid, hGywhuhG Uptquyl k, wyn ypngtul plGpw-
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Gnd E nubnun 10-15 dpjhwpn muphGhph pGpugpnid: LYwod wpn-
gtiu wybtih nwlnun L ppwlmd quwynp hwonpnuywlnipyul
GtppUh dwunid quynn Yupdhp pgniyGhpnd:

Uuunn, qunbytny qiuwynp hwonpnwljuwlmpjul ypw, pwjw-
JwGhG tpyup dwdwlwy sh thnfuntd hp hwnynipyniGGtpp: UwuwyG
opwolh wypdwln qngplpwg, piniqb suhwqulg nuinuwn, htinw-
(ind £ gjfuwynp hwonpnuyw lnipjnilhg:

Uptiquiyh quiquohg thnpp quibqfuony wuwnmnbph qupgugni-
un wbtinh £ mGtlnd wjlpwl nulnuwn, np qfuwynp hwonpnuywlne-
pjniind Gpulg qubytm dwdwlwyp qipwqulgnd £ Guwjulunh-
Yugh wwphpp (1.2 10" wwph): ®npp qubquony (0.3 M -hg

thnpn) wunnbtpmd obpduwthnfuwGuynipymGp yuumwpymd L hhiGw-
Julnd YynGytyghwjh (Gpuwthnfuwwlympjub) pGnphhy: Uynuhuh
wuwnnbiph Gipumy oipdwumhdwlp pujuwlywlhG pwpép sk, np opud-
GwjhG ghyp thnyhG wfuwwmp: WG pGphwnmymd E He hgnunnwp
Upw, U *He sh uhGpbqymu: Uy 660 (uwluwyG 3 M o-hg thnpp)

quiquoltph nbypmd wuwmnh qupqugniilG wjwpumynud L *He h-
gnunuyh wnwowgiwdp: LJwo qubquohg Whd qublquoltph
ntiypnid wunnh qupqugmip wpnt Guuyua k jhGnud:

‘Ldwl wunntpnd LGipquuiouwmnuip tpup dwdwlwl Yuw-
nwnpynd £ Gpwlg YeGupnGwluwl dwuh hwpyhlG opwolh wypdwh
26nphhy: 2nwoGh wypnudihg hinn wuwnnh dhoniyp nunlnd £ htjhnt-
dwyhl U powuyunywd kb jhGmd 9pwolng hwpniun punubpny:
Uuwnnp php yuqinipjudp nunind L fuhun wlihwdwubn: Lpw thont-
ynud 9tpdwihomuyhl nbwyghwblbpn nunupnid GG, vwyw)l pwpne-
Gulynwt GG dwybtpunipwhG pGpunnd: Uyn ywwmdwnny dwitplnypp
owwn fuhun wdmy k£, b wuwmnp ngnipu £ quihu gjjuuwynp hwonpnuju-
GnipyniGhg: UG ypwoynid E upihp huywjh jud gbphuljwjh: Quwn-
nh swihtipp 2w GG wdnwd, vwyw)l Junpnn £ hujw wunnh quiqyu-
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on 2w phy wwppipytp Uptiqujh quiquohg: Wnuhuh wuwmnh jnt-
uwwunynipjntGp dwlytiplnyph dtonpjwb 2 Gnphhy Jwwn d6o t:

Uuwnnh dwybpuniyph ypw opwolh wypdwl 2Gnphhy Gpw htjhnt-
dwyhl dhomynmu quiquon dtowlnd L, ubninuip’ mdtqubnud: “bw
hwiqbglnud £ wunnh htjhnudwjhG dhoniyh jummpjul b 9tpdwumnh-
dwlh vhowgiwl: Gpp wyn dhonpymGGtpp nuwnlnd &6 hwiwww-
nwufuwiwpwn 10(’q/u1i3 u10°K Jungh, wuwmnnid ujuynid k htijhnudh
wypmip: Cwwn Jupd dwiwliwwhwnywony’ 1071 Jwynyjwbnd,
untinoymi £ Be wllywyniG shonmyp.

He" + He' < Be® — 95 ytd:

Uy dhomYyG wGdhowwtiu mipnhynmd £ 2 ¢ dwulhyh, vwlw)l
wjl Jupnn £ hwuglhp gpuyly o dwubhy, hGsh hbnbwlpny wnw-
owlmu k wofuwoGh qpgnywd dhomy.

Be®+*He — 363ytd.— *C:

Q-pgnmuip Yhpwgynud £y pywlnh dhongny

"C* 5 "C +y+7,68 Utd:

Wuwhuny' tptp * He -hg unwgynui & C, b wlowwngmd k£ 7,22
Utd. tGtpghw:
Gpp wunnmd Yynunwlynd £ pwjuwpup pwlwynipjudp e s
htihnuip uyumd £ wynyty Gub hnbyw) nbwyghwGbpnd
“C+*He—"0O+y,
YO+ *He — **Ne+y,
“Ne + *He — *Mg +7,
npnlp hwGqtglimud 66 He -h (phy YypugdwG: Uju nbwlyghwGhph pd-
pwgph hwdwp wlhpwdtipn GG wytiih pwpdp 9bpdwumpdwGGbp’ 10%
+ 1,5-10°K:
Uju nbwyghwtinh 2Gnphhy npn dwdiwlwly htitnn wuwnnh shont-
Up punyugwsd t {han *C, °O, **Ne u *Mg ShgmyGtphg:
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Eninp shonjuwjhl nbwyghwGtpp, npnlp pipwlnmd GG wuwnnbiph
Gtpumy, nhnwpliwl hwdwp whwuwGtih GG: ©ny; hnfuwgntigni-
pjncGGtpp nhnwpytine hwdwnp gnymipyniG nGh dhwyl dhy wlnmnu-
Uyh utipnn: ©nij thnfuwgnbignipym GGapmd wpwewlmyd GG Gtyunphln-
Gtp (v ), npnGp hwdiwpyuw st6 JuGynd b, wnwlg thnfuwqnbigmpjuG
wlglbtny dshowumnuwjhl mwpwonipynilp, hwulmd GG Gpyhp: bunw-
wgh ghwnGwywl MNnGntynpynG wptiquyGwihG GaynphGnGtph
gnulgiwl hwdwn wnwownyt L htnlywy ntwyghw

Cl+v, — YAr+e:

Uju ntiwlghwjh ptaip & 0,84 ULJ-G E: UjG Jupbih L oquuugnpotiy
wnptiqulGwjhG GhjunphGnGph gpulgiwl hwdwn: Uwlw)G thnpdbpp
gnijg wmytghG, np 7 Ar dhonijG wnwowlmy t gpngnywo ypdwynd, b
Gpw gpgniwi LGtpghwG hwjwuwnp £ 5 UL, wjuhlpl’ ntwlghwjh
2tdp pwpbdpwlnmyd k dhGsl 5,8 ULd: Uy wywumdwnny Ytpp GpJwo nb-
wlghw( YJuwpbih £ oqumwagnpoty wpwq GyunphGnGtph qpulgdwG
hwiwp: Wnuhuh GhjuophGntp wnwewlms b6 *B — 2Be +e* + v,
wpngtund (£, =14,1U0td): ‘LbiwG GhjnphlnGbp gpuGgyby GG Hup-
up thnpdtpmy, vwwyl Gpubg phyp 3-4 wlqwy wybih thnpp b, pwi
dutwlwluwlyhg wpbquylwjhl wmbuwywl dnnpbiGiph Yuwlfuwwnb-
unudGtipny npnpywo GipphG vwhdwlp: Unwowgwo fulnph nonidp
qulytg GyumphGwjhG oughyyughwltnh hwjmbGwpbpnidny: ‘LhpYw-
juuiu wfuwphnd dh pwpp thnpdwpwpuwul fudptp winhynptG
qpunynud t6 GeyunphGwyhG $hghywyny:

§ 4 Uyhunwul pgnulylitip

dwng L wnwowlnd, pt wumntph qupqugiwl YtpeGuywd
thniynud hGs nudtiph 2Gnphhy £ fulq wnGnmd qpuijhnwghnG ubindnudp,
tinp UhonmwjhG LGapghwyh wnpympp ytpwlnd E: Wyu nhypnd dhwly
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nidtipp, npnlp Jhwlwqgnbl qpuyhmwghnG ubnidwlp, wunnujhG
(jniph aGpdwG mdtnpl GG [2]:

Pwpén GGynmuGhph nhypnd wunnwjhG Gympp gqnynipjnil niGh
wwmnidh dtpy dhemybGtph b LiayupnGGtnph wmbupny: Gwgh dGndG
wnwowlnui L wwnnih dhomYyGtph U EEyunpnGGtph Jupdnuiny: Uw-
JuwjG nu dwulGhylbph ny dhwyG otipdwyhl pwnpdnudG t, wjk pywd-
wnwjhl pwpdnudp, npp sh Yhpwlnmd pugupdwly gpn 9tpdwunpdwGh
ntiypmy: Ujuyhuny wunnwjhG Gnipp upbh E ghnwpyt] npytu
hnbwjwlywl quq, npp punugwo b LupnGltiphg b npuywb hg-
pwynpjwd dhonyGtphg, npnlp Yndybluwglmyd GG LEYunpnGGaph
thgpp: EiiyumpnGujhG quqp, hGswbu dtipdh dwubhlyGeph quqp, pw-
gupdwy qpn 9hpdwumhdwimud Ynyynd £ wjjwubpwo: Oppwl dko k
EityunpnGGeph fumnipym Gp, wjlGpwl wjjwubpnip dhowlma k, b wyn-
whuh qugh hwdwn Jupbiph § Yhpwnt] pphwjuyui qugh pwGwdlb-
np: bphwjwyuwl E w6 quqp, nph dwulGhyGbph YhGtwnmhy LaipghwG
wjlpwl Wko t, np Gpwlg dhou ppwgnn thnfuwgnbgnipjniln Junpbh
E wlwmbubt: Uyuhlpl’ dwulhybbph YhGtnhy LGapghwd wytih d6o k
Gpwlg thnfuwgnbignipjwl wynuntilGghw) tGipghwjhg: EGjupnGuwjhG
quqgh ntiypnid wjn wwjdiwlp wmbnh £ mlGblmy, pwlh np fjunnipjul
wdhG qmqplpwg” YhGhnhy LGpghwl wytih wpwq £ wdnd, pw
wynunbtlghw) Latpghw(, b wumntpnd fEyumpnGughG quqp Junpth £
nhnty npwtiu dhijwlg htin sthnfuwgnnn dwuGhyltph quq: Uwnnidh
vhonuyGtinh untinowd GGynuip Juptih E wlwnmbul EiiyupnGatph qu-
gh untinowd 6wl hwitbwwm, pwlh np “hd qubquolGtph ht-
wnbwlpny dhomyltnph wpwgmpynilp b gpu htn Juwywo aGynudp
thnpp G6: Gfuwynp hwonpnuwlwlnpyjwl wuwmntpnid wwnndh thoniy-
Gtph quql wjjwutpwo sk: Uhw)G nbyjwmhyhunhl wpwgnipyniGGt-
nh b Wk fummpjmGGatph nhypmd dhenjuwjhl quqgp nqunlmu E t-
16yunnpnGGtph qugh Giwl wjwubpywo:

Ujuwhuny pwpén funmpniGitph nhypnd EityupnbGughG qugh
alynuip hwywgnmu b gpuwyhnwghnl &aGydwlp: G-puyhmwghnG
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GGpnuip wuwnnp Ghpund hwjwuwnp B Pg ~M?*" -,04/3 , npntin M -p

wunnh qubquol t, hull p -G Gpw fjunmpjniln: (13 nhjywwhyhunhly
EityunpnGwjhG qugh dGymup, juhujwo funmpjmbhg, wdny L wytih
wpwq P =~ p5 B Gpb LitunpnGuwyhlG quqp dlw ny nbywwnhyhu-
wmhly, wwyw YJuptih L junmpyniGp dhpwm plunpt; wyGubu, np qugh
GGynuip ULo 1hGh qpuyphwmwghnG dGymihg: LGnbwpwp, wlyuwlu
wunnh quiqwohg, ny nhpywunhyhunhy nghypmy Junpbih L quqgh
alpnuiny YuyniGwglby wunmnh yhdwyp: Uwlw)G d6o funnipyniGGiph
ntiypmd (p = 2-10° ¢/us®) ynpnGuwihG quqp nuelnud b nqupu-
ntpwwhyhunhy, b Gpw d6Gnudp, juujwo funnpyniGhg, thnfuynd k,
hGswtiu gpnuyhmwghnG d6ynuip: Uwlw)l yapohlu hwitiwmwyuw t
Gul M -hG, npp ywwmdwnny wunnh JuyniGugnidp jupudwo k 1h-
Gmd Gpuw qubqwohg: Npnywlh Yphwpyuywl quiquohg (M,,)
thnpnp quiquottph nphypmd qugh aGnuip dGo £ qpuyhmwghn
G(pnuihg, b wunnp Yuwpnn £ jumniwluw wyjwutpjuo EGyupn-
Gwjhl quiqh 2 Gnphhu:

Gpt M >M
EiyupnGujhG qugh dGynuihg, b wyl wjjbu sh jupnqulnid wpgbjw-
Ut wunnh quuyhmnwghnG ubininudp:

Qulqwoh Yphnhyuwlwb dstompniln Yngynid £ Qubnpuubyju-
nh vwhdwG, npp npnpymd L w6 yuwydwbhg, np wjjwubpjuo Lyn-
nnGwjhG qugh @6nil wunnh YaGunpnGnd wtwp £ hwywuwnp 1hGh
gnuyhunwghnl aG6dwip: OJuwihl hwygwnyGbpp gniyg GG mwihu, np

5.75

cr 2

wyw gpuyphnwghnG a6ymip Wk b nunlnid

cr?

M M, npntn g -G waondh by EaywnpnGhG pwdhl pay-

Gnn phyl £ dhomynmu: Gpl wunnuwjhG Gympp punugwo k. ptipl th-
oniGtiphg, npnlg hwiwp Z = N, wyw wyn pghypmd 4 =2, b Ypp-
whyulwi quiquop thnui £ M ~1.44-M -
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Uyuwhuny, tipt M <M, wyquw wuwnnp Jupny b juynGnpymG
4dtinp phtpty wlywh w6 pwbhg, pt LiEupnGwihlG quqp nbjwunh-
Jhunp®y k&, pt° ng ntijjunpghunpl: Unyhuph wunnbpnd wnwow Gnud
G0 Jupdhp huw6btphg, npnGg fuhn dhomYyGhpp otipdwihonijwjhG
ntwyghwGtph 7Gnphhy pnpwthmu GG hpklGg punuipn L wGywfiu gn-
Junbnd G6: Uynwhuh wuwmnbpp uyghunwy pqmyGhpl t6: Lpwlp
pGnipwanynid GG thnpp swihtipny, §ho funnipniGGpny (10° =107
q/uli3) U pwpén otipdwumhdwGatpny: Uyhwnwly pqniyGtph qubqu-
op wptiqujh quiqywoh Yupgh b, huy swihtpp tplph swihtiph fup-
gh: Lwlh np dhoniywjhl yunbjhpp vyhnwly pgniybpnid vywnyuo
E, ntunh Gpwlg dwnwqupniip mbtnh £ mGhGnid vwunbgiwG hw)yhG:

buy pwGh np uyhwmwy pqniyGtiph dwytplnygpp 2wwnm thnpp t, ntunh
Gpw (nuuwwnynipjnilp vh pwGh hwqup wlqud thnpp E wptiquylGwjh-
Ghg: Ujn ywwmdwnny uyhunwl pqniitiph vwntgmil pGpwlnd kL dh
pwh dhihwpn wwph:

§ 5 ‘bhjywnpnlwghl womnbph wowowgnudp

Uuuntiph pwduwyuwGhl dbo funmmpjwl dudwlwly mtnh k nlb-
Gnud wunnuyhG Gymph GhjupnGugmy [2]: bGswbu hwynGh t, 7 -h

npnhdwl dwdwGwy tatpghw6 pwpfuymdi & e -h b v -h dholi: EGhp-
ghw@ Gpw6g vhou pwptuynud E wyjlwybu, np gnuiwpwyhl EGpghwG
UGmy £ hwunwwnnG: Uy tGipghw6 Yngymd £ S~ wipnhdwG YtphG
uwhiwG: Gpt dtpdh Latpghwi ghpuquigmd & S~ wpnhdwd Jb-
nhG vwhiwlp, wyw hwjuwlwywi L qunind S~ wpnhdw6 hwjw-
nwl] ypngtup® e -h Yubnudp dhoniyh Ynnihg: ‘Lnp wpwewgwd th-

ontyp Lu Jupnn £ YJubhp e -G, b wynubu pwpniGuy: EGyupnGGaph
ynGgtiGunpughwl wunnnmd Gjugmd k, htmbwpwp GJugnud £ Gul
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EityunpnGwyhG qugph 6Gyndp, npp wumnhG wwhmd Ep hwjwuw-
puwlppnipjul dk9: Fw hwlqbglnd L wunnh htmwqu qpuyhwnw-
ghnG ubtnidwGp U htwmbwpwp e -Ghiph dhohG U dwpuhdmd EGhp-
ghwtph wdhG: LiayupnGGtph JulGiwG hwjuwlwlwlinpm GG w-
dnud E: Uynwhuh wpngbuGbpp hwlqbglnd GG GhynpnGh wytigny
ni(Gtgnn dhomyGtiph wonwowgiwlp: b Yytipon wuwmnh k9 Jwpnn GG
Uninwlyty vto pyny GoyunpnGltp. wmuhuh wumntpp Yngymd GG
GtjnpnGuyhG wunnbp: LhynpnGwihG wunnbpnd ypnnnGGtph b -
1EyupnGGtph phyp Yuquind k 0.5%:

Lwbh np GhyunpnGGeph ypw sh wgnnd ynynbyjuwl Juinnuywb
nidp, htmbwpwnp GhjunpnGuihlG wumnh thohlG funnipyniGp Jwwn Lo
E, wylGwhuhGl £, hGyyhuhG wwnndh dhontyh funnpyniGp: UWynuhuh
funnipymGGtph nhypmd GhyunpnGwjhl wunnh Jwnwyhnn, tph Gpw
Mo quiquon wphquyh quiquoh suh k, 10° wlquwu thnpp k w-
nhquyh Jwnwynpg: UjG hwjwuwp £ dnnwynpuytiu 10 u-h: ‘Lhjn-
nnGwjhG wunnp fuhun wlhwdiwubn § U nGh pwpng GeipphG Junng-
Jwop: LhjnpnGwjhG wumnh qubquoh ytphl vwhdwlp wunq sk:
Stuwwl hwyymiGtpny® GhjmpnGwjhl wumnh quiquop’

M ~(2+3)M,:
Gpt M 21,2M, wyuw GhyunpnGuhG wunnp wowewnd k

gqnuyhunwghnl Ynuwup (nidtin utinidw() dhongny: UyqpGuyw
otpdwunhdwlp GhjupnGuihG wunnh YeGuopnGmd Qww pwpdp t°
10" K, uwluwyl 10 — 100 JuypyywlG htnn 9hiptwuwmhdwln wuwnnh
YtGumpnGnd GJugnid t dhGsu 10° K:

‘UhtjnpnGwjhG wunmntipp hwjmGuptipyt) GG 1967 p. nunhnwihp-
Gtph qpuGgdwl dhongny: LhjmpnGwjhlG wumnbipp Gniyl wniuwnp-
GtpG GG: ‘Lpwlg wwppbpuwwlnpmbp yuqind tp 0,00154-11,77
Juynyjwb: UdkGwhwjnGh wnyuwpph (fubggbnbwdl dhquiwoni-
pjwl wnijuwp) Swnwqujpiwl hgqnpuipymGp hwjwuwp k 10%°
Eng/dny, npp 25 wiqud wybih dbo L wptquyh hqnpmipjniGhg™ 3,83 °
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10** tpoAlpy: Wydd hwjwGh b6 wnquwplbp 10** tpgAlpy hqnpni-
pjuip:

‘UhjnpnGwjhG wunmnp mbuwuwinptl wowehlG wliqud JuGuw-
wmtul] £ OwtGhbydtpp (1904-1967 pp.): 1938 p. wnijuwnltipp Gny-
Gwgytghl wntuwlwlnptl Juwliwmbujwd yuwnyng GhyunpnGughG
wuwnntiph htin:

UhjnpnGwjhG wunmntph wpwg wyungup yuwjdwliuwdnpjuo k
htnlyw] thwuwmny: Cun yunmwwl dinitlnh yquwhwywiiwb optiliph’
R*/T = const, nputn R -p wuwnnh punwhnG t, huy 7 -G upuny-
wh wupptipmpniGp: Uwywyl pwlh np GayunpnlGuyhlG wunnh wwg-
dwyhl GyniplG odnywo E dto hwnnppnuywlnipjudp, ntunp dwqbh-
uwlw@ hnupp' R*H = const (H -p dwqGhuwlwl nuwywnh jupdu-
ompyniGa t): Un yuwmdwnny GhjunpnGwjhG wumnp wybwmp L 1hGh
Jwqihuwgyuo: 10° yu ywnwynny unynpujul wuwnnhg 10 yd pw-
nwynny Ghynpnlwjhl wunmnh wnwowgiwl hwdwp Gpw wwniynhp
wpwqgmpnilip b dwqGhuwlulG ngupump ywhnp L wakl 10" wlqu:
Npny wunntiph dwqGhuwuwl nu)wuh jupjwonipjnilp Jupnn t 1hGbg
10" quniu: UwqGhuwwl nwpywh nnnmpjmlp tnduwo b hGnd
wuwnnh wyunyynh wewlgph Guundwdp: Ujn yuwdwnny dwqlhuw-
Jwl dnitlunp wunymd b, wjuhlpl’ thnthnfuymd t dudwlwyh p-
pwgpnui: buy thnhnfuynn dwqGhuwywl nhuynp dwpwqujypmd k
Eiayunpuiwqihuwuwl wihpltp: 26y npnid” §wnwqujpniip wbnh t
nGblind dwqlhuwywl dndtlunhl ninpnuwhwjwg nignnipjudp’ 10°
wilyjwl mwly: Gpp Gpypugnilnl whglnud L wyn YnGniuh vwhiwGG6b-
nny, pwgwhwjmymd £ dwpuhimd dwowquypnid, b ngpuiny L pw-
gunpynmd wyniuwnpliph wupptpuwlwl pGnypp: EGipghwjh Ynpunh
26nphhy GtyunpnGwjhG wumnbph ywniywp dwdwlwyh pGpugpnid
nulnunnu t: OppGwly jutggtmbGwdl dhquiwonipjul wnmjuwnh
wwunijnp yuppbipnipniGl opwwl wsmd k 3,6 10°® Juwjnyjwbny:
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§ 6 Uhgniljuyh wunnuphqhlju

Ujdd wlgltlp vtp nuuplpwgh Yytinohl pwdGhG’ pnupduyynn
wmhtiqginph mbumpjwl numdGuuhpmpjubp [2]:

NuunuiGwuhptip wyu wbuwybwmp shomyuwjhG phghywjh wnb-
uwGyyniGhg: OEjhyuwghl dwnwquypiwl hwjmGwptpnidp 1965 p.
quny wnybg Gnp mbunipjwl qupqugiwbp: Ujn dwnwqupnidp, pun
hGuntGuhympjuwl, hwiwyuwumwufuwlind tp 3K otpdwunhdwl m-
(tgnn pwgupdwl ub JwpiGh 9tpdwjhG Gwnwqujpdwlp: Fnuyb-
njwl yunpdhp 2tniwa6 2powlwyltinmd puguwnpnipjntip hwlqbginud
E pnupdwyynn Shtgtpph unntijhG: UjuhGpG uyqpnid tnbp £ 2w
ko funmpjuip qupfuhwn Gynip, npG wjlnthtnnb yWwjpyniGh htnlwG-
pny wpniuwynd £ mwpwoyty thnfuwnupd htinwdnpnipyniGGtphG
hwitdwnwyuwl wpugmpjudp: Lhpjuwymiu tnuo wnyjultph dn-
nwnpynuip hwlqbglmd £ wyl htmunipjul, np uyqpnid Gynph funne-
pjnilGp b wpwgmpyniGp wytith d6o GG tnby, pwl hhiw: Ujn yujpjnt-
Gp, pun hwydwpyGhpp, Gntp £ 13,5 dhihwpn mwph wowe' dnn 0,3
Uinn mmwuph Gpunnipjudp:

Npn) ghnbwlwGGtp Shtqtpph qupqugnuin Gipyuywglmy GG
hpwp hweonpnnn 4 duiwGwluwypowlny:

I dwdwlwluwypowmb. {wunpnGwjhl dwdwluwyuypowl: Sunnni-
pymtp 107 ypy t:

Uymph funmpiniGG wybihG dto b, pwl dhoniuwjhG Gymph
funmpymGp’ 10" g/u’, b gbipwumpGwGl wybh vhd b, pwl 1 GEdp
(1013 K): Uyjuyhuh ub dwupdGh dwnwqujpnip juqijwd b hwnpnG-
Gtphg, (twywnGGiphg U pnunGGtphg, b wmbnh £ nlGGmd w)lpwb
dudwlwy, pwlh ntin gipdwumhdw GG wytih pwpép b, pwl wiklw-
ptipl hwnpnGhGp® 7 WkqnGhGp (m”c2 =140 Utd, otipdwumhdwbp’

1,6 + 10" K):
Uju dwdwlwywpowlh yopemy Gjniph funnipjnilGp hwdtidw-
nwywh £ dhontwyhG Gyniph fjunnipjwln:
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I dadwmbmyuppowbl. LhyunGuihl dwdwlwlwypowb: 2bp-
twunhdwép 100 Utd-hg guop t (10" K):

Uju niypmd pwgwpdwy ub dwupdlh dwnwqujpdwl dwdwluy
hwnpnGGtp 366 Ywpnn oGYL;: Bwnwquypnuip hhiGuwlywlind
Juquiywo E jbywnblbphg b ¥ pywlumGtnhg: Unwbu 2wnpnGuljynud
L, pwGh nbin otipdwumhdwln pwpép L EEupnGw-wynghunpnGwjhG
qnijgh wnwowguiwl ptvdhg’ 1 Utd-hg: Uju dwdwlwlywppowlpn
wnlnd £ 1 Juypjwl (GhGsk otpdwumhdwp 100 Utd-hg Guqmd k
uhGsb 1 Utd): Uyniph fjunmipynilp wju dwdwGwlwypowbh ytponid
nunimu k 10* q/uliS:

I duwdwGuluwppwmbG. OwnhwghnG dwdwlGwywypowl: Lbp-
Jwumhdwbp 100 Utd-hg gwon t:

LiwywunGGtpp phiymq gnynipyniG m GG, vwlw)G hGpGmpnyG s6G
Juwnpnn o6yt ul dwpdGh dwnwquypdwl dwiwlwly: Uju dwiwlw-
Jwhwwnyjwond dwnwqujpnuip juqijwo £ hhdGwuwlnd $nnnGib-
nhg U wmbnud £ wylpwl, dhGst $nnnGuwyhG dwnwqujpniip Junwp-
ymd £ Gyniphg wGywhu (hwnpnGGhphg b (kywnGGtphg): Uju dwiw-
Guwluwnpow bl wywnwynmd £ dto wwypynilhg 10° wnwph htinn:

IV dudwGuliuwpombG. Uunnujhl dwdwlwlwypowl: Lyniph
funnipjnilp nunlmy £ wybh deo, pwl dwnwqujpiwl funnpyniGp
($nunnlGGtpp EGEpghwjh fumnipyniGp): UjG dhowlmd E Shtqbipph pG-
nupdwiwln qugplpwg: Uju dwdwGwlwypowlp pwpniGuyjymu k
uhGsb opu: ‘Lhpyuwymuu Gyniph funmpniln 107 q/uli3 E, b 9tipiwu-
nhdwip hwjwuwp t 3K-h" T'=3K :

Glpwnpynud £, np hwnpnGuwjhG dwdwlwluwypowlnd Gjnipp
Jququijwo E tnt) $nnnGGtphg, (tynnGltphg b wlnmptywnnlitphg,
pywnlylbphg U wGuwhpywnpylphg: Uwlyw)l wju tGpwnpnipjniln
thnpdwpupuwlwl hhdGuynpnid ynilGh, pwlGh np pJupyltpG wquwn
Jhdwynid gnynipyniG ynGhG U 366G gpulgynid:

Cun Jun Shtqbpph qupqugdwl ybtpwpbpjuwy dby wy GGpu-
nnnipjwl’ hGwpwynp £ wmbinh £ nGbgty Gyniph thnyjuyhl whgnud, npp
hwqtgnty £ Wto wwypniGh:
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uniinuplplg (uyqpwyul dwiwluywypowln): dwnwdwd
wmhbgtippnid Jupunpymd Ep dwnwquypnuin: Uyn dwnwquypnidb
niGbp 9otpdwjhG vwbywp, b Gpuw hGubGuhympmGp’ U -G, wpnw-
hwynynid tp obpiwunpdwing® U =aT* pwGwdlng, npntn a -G
dwnwqujpiwl hwunwwnnGlG E: Oppwl jwpdymd GGp nbwh
uyqplwyui thny (W wuypnil), wjlpwl gipdwunhdwln dhow-
Gmu k.

T=T,(1+2),

nputin TP -G dwnwquwjpiwl otipdwuwmhdw(l b GGpyuyndu, huy

Z -p’ upihp 2tniwlp hwiwwywunwuhuwlng dhompjniln:

Juwn dudwwylbpny, bpp Swnwqujpnip ghpwlnnd kp, pun
EjGyumtyGh wnGympyniGGtph 9tpdwumhdwlh U dwdwlwlyh dhol
unwgynid k htimbyuwy yuuyp'

10"

N
nptin -6 sjwhymd L JuypyyuGabpny, huy 7 -6° yeghGGtpny: o -G
vhwynphG hwjwuwnp hwunwnmG £ U jujugwo & Shaqtippnid Gyniph
nt Gwnwquwjpiwl yhdwyhg:

Uju wnGympjniGhg pfund £, np wuypjmbhg 1 Jujpyjwb htnn
Shtqtippnid oipdwumhdwln hwjwuwnp t 10K : Uju otipdwumhdw-
Gh wmwl Shtqtppnud, npp Juquiywo b (GuyunGltphg, $nnnGGtphg,
wynnunGGbphg U GGjwmpnGGiphg, Jupnn GG uhGptqyty dhemyGtp
ntynpnGGiphg YhGsh He : Ugtih owlp dhoniyGtph uhGptq Jupnn t
wmtinh nGkGw] dhwyl 9otptwihomywjhl nhwlghwltph htnlwlpny
wuwnnbpnd, pwGh np gnynipyniG niGh wauyniGmpjul thowlwp
Li dhonmyh mhpnypnd: Ujn wyuwnmd@wnny Jun 2powlnid uhGptigh nb-
wlyghwGtpp Yubq GG wnGmd He dhomlyh Ypw:

UnwohG ntwyghwl t° n+p —>d+y: Qwpqupllhpp gniyg

T'=a-

.K’

wytight, np wju phwlyghw6 pGpwbms £ 7 =9-10°K sbptwunhuw-
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Gh mwly: U6 hwiwwywunmwufuwlnd £ wmhtqbppmd GhjunpnGGeph U
wynnunGGtph  htwnbjw; hwpwpbpuygnpjulp’ N%V =0,2, U
P

t ~34ny:
UjGnthtimb mbinh G0 nGhlnid htnmbjw) nbwyghwbtpp
d+n—"H+y,
d+p—> He+y,
Jud
d+d - H+p,
d+d— *He+n,

U Jtpowytiu *He -G wnwow lmu £ htimbjw) nbwyghwltpnid’
‘H+p—*‘He+vy,
*He+n— ‘He+y:

Lwlh np gnympymb smbGh A =5 wnndwlwl hwdwpny Juymb
hgnuny, ntunh ‘He -n YytpohG dhomYyl t, npl wnwowlmy E Jun
thnynid:

UyqpniGpnptG Ywpnn 66 wnwowlwy Gwlb owlp thomyGtp
A =T wnniwyuwl hwdwnpny.

‘He+°H — "Li+y,
‘He+°He — "Be+7y:

Uwlwyl wju ntwyghwbGtph YnynGyuG wpgbpp 1 ULd & wyG
ntwpmy, tpp 7=9-10°K  obpdwumhdwh nhwpnd dheniyGtpt
niGkG 0,1 Utd yhGwnpy EGapghw:

NuunuiGuwuppmpyniGGtpp gniyg GG wyty, np dhomYyGhph duwyn-
nnuilG wjwpunynid L wwjpjniGhg 35 pnyt htinn, pp otipdwunhdwln
GJwqnud t dhGsl 3- 10°K : 2w Gpwlwymd k, np wpnunnlp b GhpunpnGn
wjilu sEG Shwynpynid” wnwowglGtinyg shomly: <weonpn thnip ujuynid
E, tipp Shtiqtpph wwphpp hwulnid £ UhGsb 7- 10° wnuwph, b 9tpdwuwnh-
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Gwlp GJugmu £ dhGsb 3000 K : Uju duwdwlwy (wju otipdwumhdwi-
Gtph nhwypnud) dhowlnid GG shomYyGhph b LiyumpnGGaph dhol tnud
phthwlwl yuytpp, b wnwowlmd GG opwolGh U Ghnudh stqnp w-
nnuilbn: Fpwlng wjwpunymd £ wewolwjhl GnytinuhGphqp:

§ 7 Quumnuyh GnilynupGpliq

Shtqtinph qupqugdwlp gngplpug wémd £ owlp mwppbph ph-
yn: MunuiGuuhpmy &6 wyn mwpptiph mupwoywompnilp Shtqbtp-
pnd [9]:

‘Lniinuplptigh wumhdwGGtphg Wbyp e -h wnwowgniG t:
U0 junpnn £ wnwowlwy hinbywy ntwyghwjhg

*He+°*Be — "C+y:

UuyuwyG *Be -G wiyuynl t 2 ¢ -h mpnhdwG Giumdwdp, b Gpw
wpnhtwl Yhuwwwppbpmpymp Juqind £ 107° gpy T, = 107"

Uny: Uwluy6 10° K obpdwunhdwGh b 10° g/ud® fjunnipjwl glwpnid
wmbnh £ mGtGmd httmbyw nbwyghw G
‘He+*He — *Be+ *He — "C+y:

UjGnihtnb ntwyghwlbph htnmbwlpny wpwowlmd GG wyth
owlp shemyGup ‘O, S, *Fe: 06y npnud’ wbnh £ niGhGnu hs-
whtu wyn dhonyGiph wopwowgmy, wjlwbu k) Gpulg wpnhnud: Uy
wntiuwtinhg wytiih puptGywumn yhdwynid qubynid GG wyl dhoniy-
Gtipp, npnGp nGbG UG GuyniGnpyniG, Gpulg fuwh LGipghw( ko t:
Unwhup dhonlyGtph pyhG GG wwwuuwlnd dnnuwynpuuytiu 60A
niGbgnn ShonYyGhipp: Gpywphg dtd A mtgnn thomlyGhpl wnwow-
(nd GG tpynt dkluwGhqing® z U s wpngbulbpny: Uju ypngbuGbpp
hwiwywunwuuwlmd GG GhyjunpnGGaiph wwppbp funnipyniGGtph:
@®npp  funmpymGGaph nhwypnid (s — slow) nwnhwghnG JuGiwG

139



htimbwlpny wbnh &G  mGhlnd  hbGnbjwg  wypngtuGbpp
(A,Z)+n - (A +1,Z)+ y:6ph A+1,Z phpwiup JuymG b, wyw
wjl Lu Jupnn t Jull GhjupnG, b junwowlw A +2,7Z Shoniyp:
GUtiinpnGGaph thnpp hnupbtph pbypnd wju dhonyG wybjh wpwq
yupnhdp, pw YywGh oky  GhwpnG e (4+ X, Z)—2—
(A +X,Z +1), U wju onpwl YpwpniGuipgh, dhash junwowlw Lo
Yywlph munnnipjniG niGhgnn shoniyp:

Uju ypngbiup pupm Guypymy ' wnwowglbnyg 4 =200 qubiqyu-
ony dhonmyGtin: Uyu dhonylGtipp ko hwjwlwlwlmpjuip pwdwl-
ynud Gl

I thnynud GhywpnGGeph UG funmpjul nhwypmy (r—rapid )
A+ X, Z ShonyG wytih pnin Yulmy k GhjnpnGp, pwG wpnhynud t:
Stinh £ mGtGmd Gnp nwnhwghnG Julnwd: Uyu ypngbulG pGpwlnud L
Uh6sh unwgymd GG wmpnhiw6 thnpp YhuwwwpptipnipyniG mGtgnn
dhom|yGtp:
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